Kia

Spare parts for passenger cars

(8] )
) b
(S | <«
CHONONDES @ ©
O 0O @ 9.~
U O Qo e ey
‘¢ o Y o a VY
CWVle ooy e
q"’l 0 e @
VoS CONONT e 0.5
v, e o o e 975
Vel e @ OO re @0 .
L] ) ¢ 9 °
\ (Y
) 8 @V
CCN
) @ ¢V,
)

DRIVER’S BEST FRIEND MEY/LE



MEYLE

Saophisticated technology -
considerably longer service life.

The MEYLE range of products features a wide variety of components. Spare parts from Ato Z,
from Alfa Romeo to Volvo, from minicars to top-of-the-range luxury models.

Steering & suspension Brakes Drive components
Control arms, Stahilizer links, Brake discs, MEYLE PD, Brake pad C.V. joint kits, Wheel bearings, Belt
Tie rod assemblies, and many more sets, Brake drums, and many more drives, and many more

= \ A &
) : y
Damping parts Filters Cooling components
Shock absorbers, Strut mounts, Oil filters, Air filters, Cahin air filters, Water pumps, Expansion tanks,

Coil springs, and many more Fuel filters, and many more Radiator hoses, and many more

_ S |
Lo 8 % (‘?@

Rubber-to-metal parts Electrics and sensors Engine and transmission parts
Flex discs, Cardan shaft bearings, Crank position sensor, Control units, 0il change kits, V-ribbed belts,
Engine mounts, and many more Glow plugs, and many more Idlers/guide pulleys, and many more

Fluids Complementary product range
Coolant additives, Hydraulic oil, Wiper blades, Gas springs, Window
Engine oil, and many more lifters, and many more



MEYLE

ORIGINAL, PD and HD -
The MEYLE product lines

MEYLE-ORIGINAL.:
Fit as snhugly as the original.

More than 21,000 spare parts for passenger cars, vans and trucks, quality-tested, robust,
durable and tried and tested a thousand times over on the roads across the world - that's
MEYLE-ORIGINAL. Relying on our comprehensive product portfolio - offering everything
from A for axial joint to Z for zinc-coated screw - customers can be sure that they will
always have safety on their side.

MEYLE-PD:
Safety to the power of two.

Thinking outside the box to make our products better: MEYLE-PD stands for brake discs
and pads delivering maximum braking performance and setting new standards in terms
of durahility, comfort, aesthetics, and ease of installation. Look for the ,/PD“ part number
extension.

MEYLE-HD:
Better than originals.

MEYLE-HD parts simply last longer. Their technically optimised and reinforced designs make
them more durable and reliable than OE components. So it is only natural for us to offer
extended warranty protection for our MEYLE-HD parts: All parts of the HD range come with a
full four-year guarantee. Look for the ,/HD“ part number extension.



Our three
success factors.

The success of the MEYLE brand is based on
competence, guality and service.

The development of quality-approved automotive spare
parts for the independent aftermarket is our trademark.
And MEYLE-HD parts are our specialty: improved parts,
developed by our team of engineers at our headquarters
in Hamburg. We give a 4-year guarantee on our MEYLE-
HD parts which have a far longer service life. Based on
infarmation from TUV (Technical control board), from
recall statistics as well as media and market information
from workshops and other technical partners, MEYLE
engineers identify parts in vehicles which become cons-
picuous on account of frequent, early wear. On the basis
of their findings, they develop technical improvements
for the respective weakness. In the end, this work is a

4-year guarantee on all
MEYLE-HD parts!

Robust, high mileage, reliable
and better than the original.
MEYLE-HD parts simply last
longer!

large benefit for all MEYLE parts. Something all reputa-
ble automotive manufacturers highly appreciate: MEYLE
also develops customized products, for example for
Morgan, the legendary sports car manufacturer.

Passing on our know-how to staff and customers is just
as much a part of our service as high parts availability
and swift delivery. Modern warehouse logistics with
space covering 29,000 m? and 56,000 pallet places
ensure the reliable supply of our partners.

We have now won the “Top Job Employer” award for the
fifth time which confirms our outstanding internal busi-
ness approach and excellent Human Resources policy.
We have been one of Germany’s leading SME employers
for many years.



MEYLE

Guarantee certificate

A distinguishing feature of MEYLE is our high level of precision, achieved by the application of the most modern manufacturing methods. Our
MEYLE articles meet highest quality standards and our supply plants are certified in accordance with IS0 9001:2008 and ISO/TS 16949.

We guarantee perfect material and faultless processing of all our MEYLE articles for a period of 24 months as of the date of installation. For
MEYLE-HD articles, this guarantee applies for 48 months as of the date of installation.

Complementing this guarantee, we give an additional 100,000 miles (160,934 kilometres) performance guarantee against defects of material
and warkmanship for MEYLE passenger car water pumps purchased from 01 May 2018. The guarantee given for MEYLE passenger car water
pumps terminates upon expiration of the guarantee period or the guaranteed mileage, whichever occurs later: if the guaranteed mileage

has not been reached at the end of the guarantee period of 24 or 48 months respectively, the performance guarantee continues to be valid.
Respectively, the guarantee period of 24 or 48 months continues to be valid also in any case where the guaranteed mileage was already
exceeded.

During the guarantee period, we perform repair work on claimed MEYLE articles or provide a replacement. The MEYLE guarantee does not
apply for normal wear and damage caused by inappropriate handling or inappropriate installation. The guarantee expires if the respective
part is modified by third parties or via installation of parts from third parties, or if the part, or vehicle, is used in excess of the appropriate use
and purpose. The MEYLE guarantee also expires if MEYLE instructions or vehicle manufacturer instructions, e.g. concerning maintenance
and replacement intervals, are not observed. The guarantee only applies for MEYLE water pumps, if the cooling circuit has been flushed prior
toinstallation of the MEYLE water pump. Rights granted by law continue to apply unrestrictedly, irrespective of this guarantee.

The customer must submit a written guarantee claim immediately, or at the latest 30 days after identifying an error in material or processing.
This claim is to be submitted to the dealer from which he acquired the MEYLE article part. The customer should return the article, carefully
packed. He must enclose the original sales receipt and a description of the error. The customer must also verify the date of installation and
the mileage of the vehicle by means of respective documents.

Last amended January 2017

A~

Director Quality Assurance
Manfred Wunder

MEYLE AG, Merkurring 111, 22143 Hamburg, Germany, contact@meyle.com, www.meyle.com






MEYLE

Contents

Body/Cahin

Body, Interior fittings

Cahin air filter
Gas spring, rear window

Brakes
Disc brake, Drum brake, Hydraulics
Brake disc

Brake drum
Brake hose

Drive train/Transmission

Joints

C.V. joint kit

Electrics

Engine

Glow plug
Sensor, intake manifold pressure

Engine/Cooling/Clutch

Hood shock
Trunk-/tailgate shock

Brake pad set
Brake shoe kit

Belt drive / Engine control, Cooling system, Fuel system, Lubrication system

Air filter
Fuel filter
Oil filter

Steering

Mounting parts, Tie rod assemblies

Axial rod
Steering boot kit

Suspension

Tensioner pulley, timing belt
Thermostat
Timing belt roller

Tie rod end

Control arms, Stahilizer, Suspension / damping, Wheel hubs / Wheel bearings

Ball joint

Control arm

Control arm bushing

Dust cover kit, shock absorher
Mount, axle rod

www.meyle.com
1888

Mount, control arm
Mount, stabilizer

Rubber stop, suspension
Shock absorber
Stahilizer link

1
Wiper Blade
15
Brake shoe set, parking brake
Guide sleeve kit, brake caliper
70

72

77

Timing belt tensioner shock
V-ribbed belt
Water pump

120

133

Strut mount bearing
Wheel bearing
Wheel bearing kit
Wheel hub






MEYLE s

Gas spring, rear window 28-40 910 0008 | MGSBO11
Notes
Length [mm] 362 ORIGINAL
Force output F [N] 100 Loy
References

87170 3EQDD 87180 3E0DD

87170 3E010 87180 3E010

Application info
Sorento | (88/02--)

Hood shock 28-40 910 0010 | MHSB@B54
Notes -
Length [mm] 395 ORIGINAL
Force output F [N] 440 WON
References

BK53Y 56620 BK53Z 56620B

BK53Y 56630 BK53Z 56630

BK53Z 56620 BK53Z 56630A

BK53Z 56620A BK53Z 56630B

Application info

Carnival Il (81/99-10/086) Carnival Ill (86/06--)

Hood shock 28-40 910 0009 | MHSBB53
Notes -
Length [mm] 565 ORIGINAL
Force output F [N] 290 Ly
References

81181 3EQDD 81181 3EQ10

81181 3EQD1 81181 3EO@11

Application info
Sorento | (88/02--)

www.meyle.com 1
1888



Kia

Body/Cabin

28-40 910 0014 | MTSD206

weveg'
ORIGINAL

WKL

Application info
Carens Il (B7/@2--)

28-40 910 0012 | MTSB204

WevLg'
ORIGINAL

2,

/st

Application info
Picanto | (04/04--)

28-40 910 0015 | MTSB207

WEVLE
ORIGINAL

Guputd

Application info
Rio Il [(@3/05--)

MEYLE

Trunk-/tailgate shock

Notes

Length [mm] 515

Force output F [N] 490
References

DK2FB 62620 DK2FB 63620
OK2FB B262DA OK2FB B3620A
DK2FB 62620B OK2FB 63620B

Trunk-/tailgate shock

Notes

Length [mm] 480

Force output F [N] 335
References

81770 67000 81780 07000

Trunk-/tailgate shock

Notes

Length [mm] 490

Force output F [N] 380
References

81770 1G0RO 81780 1G000O

www.meyle.com
1888



MEYLE i

Body/Cabin

Trunk-/tailgate shock 28-40 910 000A7 | MTSB202
Notes o
Length [mm] 390 ORIGINAL
Force output F [N] 800 Qo
References

81770 H510 81780 1H510

Application info
Cee’d | (12/06-12/@9)

Trunk-/tailgate shock 28-40 910 0011 | MTSB203
Notes -
Length [mm] 545 ORIGINAL
Force output F [N] 620 WON
References

81771 3E@M 81781 3E@11

81771 3E020 81781 3E020

Application info
Sorento | (B8/02--)

Wiper Blade @829 300 1211 | MBLOOO4

Notes
e
ORIGINAL

2uaus

Bracket wiper blade
Beam wiper blade

Length [in] 12
Length [mm] 300
Rear

Application info
Venga [(02/10--)

www.meyle.com
1888



Kia

Body/Cabin

029 300 1213 | MBLOBO6

weveg'
ORIGINAL

WKL

Application info
Soul (B2/89-12/10)

@29 350 1400 | MBLOO13

ORIGINAL ’ ’
iy , ‘

Application info
Ceed Il (B5/12--)

@29 350 1413 | MBLBO@17

WEVLE
ORIGINAL

Guputd

Application info

Carens Il (09/06--)
Cerato (04/04--)

Wiper Blade

Notes

Length [in]
Length [mm]

Wiper Blade

Notes

Observe service information
Length [in]
Length [mm]

Venga (02/10--)

Wiper Blade

Notes

Length [in]
Length [mm]

Rio Il (03/@5--)

MEYLE

Beam wiper blade
Bracket wiper blade
12

300

Rear

Flat wiper blade
Flat bar wiper blade

14
350
Front

Beam wiper blade
Bracket wiper blade
14

350

Rear

www.meyle.com
1888



MEYLE

Wiper Blade
Notes
Bracket wiper blade
Beam wiper blade
Length [in] 14
Length [mm] 350

Rear

Application info

Carens | (11/80-07/02)
Carens Il (B87/02--)

Wiper Blade
Notes
Beam wiper blade
Bracket wiper blade
Length [in] 15
Length [mm] 380

Rear

Application info
Pride (01/90-05/97)

Wiper Blade
Notes
Flat bar wiper blade
Flat wiper blade
Observe service information
Length [in] 16
Length [mm] 400
Front

Application info
Carens Il (89/06--)
Cerato (04/04--)
Picanto | (04/04--)
Picanto Il (B85/11--)

www.meyle.com
1888

Rio | (08/00-02/05)
Sorento | (88/02--)

Kia

Body/Cabin

@29 350 1417 | MBLBB52

WEVLE
ORIGINAL

Puane

@29 380 1514 | MBLOG81

WEVLg
ORIGINAL

2uaus

029 400 1600 | MBLBO21

i
& o”

Rio Il (83/05--)
Rio Il (89/11--)
Sportage Il (89/04--)



Kia

Body/Cabin

029 450 1800 | MBLOB27

weveg'
ORIGINAL

WKL

Application info

Besta (02/96--)
Carens | (11/00-07/02)
Carens Il (B7/82--)
Carnival Ill (06/@6--)
Cee’d | (12/06-12/@9)
Joice (02/00--)
Opirus (09/03-09/086)

029 475 1900 | MBLBO28

ORIGINAL ’ ’

Application info

Clarus [@7/96--)
Sephia (89/93-18/97)
Shuma | (83/96-12/01)

029 500 2000 | MBLBG29

R ’
ORIGINAL ’ ’

Wiper Blade

Notes

Observe service information
Length [in]
Length [mm]

Pregio (88/95-09/04)
Pride (081/98-85/97)
Rio | (08/00-02/05)
Sorento | (08/02--)
Sportage Il (B7/10--)
Besta (87/93-12/@3)
Pregio (88/95--)

Wiper Blade

Notes

Observe service information
Length [in]
Length [mm]

Shuma Il (85/01-08/04)
Soul (82/@9-12/10)

Wiper Blade

Notes

Observe service information
Length [in]
Length [mm]

MEYLE

Flat wiper blade
Flat bar wiper blade

18
450
Front

Flat bar wiper blade
Flat wiper blade

19
475
Front

Flat bar wiper blade
Flat wiper blade

20
500
Front

www.meyle.com
1888



MEYLE

Wiper Blade

Application info
Magentis | (85/01--)
Magentis Il (11/05-12/08)

Wiper Blade
Notes
Flat bar wiper blade
Flat wiper blade
Observe service information
Length [in] 21
Length [mm] 530
Front

Application info
Clarus (@87/96--)
Joice (02/00--)
Pregio (#8/95-09/04)
Rio | (08/00-02/05)

Wiper Blade

Notes

Flat bar wiper blade
Flat wiper blade
Observe service information

Length [in] 22
Length [mm] 550
Front

Application info

Magentis | (05/01--)
Picanto | (04/04--)

www.meyle.com
1888

Kia

Body/Cabin

029 500 2000 | MBLBB29

Sorento Il (11/89--)
Sportage | (04/94-08/04)

029 530 2100 | MBLBO30

WEVLE
ORIGINAL

Quanit

Sephia (89/93-18/97)
Shuma | (83/96-12/0@1)
Shuma Il (B5/01-88/04)
Pregio (@8/95--)

029 550 2200 | MBLBOB32

WEVLE
ORIGINAL

Quaptt

Picanto Il (85/11--)
Rio Il (B3/@5--)



Kia

Body/Cabin

029 600 2400 | MBLDB34

weveg'
ORIGINAL

WKL

Application info
Carens | [11/00-07/02)
Carens Il (B7/02--)
Carnival | (28/99-10/@1)
Carnival Il (81/98-10/@8)
Cee’d | (12/06-12/@9)
Cerato (04/04--)
Magentis Il (11/85-12/08)

029 650 2600 | MBLBB36

WevLg'

ORIGINAL

Application info

Carens Il (89/06--)
Carnival Ill (06/06--)
Ceed Il (B5/12--]

28-12 319 8006/S | MCFO187

WevLg'
ORIGINAL

K2

Wiper Blade

Notes

Observe service information
Length [in]
Length [mm]

Opirus (09/03-09/06)
Sorento | (08/02--)
Sorento 11 [11/@9--)
Soul (02/@9-12/10)
Sportage Il (89/04--)
Sportage Il (87/10--)

Wiper Blade

Notes

Observe service information
Length [in]
Length [mm]

Rio Il (89/11--)
Venga (02/10--)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References

DK2CB B152X
DK2CB B6153X

MEYLE

Flat bar wiper blade
Flat wiper blade

24
600
Front

Flat wiper blade
Flat bar wiper blade

26
650
Front

Kit

12.5

108

260

Filter Insert
Particulate Filter

K2C56 152XA

www.meyle.com
1888



MEYLE

Cabin air filter

Application info
Carens | (11/00-87/82)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References

DK2FA B152X
DK2FA B152XA

Application info
Carens | (11/@00-07/02)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References

DK553 B1C14
DK553 B1C14A

Application info

Carnival | (88/99-18/01)
Carnival Il (81/99-10/06)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References

97133 07000
97133-07010

www.meyle.com
1888

Kit

20

108

262

Filter Insert
Particulate Filter

DK2FE 6152X

21

224

267

Filter Insert
Particulate Filter

K5536 1C14

13

181

187

Filter Insert
Particulate Filter

97133 BX300

Kia

Body/Cabin

28-12 319 B0O6/S | MCF@187

Carens Il [07/82--)

28-12 319 so@8/s | MCFo188

WEVLg
ORIGINAL

WO

Carens Il [(87/82--)

28-12 319 0082 | MCFO183

WEVLE
ORIGINAL

2uaus

Carnival Ill (06/06--)

37-12 319 0008 | MCFB329

WEVLg
ORIGINAL

WKZON




10

Kia

Body/Cabin

37-12 319 0008 | MCF@B329

Application info
Picanto | (04/04--)

28-12 319 00@9 | MCFO189

WevLg'
ORIGINAL

K2

Application info
Sportage Il (87/18--)

37-12 319 0009 | MCFO330

WEVLE
ORIGINAL

Guput

Application info
Cee’d | (12/@6-12/09)

37-12 320 0009 | MCFO344

Weveg'
ORIGINAL

Puat

Cabin air filter

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97133 0Z000

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97133 1HOOO

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97133 1HOOO

MEYLE

20

238

192

Filter Insert
Particulate Filter

20

171

249

Filter Insert
Particulate Filter

20

172

247

Filter Insert

Activated Carbon Filter

www.meyle.com
1888



MEYLE

Cabin air filter

Application info
Cee’d | (12/06-12/@9)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97133 1P0O00

Application info
Venga (02/10--)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97133-2B010

Application info
Magentis | (85/01--)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97133 2E200

www.meyle.com
1888

20

180

230

Filter Insert
Particulate Filter

30

251

221

Filter Insert
Particulate Filter

97133 3KD0O

16.5

203.5

222

Filter Insert

Activated Carbon Filter

Kia

Body/Cabin

37-12 320 0009 | MCFO344

28-12 319 0005 | MCFO186

WEVLg
ORIGINAL

WO

37-12 319 8011 | MCF@332

WEVLE

ORIGINAL

2uaus

Magentis Il (11/@05-12/08)

37-12 320 0010 | MCF@345

WEVLE
ORIGINAL

2N

n



Kia

Body/Cabin

37-12 320 0010 | MCF@345

Application info

Carens Il (B7/82--)
Carens Il (09/06--)
Rio Il (83/@5--)

37-12 319 8@12/S | MCF@333

Cabin air filter

Rio 111 (29/11--]

Sportage | (04/94-08/04)

Sportage |1 (89/04--)

Cahin air filter

MEYLE

- Notes
ORIGINAL Set
ot Height [mm] 17
Width [mm] 128
Length [mm] 215
Filter Insert
Particulate Filter
References
97133 2E910

Application info
Sorento | (B88/02--)

28-12 319 0001 | MCFO182

Sportage |1 (89/04--)

Cabin air filter

Notes
ORIGINAL Height [mm] 17
Ly Width [mm] 21
Length [mm] 240
Filter Insert
Particulate Filter
References
97133 2F000 PB790 2F000
97133 2F010 P8790 2FBBBA

Application info

Carnival Ill (66/86--)
Cerato (04/04--)

Sorento 11 [11/@9--)

12 www.meyle.com
1888



MEYLE

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97133 2K000

Application info
Soul (02/89-12/10)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97133 3K000

Application info

Magentis Il (11/85-12/08)

Cabin air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
97619 3C100

Application info
Magentis | (85/@1--)

Magentis Il (11/85-12/08)

www.meyle.com
1888

25

160

182

Filter Insert
Particulate Filter

30

221

250

Filter Insert

Activated Carbon Filter

38

188

245

Filter Insert
Particulate Filter

99997 07010

Kia

Body/Cabin

28-12 319 0004 | MCFO185

WEVLE
ORIGINAL

Puane

37-12 320 0011 | MCF@346

WEVLg
ORIGINAL

KON

37-12 319 00802 | MCF@323

WEVLE
ORIGINAL

2uaus

Sorento | (88/02--)

13



p—
E e MEYLE

37-12 319 8010 | MCFB331 Cabin air filter
o Notes
ORIGINAL = ey Height [mm] 17
e Width [mm] 202.5
: Length [mm] 224

Filter Insert
Particulate Filter

5 References
4 PB790 1F200
Application info
Carens Il (B7/02--) Rio Ill (89/11--)
Carens Il (09/06--) Sportage | (04/94-08/04)
Rio Il (83/@5--) Sportage Il (09/04--)

14 www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
DK2FA 33251

Application info
Carens Il [B87/02--]

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
DK52Y 33251A

Application info
Carnival Il (21/99-10/06)

www.meyle.com
1888

13
Vented
72

24
280
49
14.3
26

2

4
Front Axle

13.1

Zink flake coated
Vented

72

24

276

48.5

14.3

26

2

5

Front Axle

Kia

Brakes

28-15 521 0013 | MBDB439

WEVLE
ORIGINAL

Puane

28-15 521 8@21/PD | MBDO1846PD

15



16

Kia

Brakes

28-15 521 0012 | MBDB438

weveg'
ORIGINAL

WKL

Application info
Carnival Il (21/99-18/08)

28-15 521 0015 | MBDB441

WevLg'
ORIGINAL

Guputd

Application info
Carnival Il (81/99-10/86)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
DK55A 33251

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
DK58B 33251

MEYLE

13
Vented
72

24
274
48.5
14.3
26.2

2

5
Front Axle

DK55B 33251

Front Axle

www.meyle.com
1888



MEYLE e

Brake disc 28-15 523 0002 | MBDB445
Notes -
Wheel Bolt Bore @ [mm] 13 ORIGINAL
Solid VN
Centering Diameter [mm] 72
Minimum thickness [mm] 8
Outer diameter [mm] 261
Height [mm] 40
Bolt Hole Circle @ [mm] 14.3
Brake Disc Thickness [mm] 10
Required guantity 2
Number of Holes 4
Rear Axle
References
BK9AA 26251 BK9AA 26251B
BKYAA 26251A BKYAA 26251C

Application info

Carens | (11/00-07/@2) Clarus [(@7/96--)
Carens Il (87/@2--)

Brake disc 28-15 521 0009 | MBD0B436

Notes -

Wheel Bolt Bore @ [mm] 12.6 ORIGINAL
Vented L

Centering Diameter [mm] B62.2

Minimum thickness [mm] 16

Outer diameter [mm] 241

Height [mm] 49

Bolt Hole Circle @ [mm] 100

Brake Disc Thickness [mm] 18

Required guantity 2

Number of Holes 4
Front Axle

References

51712 87500

Application info

Picanto | (04/04--) Picanto Il [85/11--)

www.meyle.com
1888

17



18

Kia

Brakes

28-15 521 0010 | MBDB437

weveg'
ORIGINAL

WKL

Application info
Picanto | (04/04--)

37-15 521 0837/PD | MBO1992PD

WevLg'

PD

Guputd

Application info
Rio 11l (89/11--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 07700

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 0UDDO

MEYLE

12.6
Vented
62.5
16

252
49

100

18

2

4
Front Axle

12.5

Zink flake coated
Vented
62.2

20

256

43.8

100

22

2

4

Front Axle

51712 1W200

www.meyle.com
1888



MEYLE

Brake disc

Notes

Centering Diameter [mm]
Minimum thickness [mm]

Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
51712 0Z00O0

Application info
Sportage Il (09/04--)

Brake disc

Notes

Centering Diameter [mm]
Minimum thickness [mm]

Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
51712-0Z000

Application info
Sportage Il (29/04--)

www.meyle.com
1888

Vented

69

26.4

300

47.2

1n4.3

28

2

5

Front Axle

Zink flake coated
Vented

69

26.4

300

47.2

14.3

28

2

5

Front Axle

Kia

Brakes

37-15 521 0030 | MBD1985

WEVLE
ORIGINAL

Puane

Sportage Il (87/10--)

37-15 521 0830/PD | MBD1985PD

Sportage Il (87/10--)

19



20

Kia

Brakes

37-15 521 8@29 | MBD1984

weveg'
ORIGINAL

WKL

Application info

Carens Il (89/06--)
Magentis Il (11/85-12/@8)

37-15 521 0031 | MBD1986

WevLg'
ORIGINAL

Guautd

Application info
Rio Il (83/@5--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm)]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References

51712 10100
51712 1FB00O

Sportage Il (89/04--)
Venga (02/10--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 1G000

MEYLE

12.5
Vented
69
24.4
280
47.4
14.3
26

2

5
Front Axle

51712 2C000
51712 3KB50

Front Axle

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712-1G000

Application info
Rio Il (83/@5--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References

51712 1THOOG®
51712 TH100

Application info
Cee'd | (12/06-12/@9)
Cee’d Il [(B5/12--)
Soul (02/89-12/10)

www.meyle.com
1888

Kia

Brakes

37-15 521 0@31/PD | MBD1986PD

12.5 PD
Zink flake coated 2t
Vented

62

20

256

4B8.5

100

22

2

4

Front Axle

28-15 521 0022 | MBD1847

12.5 g & ORIGINAL
Vented e
69

24.4

280

47.2

4.3

26

2

5

Front Axle

2N

51712 1TMB00O
51712 2K100

Soul Il (B2/14--)
Venga [(02/10--)

21



22

Kia

Brakes

28-15 521 8022/PD | MBD1847PD

weveg'

PD

WKL

Application info

Cee’d | (12/06-12/@9)
Cee’d Il (B5/12--)
Soul (82/09-12/10)

28-15 521 8023/PD | MBD1848PD

Weveg'

PD

Oy -

Application info
Rio 11l (89/11--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References

51712 1THOOG
51712 1H100

Soul I (B2/14--)
Venga (02/10--)

Brake disc

Notes

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 1W@50

MEYLE

12.5

Zink flake coated
Vented

69

24.4

280

47.2

1n4.3

26

2

5

Front Axle

51712 1TMB0R0@
51712 2K100

Zink flake coated
Vented
62.2

19.4

280

44.2

100

22

2

4

Front Axle

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References

5171210100
51712 2C000

Application info

Carens Il (09/06--)
Magentis Il (11/05-12/08)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 2F100

Application info
Cerato (04/04--)

www.meyle.com
1888

12.5

Zink flake coated
Vented

69

24.4

280

47.4

1n4.3

26

2

5

Front Axle

51712 3KB50

Front Axle

Kia

Brakes

37-15 521 @829/PD | MBD1984PD

WEVLE

PD

- “h Puaiet

Sportage Il (9/04--)
Venga (02/18--)

28-15 521 0006 | MBDB433

WEVLg
ORIGINAL

Puans

23



24

Kia

Brakes

37-15 521 8@32 | MBD1987

weveg'
ORIGINAL

WKL

Application info
Ceed Il (B5/12--)

37-15 521 0@32/PD | MBD1987PD

WevLg'

PD

Guputd

Application info
Ceed Il (B5/12--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm)]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712-2L500

Soul I (B2/14--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712-2L500

Soul Il (B2/14--)

MEYLE

12.5
Vented
69
26.4
300
47.4
14.3
28

2

5
Front Axle

12.5

Zink flake coated
Vented

69

26.4

300

47.4

14.3

28

2

5

Front Axle

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 2P700

Application info
Sorento 11 (11/09--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]
Required guantity
Number of Holes

References
51712 27100

Application info
Optima [09/10--)

www.meyle.com
1888

12.5

Zink flake coated
Vented

69

26.4

321

491

1n4.3

28

2

5

Front Axle

51712 2W700

12.5

Zink flake coated
Vented

69

2B6.5

320

47.4

1n4.3

without wheel hub
28

2

5

Front Axle

Kia

Brakes

37-15 521 @@35/PD | MBD199@PD

WEVLE

PD

Puane

37-15 521 8@36/PD | MBD1991PD

WEVLE

PD

2N

25



26

Kia

Brakes

37-15 521 0014 | MBD1046

WevLe
ORIGINAL P

WKL

Application info
Magentis | (85/01--)

37-15 521 0834 | MBD1989

WevLg'
ORIGINAL

Guputd

Application info
Sorento | (08/02--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 3C000

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 3E000

MEYLE

12.7
Vented
69
24.4
280
47.3
14.3
26

2

4
Front Axle

51712 3C100

Front Axle

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 40200

Application info
Carnival Ill (86/06--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712-A6000

Application info
Cee’d Il [(B5/12--)

www.meyle.com
1888

12.5

Zink flake coated
Vented
96.3

26

300

54

139.6

28

2

B

Front Axle

12.7
Vented
69

21

280
44.4
14.3
23

2

5
Front Axle

Kia

Brakes

28-15 521 8024/PD | MBD1849PD

WEVLE

PD

Puane

37-15 521 0839 | MBD2118

WEVLE
ORIGINAL

2N

27



28

Kia

Brakes

37-15 521 8@33/PD | MBD2118PD

Application info
Cee’d Il (B5/12--)

28-15 521 0014 | MBD0440

Weveg'
ORIGINAL

Puanyt

Application info

Rio | (08/00-02/05)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712-A6000

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
51712 FD300

MEYLE

12.7

Zink flake coated
Vented

69

21

280

44.4

1n4.3

23

2

5

Front Axle

13
Vented
55

22
254
50.7
100

24

2

4
Front Axle

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 07300

Application info
Picanto | (04/04--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411-0U300

Application info
Rio Il (89/11--)

www.meyle.com
1888

12.6
Solid
62.5

234

37.5

100

10

2

4

Rear Axle

58411 07500

62.5

Zink flake coated
Solid

12.6

8.4

262

44

100

10

2

4

Rear Axle

Kia

Brakes

37-15 523 0014 | MBD1067

WEVLE

g - . ORIGINAL

Puane

Picanto Il [85/11--)

28-15 523 8009/PD | MBD1643PD

29



30

Kia

Brakes

37-15 523 8029 | MBD1996

weveg'
ORIGINAL

WKL

Application info
Rio Il (83/@5--)

37-15 523 0829/PD | MBD1996PD

WevLg'

PD

Guputd

Application info
Rio Il (83/05--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 1C800

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 1C800

MEYLE

12.6
Vented
62.5
8.4
262
64

100

10

2

4

Rear Axle

58411-1G300

12.6

Zink flake coated
Solid
62.5

8.4

262

64

100

10

2

4

Rear Axle

58411-1G300

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 10000

Application info
Carens Il (09/06--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 10000

Application info
Carens Il (89/06--)

www.meyle.com
1888

12.5

Solid

76

=]

275

B1.5

14.3
without wheel hub
10

2

5

Rear Axle

12.5

Zink flake coated
Solid

76

=]

275

B1.5

1n4.3

without wheel hub
10

2

5

Rear Axle

Kia

Brakes

28-15 523 0011 | MBD1852

WEVLE
ORIGINAL

Puane

28-15 523 0011/PD | MBD1852PD

WEVLE

PD

2N

31



32

Kia

Brakes

28-15 523 0010 | MBD1851

weveg'
ORIGINAL

WKL

Application info
Cee'd | (12/06-12/@9)

28-15 523 8010/PD | MBD1851PD

WevLg'

PD Py

Guputd

Application info
Cee'd | (12/06-12/@9)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 1H100

Sportage Il (87/18--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 1H100

Sportage Il (87/18--)

MEYLE

Rear Axle

58411 1H300

12.5

Zink flake coated
Solid

76

8.4

262

B1.1

14.3

10

2

5

Rear Axle

58411 1H300

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 1P300

Application info
Venga (02/10--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411-1P300

Application info
Venga (02/10--)

www.meyle.com
1888

12.5

Solid

76

8.4

258

40.5
14.3
without wheel hub
10

2

5

Rear Axle

12.5

Zink flake coated
Solid

76

8.4

258

40.5
1n4.3

10

2

5

Rear Axle

Kia

Brakes

37-15 523 8031 | MBD1998

WEVLE

. eog e, ORIGINAL

= @ Suput
~

37-15 523 0@31/PD | MBD1998PD

WEVLE

PD

2N

33



34

Kia

Brakes

28-15 523 0003 | MBD0B446

weveg'
ORIGINAL

WKL

Application info
Cerato (04/04--)

28-15 523 0005 | MBDB447

WevLg'

ORIGINAL /4 -

Guputd

Application info
Soul (02/@9-12/10)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 2F100

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 2K300

MEYLE

13
Solid
76

258

414

14.3

10

2

4

Rear Axle

Rear Axle

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]
Required guantity
Number of Holes

References
58411 2PO00

Application info
Sorento 11 (11/09--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 2PO00

Application info
Sorento 11 (11/@9--)

www.meyle.com
1888

Kia

Brakes

37-15 523 8032 | MBD1999

WEVLE
ORIGINAL

Puane

12.5

Solid

69

9.4

302

71.4

14.3
without wheel hub
n

2

5

Rear Axle

37-15 523 0@32/PD | MBD1998PD

WEVLE

PD

Puarst

12.5

Zink flake coated
Solid

69

9.4

302

71.4

1n4.3

n

2
c -
Rear Axle

35



36

Kia

Brakes

37-15 523 8028 | MBD1995

weveg'
ORIGINAL

WKL

Application info
Magentis Il (11/85-12/08)

37-15 523 00828/PD | MBD1995PD

WevLg'

PD ,‘.5 m e
N - -

A

'y

\

Application info
Magentis Il (11/85-12/08)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 39300

Sportage |1 (89/04--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 39300

Sportage |1 (09/04--)

MEYLE

12.6
Solid

Rear Axle

12.6
Zink flake coated
Solid

Rear Axle

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 39600

Application info
Magentis Il (11/05-12/08)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 39600

Application info
Magentis Il (11/85-12/08)

www.meyle.com
1888

12.6

Solid
Single Part Brake Caliper
76

8.4

262

B1

1n4.3

10

2

5

Rear Axle

12.6

Zink flake coated
Solid

76

8.4

262

B1

1n4.3

10

2

5

Rear Axle

Kia

Brakes

37-15 523 8033 | MBD2000O

WEVLE
ORIGINAL

Puane

Sportage Il (89/04--)

37-15 523 8@33/PD | MBD2000OPD

WEVLE

PD

2N

Sportage Il (29/04--)

37



p—
i MEYLE

37-15 523 8027 | MBD1994 Brake disc
o Notes
ORIGINAL Wheel Bolt Bore @ [mm] 12.6
L Solid
Centering Diameter [mm] 76
Minimum thickness [mm] 8.4
Outer diameter [mm] 284
Height [mm] B1
Bolt Hole Circle @ [mm] 14.3
Brake Disc Thickness [mm] 10
Required guantity 2
Number of Holes 5
Rear Axle
References
58411 2Y300 58411 3A300
Application info
Sportage |11 (09/04--) Sportage Ill (B87/10--)
37-15 523 @@27/PD | MBDO1994PD Brake disc
- — Notes
PD ; Wheel Bolt Bore @ [mm] 12.6
Ly Zink flake coated
Solid
Centering Diameter [mm] 76
/' Minimum thickness [mm] 8.4
I Outer diameter [mm] 284
/ Height [mm] B1
/ Bolt Hole Circle @ [mm] 14.3
5 Brake Disc Thickness [mm] 10
Required guantity 2
Number of Holes 5
Rear Axle
References
58411 2Y300 58411 3A300
Application info
Sportage |1 (09/04--) Sportage Ill (B87/10--)

38 www.meyle.com
1888



MEYLE

Brake disc

Notes

Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]

Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 3E300

Application info
Sorento | (88/02--)

Brake disc

Notes

Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]

Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 3E300

Application info
Sorento | (88/02--)

www.meyle.com
1888

12.5
Vented
96.3
18.4
315
87.5
139.7
20

2

5

Rear Axle

12.5

Zink flake coated
Vented
96.3

18.4

315

87.5
139.7

20

2

5

Rear Axle

Kia

Brakes

37-15 523 8030 | MBD1997

WEVLE
ORIGINAL

Puane

37-15 523 0038/PD | MBD1997PD

WEVLg

PD

KON

39



40

Kia

Brakes

28-15 523 0012 | MBD1853

weveg' -

y ) y : |

?ﬁ.:

Application info
Sorento | (08/02--)

37-15 523 0016 | MBD1069

Weveg'
ORIGINAL

Puanyt

Application info
Magentis Il (11/@85-12/08)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]
Required guantity
Number of Holes

References
58411 3E500

Brake disc

Notes

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References
58411 3K100

MEYLE

12.5
Vented
96

18.4

315

78.5

140
without wheel hub
20

2

5

Rear Axle

Solid

75

=]

284

55

14.3

10

2

5

Rear Axle

www.meyle.com
1888



MEYLE

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 35100

Application info
Optima (09/18--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]

Brake Disc Thickness [mm]

Required guantity
Number of Holes

References
58411 40000

Application info
Carnival lll [86/06--)

www.meyle.com
1888

Kia

Brakes

37-15 523 8@36/PD | MBD20B3PD

WEVLE

PD

Puane

12.5

Zink flake coated
Solid

76

8.4

284

54.5

1n4.3

10

2 o = 7 >
5 =

Rear Axle

28-15 523 8013/PD | MBD1854PD

12.5

Zink flake coated
Solid
96.3

10.4

324

69.5
139.6
1.9

2

B

Rear Axle

41



p—
i MEYLE

37-15 523 8038 | MBD2119 Brake disc
o Notes
ORIGINAL Wheel Bolt Bore @ [mm] 12.5
WLN Solid
Centering Diameter [mm] 76
Minimum thickness [mm] 8.4
Outer diameter [mm] 284
Height [mm] 25.9
Bolt Hole Circle @ [mm] 14.3
Brake Disc Thickness [mm] 10
Required guantity 2
Number of Holes 5
Rear Axle
References

58411-A6200

Application info
Ceed Il (B5/12--)

37-15 523 8@38/PD | MBD2119PD Brake disc

- T Notes

PD A Wheel Bolt Bore @ [mm] 12.5

4 5, Salid
Centering Diameter [mm] 76
Minimum thickness [mm] 8.4
Outer diameter [mm] 284
Height [mm] 25.9
Bolt Hole Circle @ [mm] 14.3
Brake Disc Thickness [mm] 10
Required guantity 2
Number of Holes 5

Rear Axle

References
58411-AG200

Application info
Cee’d Il (B5/12--)

42 www.meyle.com
1888



MEYLE e

Brake disc 32-15 523 0010 | MBD@851
Notes -
Wheel Bolt Bore @ [mm] 12.6 ORIGINAL
Solid VN
Centering Diameter [mm] =]}
Minimum thickness [mm] 8.4
Outer diameter [mm] 262
Height [mm] (5]
Bolt Hole Circle @ [mm] 14.3
Brake Disc Thickness [mm] 10
Required guantity 2
Number of Holes 4
Rear Axle
References

58411 M2050

Application info
Joice (02/00--)

Brake disc 28-15 521 0000 | MBDD428
Notes -
Wheel Bolt Bore @ [mm] 13 ORIGINAL
Vented L
Centering Diameter [mm] 55
Minimum thickness [mm] 20
Outer diameter [mm] 235
Height [mm] 45
Bolt Hole Circle @ [mm] 100
Brake Disc Thickness [mm] 22
Required guantity 2
Number of Holes 4
Front Axle
References
KDOX74 33251 MDX74 33251

Application info
Rio | (08/00-02/05)

www.meyle.com
1888

43



44

Kia

Brakes

28-15 521 0002 | MBD0O430

weveg'
ORIGINAL

WKL

Application info
Carnival | (08/99-10/01)

@25 234 4215/W | MBPB347

WevLe
ORIGINAL —————

Guautd

Application info
Retona (06/99--)

Brake disc

Notes
Wheel Bolt Bore @ [mm]

Centering Diameter [mm]
Minimum thickness [mm]
Outer diameter [mm]
Height [mm]

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Required guantity

Number of Holes

References

DK552 33251
DK552 33251A
DKS5BA 33251

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

References
DKB45 33237

Sportage | (04/94-08/04)

MEYLE

13
Vented
72
22.2
274
47.5
14.3
24.2

2

5
Front Axle

KJBp2 33251C
KJen2 332510

with acoustic wear warning
15.3

52.9

149

2
with anti-squeak plate
Front Axle

www.meyle.com
1888



MEYLE

Brake pad set

Notes

Thickness [mm]
Height [mm]
Width 2 [mm]
Width 1 [mm]
Brake System

References

DK2BA 33232
DK239 332372
DK240 33237

not prepared for wear indic-
ator

17.3

4B6.5

151.3

150.2

ATE

with anti-squeak plate

Front Axle

DK240 3323ZA
DK2X3 33232
DK2Y133232

Application info
Sephia (09/93-10/97)

Brake pad set

Notes

Thickness [mm]
Height [mm]
Width 2 [mm]
Width 1[mm]
Brake System

References

DK2BA 33237
DK239 33232
DK248 33237

Application info
Sephia (09/93-10/97)

www.meyle.com
1888

not prepared for wear indic-
ator

16.8

4B6.5

150.2

151.3

ATE

with anti-squeak plate

Front Axle

DK248 3323ZA
DK2X3 33232
DK2Y13323Z

Kia

Brakes

@825 207 5318 | MBPBB35

WEYLE
ORIGINAL
Puane

@25 23108315 | MBPB263

WEVLg
ORIGINAL

KON

B

45



Kia

Brakes

@25 239 6617/PD | MBPB8BSPD

weveg'

PD

WKL

—

Application info
Carens Il (B7/@2--)

@25 239 6617/W | MBP0486

weveg'
ORIGINAL

WKL

—

Application info
Carens Il (B7/82--)

46

Brake pad set

Notes

Quality

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
DK2JA 3328Z

Cee’d | (12/@6-12/09)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
DK2JA 33287

Cee’d | (12/06-12/09)

MEYLE

with acoustic wear warning
PREMIUM

17.7

579

130

2

Mando

with anti-squeak plate
Front Axle

DK2JA 3328ZA

with acoustic wear warning
17.7

57.9

130

2

Mando

with anti-squeak plate
Front Axle

DK2JA 3328ZA

www.meyle.com
1888



MEYLE

Brake pad set

Notes
with acoustic wear warning
Thickness [mm] 18.4
Height [mm] 4B.4
Width [mm] 151.3
Number of wear indicators [per
axle] 2
Brake System ATE
with anti-squeak plate
Front Axle
References
DK@Y2 33232 DK2A2 3323ZB
DK20A 3323Z DK2A3 33232
DK239 33232 DK2A4 3323Z

DK248 33237
DK2408 3323ZA
DK2A2 33237
DK2A2 3323ZA

DK2X3 33232
DK2Y13323Z2
DK2Y3 33237
DK2Y3 3323ZA

Application info

Sephia (29/93-10/97]
Shuma | (83/96-12/@1]

Brake pad set

Notes
not prepared for wear indic-
ator

Thickness [mm] 17.2

Height [mm] 54.1

Width [mm] 177

Kelsey-Hayes
with anti-squeak plate

Brake System

Front Axle
References
DK553 33237 DK553 3323ZB
PK553 3323ZA K5533 323ZB

Application info
Carnival | (88/99-10/01)

www.meyle.com
1888

Kia

Brakes

@25 233 8418/W | MBP@331

WEVLE

ORIGINAL
Puane

Sportage | (04/94-08/04)

@25 218 2217 | MBP@198

WeLe
ORIGINAL
2uaus

Carnival Il [81/99-10/06)

47



Kia

Brakes

025 200 8215/W | MBPBAO1

ORIGINAL

Qupuict \

2X
LUC T )
]
IIR fl ,'-Jul

Application info
Besta (02/96--]

@25 236 4916/W | MBP0B410

weveg'
ORIGINAL

WKL

Application info

Carnival | (88/99-10/@1)
Carnival Il [01/99-10/@86)

@25 234 5513/W | MBPB354

WevLg'

ORIGINAL

K2

48

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

DKBBA 33282
DK70Y 33282

Besta (@7/93-12/@3)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

DK5BA 33237
DK72G 33282

Pregio (08/95-09/04)
Pregio (88/95--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
DK2FC 2628Z

MEYLE

with acoustic wear warning
15

52.1

133.1

2

Akehono

with anti-squeak plate
Front Axle

DK71E 33287
DK71F 33287

with acoustic wear warning
16.2

56.2

154.2

2

Sumitomo

with anti-squeak plate
Front Axle

DK75A 332827
DK75B 3328Z

with acoustic wear warning
13.7
41.8
98.8

2

Sumitomo

with anti-squeak plate
Rear Axle

DK9AD 26287

www.meyle.com
1888



MEYLE

Brake pad set

Application info

Carens | (11/80-07/02)
Carens Il (B87/02--)
Cerato (04/04--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

58101 07A00
58101 07A10

Application info
Picanto | (04/04--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58101 1DEQD

Application info

Carens Il (87/02--)
Carens Il (09/06--)

www.meyle.com
1888

with accessories

with acoustic wear warning
16.5

47.3

15.9

2

Mando

with anti-squeak plate
Front Axle

58101 07A20

with acoustic wear warning
17.5

60.9

137.8

2

Sumitomo

with anti-squeak plate
Front Axle

58101 2SA70

Kia

Brakes

@25 234 5513/W | MBPB354

Clarus [@7/96--)
Shuma | (83/96-12/01)
Shuma Il (85/01-08/04)

@25 242 7516/W | MBPB@551

WEVLe
ORIGINAL
Puane
L 11

F _

@825 245 0116/PD | MBP1594PD

2X
X g

\
[ ]

T n__~

Sportage Il (87/10--)

49



o0

Kia

Brakes

@25 245 0116/W | MBPBE611

‘,em
ORIGINAL
%m*

L
[ I

b n__~

Application info

Carens Il (07/82--)
Carens Il (89/06--)

@25 243 1717/W | MBPB569

weveg'
ORIGINAL

WKL

Application info
Rio Il (83/@5--)

@25 251 8419/W | MBPBES5

,Azns
ORIGINAL
"lmm*

1>(m1

L J

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58101 1DEGD

Sportage Il (87/18--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58101 1GEGD

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58101 1PABD

MEYLE

with acoustic wear warning
17.5

60.9

137.8

2

Sumitomo

with anti-squeak plate
Front Axle

58101 2SA70

with acoustic wear warning
17.6

55.9

129.6

2

Mando

with anti-squeak plate
Front Axle

with acoustic wear warning
19.4

60.6

131.4

2

TRW

with anti-squeak plate
Front Axle

www.meyle.com
1888



MEYLE

Brake pad set

Application info
Venga (02/10--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
581011YAQD

Application info
Picanto Il (85/11--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58101 2FA10

Application info
Cerato (04/04--)

www.meyle.com
1888

with acoustic wear warning
16

47.86

1e.2

2

MANDO

with anti-squeak plate
Front Axle

5810MYA30

with accessories

with acoustic wear warning
17.2

59.1

165

2

Mando

with anti-squeak plate
Front Axle

58101 2FA20

Kia

Brakes

@25 251 8419/W | MBPBES5

@25 253 6516 | MBP1722

WEVLg
ORIGINAL

WO

025 242 1817/W | MBP@541

WEVLE

ORIGINAL

uqpit
Ty o

o1



Kia

Brakes

@25 243 5117/W | MBPB582

weveg'
ORIGINAL

WKL

Application info
Sorento 11 (11/@9--)

@25 256 9218 | MBP1616

Application info
Cee'd Il (B5/12--)

WEVLE
ORIGINAL

Guput

@25 238 9116/PD | MBP159@PD

Weveg'

PD

Puant

a2

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
581012PA70

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58101-2VADD

Soul [(02/09-12/10)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

58101 2KA1D
58101 3CA20

MEYLE

with acoustic wear warning
17.6

B1.2

156.7

2

Mando

with anti-squeak plate
Front Axle

581014DUDG

with acoustic wear warning
17.2

B0

132.9

2

BOSCH

with anti-squeak plate
Front Axle

58101-ABADD

with acoustic wear warning
16.9
59.9
131.5

2

Mando

with anti-squeak plate
Front Axle

58101 3CAB0O

www.meyle.com
1888



MEYLE

Brake pad set

Application info

Magentis | (85/01--)
Soul (02/089-12/10)

Brake pad set
Notes
with acoustic wear warning
Thickness [mm] 16.9
Height [mm] 59.9
Width [mm] 131.5
Number of wear indicators [per
axle] 2
Brake System Mando
with anti-squeak plate
Front Axle

References

58101 2KA10
58101 3CA20

58101 3CAB0D

Application info

Magentis | (85/01--)
Soul (02/@9-12/10)

Brake pad set

Notes
with acoustic wear warning
Thickness [mm] 17.3
Height [mm] 60
Width [mm] 155
Number of wear indicators [per
axle] 2
Brake System Sumitomo
with anti-squeak plate
Front Axle

References

58101 3EERO 58101 3EED

Application info
Sorento | (88/02--)

www.meyle.com
1888

Kia

Brakes

@25 238 9116/PD | MBP1598PD

Sportage Il (9/04--)
Venga (02/18--)

@25 238 9116/W | MBPB4E6

WEVLE
ORIGINAL

Quanit

Sportage Il (09/04--)
Venga (02/18--)

@25 240 9217/W | MBP@522

WV
ORIGINAL
Puane

Sorento Il (11/09--)

a3



24

Kia

Brakes

@25 245 9717/W | MBPBE36

weveg'
ORIGINAL

WKL

Application info
Carnival lll (86/06--]

@25 217 2517/W | MBPO190

WEVLE
ORIGINAL

Guput

2X

R S
= =

i

Application info
Joice (082/00--)

@25 238 7316/W | MBPB463

Weveg'
ORIGINAL

Puant

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58101 4DEGD

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58101 M2AB2

Magentis | (85/@1--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

DK2N13328Z
DK2N13328ZA
DK9D@ 3328Z

MEYLE

with acoustic wear warning
17.5

63.3

164.6

2

Sumitomo

with anti-squeak plate
Front Axle

with acoustic wear warning
17

54.2

137.2

2

Akebono

with anti-squeak plate
Front Axle

58101 M2AD4

with acoustic wear warning
15.7
51.4
129

2

Sumitomo

with anti-squeak plate
Front Axle

58115 FDABD
58115 FOCBO

www.meyle.com
1888



MEYLE

Brake pad set

Application info
Carens | (11/80-07/02)
Carens Il (B87/02--)
Cerato (04/04--)
Clarus [@7/96--)
Rio | (08/00-02/05)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58302 07AD0

Application info
Picanto | (04/04--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

58302 BZADBD
58302 1GARD

Application info
Cee'd | (12/06-12/@9)

with acoustic wear warning
14.1

41

92.4

2

Mando

with anti-squeak plate
Rear Axle

58302 B7A1D

with accessories

with acoustic wear warning
15.9

411

93.1

2

Mando

with anti-squeak plate
Rear Axle

58302 THABD

Kia

Brakes

@25 238 7316/W | MBPB463

Rio Il (B3/@5--)

Sephia (#9/93-18/97)
Shuma | (83/96-12/01)
Shuma Il (85/01-88/04)

025 242 7614/W | MBPB552

WEVLE
ORIGINAL

KON

Picanto Il (B85/11--)

025 243 2015/PD | MBP1593PD

2X

J@x 1
L

fl J

Sportage Il (8/04--)

Rio Il (83/@5--) Sportage 1l (87/18--)

www.meyle.com
1888

a5



o6

Kia

Brakes

WEVLE
ORIGINAL
WKL

X X
% il J

Application info

Cee’d | (12/06-12/@9)
Rio Il (83/@5--)

025 244 9116/W | MBPREBS

WEVLE
ORIGINAL
Guputd

1X
: (@ =
| 1

X
)
_

Application info
Carens Il (09/06--)

@25 234 1715/PD | MBP@791PD

2X
1X 1

T ]

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

58302 BZADB
58302 1GABD

Sportage Il (89/04--)
Sportage Il (87/10--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58302 10E0D

Brake pad set

Notes

Quality

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58302 1PA3D

MEYLE

with acoustic wear warning
15.9
41.1
93.1

2

Mando

with anti-squeak plate
Rear Axle

58302 THABD

with acoustic wear warning

Mando
with anti-squeak plate
Rear Axle

with acoustic wear warning
PREMIUM

15.2

42.5

95.5

2

TRW

with anti-squeak plate
Rear Axle

www.meyle.com
1888



MEYLE

Brake pad set

Application info
Venga (02/10--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58302 1PA3D

Application info
Venga (02/10--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58302-1YASD

Application info
Picanto Il [B5/11--)

www.meyle.com
1888

with acoustic wear warning
15.2
42.5
95.5

2

TRW

with anti-squeak plate
Rear Axle

with acoustic wear warning
15.9
41.1
93.1

2

MANDO

with anti-squeak plate
Rear Axle

Kia

Brakes

@825 234 1715/PD | MBP@791PD

025 234 1715/W | MBPB341

@
X []1X

L _|

@25 256 7716 | MBP1726

WEVLE
ORIGINAL

2N

a7



Kia

Brakes

@25 215 5314/W | MBP@156

WEVLE
ORIGINAL
WKL

Application info
Cerato (04/04--)

@25 235 4314/PD | MBP1584PD

e
uautt
W ]

= n =

Application info

Magentis | (85/01--)
Magentis Il (11/85-12/08)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58302 2FA10

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width 2 [mm]

Width 1[mm]

Number of wear indicators [per
axle]

Brake System

References

58302 1FED@
58302 2GA0DG

Sportage |1 (09/04--)

MEYLE

with acoustic wear warning
14

4B8.5

85.3

2

Sumitomo

with anti-squeak plate
Rear Axle

with accessories

with acoustic wear warning
14.4

41

98.6

98.4

2

Akebono

with anti-squeak plate
Rear Axle

58302 38A10
58302 3CA10

www.meyle.com
1888



MEYLE

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width 2 [mm]

Width 1 [mm]

Number of wear indicators [per
axle]

Brake System

References

58302 1FEQD
58302 2GA0DG

Application info

Magentis | (85/01--)
Magentis Il (11/85-12/08)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

58302 3EDDG
58302 3EDO1

Application info
Sorento | (88/02--)

www.meyle.com
1888

with accessories

with acoustic wear warning
14.4

41

98.6

98.4

2

Akehono

with anti-squeak plate
Rear Axle

58302 38A10
58302 3CA10

with acoustic wear warning
15.8

4B.8

ns.2

2

Sumitomo

with anti-squeak plate
Rear Axle

58302 3EEDG

Kia

Brakes

@25 235 4314/W | MBP@B377

WevLe
ORIGINAL
Puaiet
L [ ] I

5] n =

Sportage Il (89/04--)

@25 240 5815/W | MBP@513

WEVLg

ORIGINAL

WKZON

Sorento Il (11/@9--)

29



Kia

Brakes

@25 249 3415/W | MBPBE681

ORIGINAL
2X

1><W% D%x
= =

Application info

Opirus (09/03-09/086)
Optima (29/10--]

@25 245 5915/W | MBPB626

Weveg'
ORIGINAL

Puanyt

[

] n J

Application info
Carnival Ill (06/06--)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

58302 1RA30
58302 TWA35
58302 2KA10

Rio 111 (29/11--]
Soul [(02/09-12/10)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58302 4DEDD

MEYLE

with acoustic wear warning
15.5

41

99.9

2

Akehono

with anti-squeak plate
Rear Axle

58302 2TA70
58302 3FAN

with accessories

with acoustic wear warning
15.5

47.8

10.4

2

Mando

with anti-squeak plate
Rear Axle

www.meyle.com
1888



MEYLE

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
58302-ABA20

Application info
Cee'd Il (B5/12--)

Brake pad set

Notes

Quality

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
KOBA2 33282

Application info
Rio | (08/00-02/05)

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References
KOBA2 33287

www.meyle.com
1888

with accessories

with acoustic wear warning
15.7

40.9

99.7

2

Akebono

with anti-squeak plate
Rear Axle

with acoustic wear warning
PREMIUM

Sumitomo
with anti-squeak plate
Front Axle

with acoustic wear warning

Sumitomo
with anti-squeak plate
Front Axle

Kia

Brakes

@25 253 3715/W | MBP@702

Xl Ll %

1 %

LX@

@25 216 5415/PD | MBP@770@PD

SN
O

2X

@25 216 5415/W | MBP@175

S\
o __° Q9 &
2X

B1



Kia

Brakes

@25 216 5415/W | MBP@175

Application info
Rio | (08/00-02/05)

@25 213 5514/W | MBPO114

LJ
[

;J

Application info
Pride (@1/90-05/97)

@825 253 4818 | MBP1575

Sl
TX%]B 4 [ﬂﬁﬂx

= i _d

Application info
Rio 11l (29/11--)

62

Brake pad set

Brake pad set

Notes

Thickness [mm]

Height 2 [mm]

Height 1 [mm]

Width 2 [mm]

Width 1[mm]

Number of wear indicators [per
axle]

Brake System

References

KK15@ 33232
KK150 33287

Brake pad set

Notes

Thickness [mm]

Height [mm]

Width [mm]

Number of wear indicators [per
axle]

Brake System

References

58101-WABS
581011-WA35

MEYLE

with acoustic wear warning
13.8
62.4
B63.5
78.8
78.8

2

Sumitomo

with anti-squeak plate
Front Axle

MDA19 3323Z

with acoustic wear warning
17.8

58.2

133

2

MANDO

with anti-squeak plate
Front Axle

581014-LABD

www.meyle.com
1888



MEYLE e

Guide sleeve kit, brake caliper 014 698 0006 | MBX0010

Notes o
without guide bolts ORIGINAL

Brake System ATE Qo

Front Axle .
References
DK20A 33257 .

Application info
Sephia (09/93-10/97)

Guide sleeve Kit, brake caliper 014 698 00B0B6/S | MBXBO11

Notes -
with guide pin ORIGINAL

Brake System ATE WON
Front Axle

References

BK20A 3325Z

Parts list

014 698 DDO6 | MBXDO10 Guide sleeve kit, brake caliper

100 698 BBO8 | MBXD156 Guide bolt, brake caliper

Application info

Sephia (089/93-18/97)

Brake drum 28-15 523 0007 | MDROB26

Notes -

Centering Diameter [mm] 54 ORIGINAL

Inner Brake Drum Height [mm] 31 Ly

Total Br. Drum Height [mm] B67.5

Bolt Hole Circle @ [mm] 100

Max.skimmed drum measure

[mm] 201

Br. Drum outer diameter [mm] 230.5

Inner Br. Drum Diam. [mm] 200

Required guantity 2

Number of Holes 4
Rear Axle

References

BK3B0A 26251A

Application info

Rio | (08/00-02/05) Rio Il (B3/@5--)

www.meyle.com B3
1888



64

Kia

Brakes

28-15 523 0018 | MDROB27

weveg'
ORIGINAL

WKL

Application info
Picanto | (04/04--)

28-14 533 0004 | MBSB0OE69

WevLg'
ORIGINAL

Guputd

Application info
Sportage | (04/94-08/04)

28-14 533 0003 | MBSO068

WEYLE'
ORIGINAL

Guput

Brake drum

Notes

Centering Diameter [mm]
Inner Brake Drum Height [mm]
Total Br. Drum Height [mm]
Bolt Hole Circle @ [mm]

Br. Drum outer diameter [mm]
Max.skimmed drum measure
[mm]

Inner Br. Drum Diam. [mm]
Required guantity

Number of Holes

References
58411 07000

Picanto Il (B5/11--)

Brake shaoe kit

Notes

Diameter [mm]
Width [mm]

References
DKD45 26382

Brake shaoe kit

Notes

Diameter [mm]
Width [mm]

References

DK2012638Z
DK2012638ZA

MEYLE

62.5
39.5
58
100
219.5

190

180

2

4

Rear Axle

without spring
260

45

Rear Axle

without spring
200

36

Rear Axle

DBK23N 26387
DK2N12638Z

www.meyle.com
1888



MEYLE

Brake shaoe kit

Application info

Sephia (@9/93-10/97]
Shuma | (83/96-12/0@1)

Brake shoe kit

Notes

without spring
Diameter [mm] 250
Width [mm] 57

Rear Axle
References
BK552 26387 BK5BA 2638ZA
BOK5B6A 26387 DK58A 26387

Application info
Carnival | (68/99-10/01)

Brake shaoe kit

Notes
without spring
with lever
Diameter [mm] 203
Width [mm] 32
Rear Axle
References
58305 1GABD

Application info
Rio Il (83/@5--)

Brake shoe kit

Notes
without spring
with lever
Diameter [mm] 168
Width [mm] 32
Rear Axle
References

58305 2KADD

www.meyle.com
1888

Kia

Brakes

28-14 533 0003 | MBSO068

Shuma Il (85/01-08/04)

44-14 533 0002 | MBSB157

WEVLE
ORIGINAL

Puau

Carnival Il (81/99-10/06)

37-14 533 0007 | MBS0O141

WEVLE
ORIGINAL

Puane

37-14 533 0005 | MBS@139

WEVLg

ORIGINAL

65



i MEYLE

37-14 533 0005 | MBS@139 Brake shoe kit

Application info
Soul (82/89-12/10)

36-14 533 0015 | MBS@132 Brake shoe kit
T Notes
ORIGINAL without spring
L Diameter [mm] 200
Width [mm] 31
Rear Axle
References
58315 FDARD 58315 FDAD1
Application info
Rio | (08/00-02/05)
37-14 533 0006 | MBS0140 Brake shoe kit
o Notes
ORIGINAL without spring
uniit with lever
Diameter [mm] 170
Width [mm] 32
Rear Axle
References
58350 1GAQD
Application info
Rio Il (83/@5--)
28-14 533 0000 | MBSDBE6 Brake shoe kit
- Notes
ORIGINAL without lever
s Diameter [mm] 167
Width [mm] 26.5
Rear Axle
References

58350 THABD

B6 www.meyle.com
1888



MEYLE e

Brake shoe kit 28-14 533 0000 | MBSODE6

Application info
Cee’d | (12/06-12/@9) Cee’d Il [(B5/12--)

Brake shoe kit 37-14 533 0008 | MBS@142

Notes

WEVLg

without spring ORIGINAL

Diameter [mm] 167 2t
Width [mm] 27
Rear Axle
References
58350 2EABD

Application info
Sportage Il (89/04--)

Brake shoe kit 37-14 533 0014 | MPBB0D40

Notes

WevLE

without spring ORIGINAL

Diameter [mm] 170 e
Width [mm] 27

Rear Axle "
References
58350 2EABD

Application info
Sportage Il (89/04--)

Brake shoe set, parking brake 37-14 533 0008 | MBS@142

Notes

WEVLE

without spring ORIGINAL

Diameter [mm] 167 D,
Width [mm] 27
Rear Axle
References
58350 2EABB

www.meyle.com 67
1888



68

Kia

Brakes

37-14 533 0008 | MBS@142

Application info
Sportage |1 (09/04--)

37-14 533 0014 | MPB0OO40

2777

WevLg'
ORIGINAL

K2

Application info
Sportage |1 (09/04--)

37-14 533 0018 | MPBBO42

WEVLE
ORIGINAL

Guput

Application info
Magentis | (85/01--)

37-14 533 0015 | MPBO0Q41

Weveg'
ORIGINAL

Puat

MEYLE

Brake shoe set, parking brake

Brake shoe set, parking brake

Notes

Diameter [mm]
Width [mm]

References
58350 2EADD

without spring
170

27

Rear Axle

Brake shoe set, parking brake

Notes

Diameter [mm]
Width [mm]

References
58350 3CA10

without spring
with lever

170

32

Rear Axle

Brake shoe set, parking brake

Notes

Diameter [mm]
Width [mm]

References
58350 3EDDD

without spring
190

40

Rear Axle

www.meyle.com
1888



MEYLE e

Brake shoe set, parking brake 37-14 533 0015 | MPBB041

Application info
Sorento | (88/02--)

Brake hose 28-14 525 0000 | MBHB295
Notes -
Inner thread [mm] M1@x1 ORIGINAL
Connector type Banjo fitting WON
Length [mm] 480
Required guantity 2

Front Axle
References

58732 FD100

Application info
Rio | (08/00-02/05)

www.meyle.com 69
1888



70

Kia

Drive train/Transmission

28-14 498 0001 | MCVO164

weveg'
ORIGINAL

WKL

Application info
Rio | (08/0@-02/05)

28-14 498 0002 | MCVO165

WEVLE
ORIGINAL

Guput

Application info
Carnival | (88/99-10/01)

28-14 498 0003 | MCVO166

Weveg'
ORIGINAL

Quayt

Application info
Picanto | (04/04--)

C.V. joint kit

Notes

Seal Diameter [mm]
Length [mm]

Internal Teeth, wheel side
Outer gearing wheel side

References

DK3BA 22510
DK30A 22610
DK3BA 25400
DK30@B 22510

C.V. joint kit

Notes

Seal Diameter [mm]
Length [mm]

Internal Teeth, wheel side
Outer gearing wheel side

References
DK55C 22510A

Carnival Il (81/99-10/06)

C.V. joint kit
Notes

Number of Teeth, ABS ring

Seal Diameter [mm]
Length [mm]

Internal Teeth, wheel side
Outer gearing wheel side

References

49500 07010
49500 07060

MEYLE

CV Joint
without ABS ring
52

139

21

24

Wheel Side

DK30B 22610
DK30B 25400
DK30B 25600

CV Joint
without ABS ring
56

168.5

26

28

Wheel Side

CV Joint

48

with ABS ring
52.5

Wheel Side

4959107010
4959107091

www.meyle.com
1888



MEYLE e Y

C.V. joint kit 28-14 498 0004 | MCVO167

Notes -
CV Joint ORIGINAL
without ABS ring s

Seal Diameter [mm] 56

Length [mm] 150

Internal Teeth, wheel side 24

Outer gearing wheel side 28
Wheel Side

References

DK200 22610 K39A42 2510

BK2C0 22510 KA842 2510

Application info

Clarus (07/96--)

C.V. joint kit 28-14 498 0000 | MCVO163

Notes
CV Joint ORIGINAL
without ABS ring [0

Seal Diameter [mm] 52

Length [mm] 144.5

Internal Teeth, wheel side 22

Outer gearing wheel side 24
Wheel Side

References

KK388 22510 KK388 22610

Application info
Rio | (08/00-02/05)

www.meyle.com 71
1888



Kia

Electrics

714 860 00@3 | MGPBO94

weveg'
ORIGINAL

WKL

Glow plug

Notes
Rated current [A]

MEYLE

15
after-glow capahle
Pencil-type Glow Plug

Spanner Size 12
Diameter [mm] 5
Thread Size M10 x 1,25
Overall Length [mm] 84.5
Cone Pitch 12°
Fitting Depth [mm] 22.5
Connector type M4
Voltage [V] n
References
@OKD54 18140 BK71E 18140A
BK710 18140 BK75A 18140
BK710 18140A BK75B 18140

Application info

Besta (02/96--) Sportage | (84/94-08/04)

K2700 (83/97-09/99) Besta (07/93-12/03)

Pregio (#8/95-09/04) K2700 (03/97--)

Retona (06/99--] Pregio (88/95--)

37-14 860 0000 | MGPBDG4 Glow plug

- Notes
ORIGINAL Rated current [A] 15

WKL

Application info
Carens Il (B7/02--)

after-glow capable
Pencil-type Glow Plug

Spanner Size 10
Diameter [mm] 5.1
Thread Size M1@ x 1
Overall Length [mm] m
Cone Pitch B3°
Fitting Depth [mm] 30
Connector type M4
Voltage [V] n
References

36710 27000

Cerato (04/04--)

Carens Ill (09/@6--) Magentis Il (11/@5-12/@8)
Carnival | (88/99-10/@1) Sportage 1l (89/04--)
Carnival Il [(B1/98-10/@86)

72 www.meyle.com
1888



MEYLE

Glow plug

Notes
Rated current [A]

Spanner Size
Diameter [mm]
Thread Size

Overall Length [mm]
Cone Pitch

Fitting Depth [mm]
Connector type
Voltage [V]

References
36710 2A100

Application info

Carens Il (09/06--)
Cee’d | (12/@6-12/09)
Ceed Il (B5/12--)
Cerato (04/04--)

Glow plug

References
36710 2A700

Application info
Carens IV (83/13--)
Cee’d | (12/@6-12/09)
Optima [09/10--)

www.meyle.com
1888

Kia

Electrics

37-14 860 0001 | MGPBBES

WEVLE
ORIGINAL

Puane

10

after-glow capahle
Pencil-type Glow Plug
12

5.1

M10 x 1,25

134

120°

30

M4

n

Picanto | (04/04--)
Rio Il (B3/05--)
Soul (82/@9-12/10)
Venga (02/10--)

37-14 860 0006 | MGPO135

WEVLg
ORIGINAL

Puane

Sportage Il (87/10--)
Venga (02/10--)

73



74

Kia

Electrics

37-14 860 B00O5 | MGPO126

weveg'
ORIGINAL

WKL

Application info
Carnival lll (86/06--]

37-14 860 0004 | MGPO114

WEVLE
ORIGINAL

Guput

Application info
Sorento 11 (11/09--)

Glow plug

Notes

Spanner Size
Diameter [mm]
Thread Size

Overall Length [mm]
Connector type
Cone Pitch

Fitting Depth [mm]
Voltage [V]

References
36710 2FO00

Sportage Il (87/18--)

Glow plug

Notes
Rated current [A]

Spanner Size
Diameter [mm]
Thread Size

Overall Length [mm]
Connector type
Cone Pitch

Fitting Depth [mm]
Voltage [V]

References
36710 2F100

MEYLE

Pencil-type Glow Plug
10

3

M18 X 1,25

139

M4

93°

28

7

8.5

after-glow capahle
Pencil-type Glow Plug
10

4.4

M18 x 1,25

139

M4

ap°

28.5

5

www.meyle.com
1888



MEYLE

Glow plug

Notes
Rated current [A]

Spanner Size
Diameter [mm]
Thread Size

Overall Length [mm]
Cone Pitch

Fitting Depth [mm]
Connector type
Voltage [V]

References

36710 42000
36710 42010
36710 42020
36710 42021

Application info
K2500 (01/03--)

Glow plug

Notes
Rated current [A]

Spanner Size
Diameter [mm]
Thread Size

Overall Length [mm]
Cone Pitch

Fitting Depth [mm]
Connector type
Voltage [V]

References
36710 42500

Application info

K2500 (81/83--)
Pregio (88/95-09/04)

www.meyle.com
1888

10

after-glow capable
Pencil-type Glow Plug
12

5

M10 x 1,25

g5

123°

22

M4

n

36710 42060
36710 42510
36710 42550

15

after-glow capahle
Pencil-type Glow Plug
12

5

M18 x 1,25

Kia

Electrics

37-14 860 0002 | MGPO100

WEVLE
ORIGINAL

Puane

K2500 (01/83--)

32-14 860 0000 | MGPOB54

WEVLE
& ORIGINAL

Puans

K2500 (01/83--)
Pregio (88/95--]

75



78

Kia

Electrics

28-14 860 0000 | MGPOB41

weveg'
ORIGINAL

WKL

Application info
Sorento | (B88/02--)

614 899 0017 | MEX@451

WevLg'
ORIGINAL

Guputd

Application info
Pride (81/90-05/97)

Glow plug

Notes
Rated current [A]

Spanner Size
Diameter [mm]
Thread Size

Overall Length [mm]
Cone Pitch

Fitting Depth [mm]
Connector type
Voltage [V]

References
36710 4A000

MEYLE

1n.4

after-glow capahle
Pencil-type Glow Plug
12

3.4

M10 x 1,25

151

ng°

31

M4

n

36710 4A100

Sensor, intake manifold pressure

Notes

Pressure to [bar]
Pressure from [bar]
Operating voltage [V]
Number of Poles

References
DK950 18211

Sephia (@9/93-10/97]

Piezoelectric Sensor
1.02

0.15

12

3

without cable

www.meyle.com
1888



MEYLE

Tensioner pulley, timing belt

Notes

Piece
Outer diameter [mm] (5]
Width [mm] 32
References
BKI95K 12750

Application info
Carnival | (08/99-10/01)

Tensioner pulley, timing belt

Notes

Piece
Inner diameter [mm] 8
Outer diameter [mm] 70
Width [mm] 31
References

24410 23050

Application info

Carens Il (B7/@2--)
Cee’d | (12/@6-12/09)

Tensioner pulley, timing belt

Notes

Piece
Outer diameter [mm] 58
Width [mm] 32
References

24410-27000 24410-27250

Application info

Carens Il (87/02--)
Carens Il (09/06--)
Cee’d | (12/06-12/09)

www.meyle.com
1888

Kia

Engine/Cooling/Clutch

28-51902 1000 | MMX1640

WEVLE
ORIGINAL

Puane

Carnival Il (81/99-10/086)

37-51902 1801 | MMX1644

WEVLg
ORIGINAL

2,

st

Cerato [(04/04--)
Sportage Il (9/04--)

37-51902 1000 | MMX1643

WEVLE
ORIGINAL

Puaiet

Cerato (04/04--)
Magentis Il (11/@5-12/08)
Sportage Il (89/04--)

77



78

Kia

Engine/Cooling/Clutch

28-51 902 1801 | MMX1685

weveg'
ORIGINAL

WKL

Application info
Carnival lll (06/06--]

37-51902 2000 | MMX1645

WevLg'
ORIGINAL

2,

/st

Application info

Carens Il (07/82--)
Carens Il (89/06--)
Cee’d | (12/@6-12/@9)

37-51902 30008 | MMX1691

WevLg'
ORIGINAL

Guputd

Application info
Carnival lll (86/06--]

MEYLE

Tensioner pulley, timing belt

Notes

Piece
Outer diameter [mm] (5]
Width [mm] 35
References
24840 3E0DD 24840 3E500
Magentis Il (11/85-12/08)
Timing belt roller
Notes
Outer diameter [mm] 58
Width [mm] 32
References
24810 27000 24810 27250

Cerato (04/04--)
Magentis Il (11/85-12/@8)
Sportage Il (89/04--)

Timing belt tensioner shock

References
24410 3E100 24410 3E500

Magentis Il (11/85-12/@8)

www.meyle.com
1888



MEYLE

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
DK244 15909A

Application info
Shuma | (83/96-12/01)

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
DK55215909

Application info

Carnival | (28/99-10/@1)
Carnival Il (81/99-10/06)

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
DK95K 15909

Application info
Carnival | (28/99-10/01)

www.meyle.com
1888

Kia

Engine/Cooling/Clutch

050 004 1045 | MRBO130

WEVLE

4 ORIGINAL
1045
Shuma Il (85/01-08/04)
050 004 0870 | MRBOR93
WEVLg'
4 ORIGINAL
870 ound
Picanto | (04/@4--)
@50 006 1580 | MRBB431
B DRTI:I:AL
1580

Puaiet

Carnival Il (81/99-10/08)

79



80

Kia

Engine/Cooling/Clutch

050 005 1060 | MRBD226

weveg'
ORIGINAL

WKL

Application info
Clarus (@7/96--)

@50 006 2013 | MRBB5@3

WevLg'

ORIGINAL

Application info
Sephia [09/93-108/97)

050 005 8950 | MRBD207

WEVLE
ORIGINAL

Guputd

Application info
Clarus (@7/96--)

MEYLE

V-ribbed belt

Notes

Number of Ribs 5
Length [mm] 1060
References

BKYA3 15909

V-ribbed belt

Notes

Number of Ribs B

Length [mm] 2013
References

BK9AB 15987 OK9AB 15987

V-ribbed belt

Notes

Number of Ribs 5
Length [mm] 950
References

BK9AC 15907

www.meyle.com
1888



MEYLE

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
2521202550

Application info
Picanto | (04/04--)

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
25212 25000

Application info
Carens Il (89/06--)

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
25212 25020

Application info
Carens Il (89/06--)

www.meyle.com
1888

Kia

Engine/Cooling/Clutch

050 004 0780 | MRBDB75

WEVLE

4 ORIGINAL
780 ouai
@50 006 2590 | MRBB569
WEVLg'
B ORIGINAL
2590 ound
Magentis Il (11/85-12/08)
050 006 2510 | MRBB564
WevLe
B ORIGINAL
2510

2uaus

81



82

Kia

Engine/Cooling/Clutch

050 006 1400 | MRBB410

weveg'
ORIGINAL

WKL

Application info
Cee'd | (12/06-12/@9)

@050 006 1510 | MRBB420

WevLg'

ORIGINAL

Application info

Carens Il (87/82--)
Carens Il (89/06--)
Cerato (04/04--)

@50 006 1515 | MRBB421

WevLg'
ORIGINAL

K2

Application info
Carens Il (29/06--)

MEYLE

V-ribbed belt

Notes

Number of Ribs B
Length [mm] 1400
References

2521227160

V-ribbed belt

Notes

Number of Ribs B

Length [mm] 1510
References

25212 27002 25212 27350
25212 27010

Magentis Il (11/85-12/08)
Sportage |1 (09/04--)

V-ribbed belt

Notes

Number of Ribs B

Length [mm] 1515
References

25212 27002 25212 27351
25212 27350 25212 27360

www.meyle.com
1888



MEYLE Ka

Engine/Cooling/Clutch

V-ribbed belt @50 005 1788 | MRBD291
Notes o
Number of Ribs 5 v ORIGINAL
Length [mm] 1788 [
References

25212 2A000 25212 2A001

Application info
Picanto | (04/04--)

V-ribbhed belt @50 005 1650 | MRBB283
Notes o
Number of Ribs 5 vy ORIGINAL
Length [mm] 1650 g
References

25212 2A300

Application info

Rio Il (83/@5--) Venga (02/10--)
V-ribbed belt 050 006 2140 | MRBB521
Notes -
Number of Ribs B \ " ORIGINAL
Length [mm] 2140

2uaus

References
25212 28000

Application info
Cerato (04/04--)

www.meyle.com
1888

83



84

Kia

Engine/Cooling/Clutch

050 006 1530 | MRBB423

weveg'
ORIGINAL

WKL

Application info
Cerato (04/04--)

@50 006 1255 | MRBB387

WevLg'

ORIGINAL

Application info
Cee'd | (12/06-12/09)
Ceed Il (B5/12--)
Picanto Il (B85/11--)
Rio Il (89/11--)

050 006 8955 | MRBB333

Weveg'
ORIGINAL

Puat

MEYLE

V-ribbed belt

Notes

Number of Ribs B
Length [mm] 1530
References

25212 2B010

V-ribbed belt

Notes

Number of Ribs B
Length [mm] 1255
References

25212 2B020

Soul (B2/@9-12/10)
Sportage Il (87/18--)
Venga (02/10--)

V-ribbed belt

Notes

Number of Ribs B
Length [mm] 955
References

25212 2B030

www.meyle.com
1888



MEYLE i

Engine/Cooling/Clutch

V-ribbed belt @50 006 8955 | MRBB333

Application info
Cee’d | (12/@6-12/@9) Soul (02/09-12/10)
Ceed Il (B5/12--) Sportage Il (87/10--)
Picanto Il [B5/11--) Venga (02/10--)
Rio Il (89/11--)

V-ribbed belt 050 006 2498 | MRBOB563

Notes

Number of Ribs B
Length [mm] 2498

WEVLE
ORIGINAL

2uaus

References
25212 2F000 25212 2F010

Application info
Sorento 11 (11/09--)

V-ribbed belt @50 006 2415 | MRBB555
Notes o
Number of Ribs B ORIGINAL
Length [mm] 2415 Josy
References

25212 2F300

Application info
Sportage Il (87/18--)

www.meyle.com 85
1888



86

Kia

Engine/Cooling/Clutch

@50 006 2125 | MRBB519

weveg'
ORIGINAL

WKL

Application info
Sportage |1l (87/18--)

@50 006 1705 | MRBB452

WevLg'

ORIGINAL

Application info
Magentis | (85/01--)

050 006 2000 | MRBB502

WEVLE

ORIGINAL

Application info
Magentis | (85/01--)

MEYLE

V-ribbed belt

Notes

Number of Ribs B
Length [mm] 2125

References
25212 2G710

V-ribbed belt

Notes

Number of Ribs B
Length [mm] 17@5
References

25212 37160

V-ribbed belt

Notes

Number of Ribs B
Length [mm] 2000
References

25212 37182

Sportage Il (89/04--)

www.meyle.com
1888



MEYLE i

Engine/Cooling/Clutch

V-ribbed belt @50 006 2475 | MRBO560
Notes -
Number of Ribs B ) ORIGINAL
Length [mm] 2475 Loy
References

25212 3C100 25212 3C200

Application info
Opirus (09/03-09/06)

V-ribbhed belt @50 006 2055 | MRBO510
Notes o
Number of Ribs B mananan o ORIGINAL
Length [mm] 2055 ZLauy
References

25212 3EBBB 25212 3EB50

Application info
Carnival Ill (86/06--) Magentis I [11/@05-12/@8)

V-ribbed belt @050 807 1730 | MRBO611

Notes o
Number of Ribs 7 v LW\ W ORIGINAL
Length [mm] 1730

2uaus

References
25212 4A010

Application info
Sorento | (08/02--)

www.meyle.com
1888

87



88

Kia

Engine/Cooling/Clutch

050 007 2250 | MRBO630

weveg'
ORIGINAL

WKL

Application info
Sorento | (08/02--)

@50 887 2271 | MRBBB32

WevLg'
ORIGINAL

2,

/st

Application info
Sorento | (B88/02--)

050 004 0750 | MRBOBE9

WEVLE
ORIGINAL

Guputd

Application info
Picanto | (04/04--)

MEYLE

V-ribbed belt

Notes

Number of Ribs 7

Length [mm] 2250
References

25212 4A0M 25212 4A401
25212 4A400

V-ribbed belt

Notes

Number of Ribs 7
Length [mm] 2271
References

25212 4A100

V-ribbed belt

Notes

Number of Ribs 4
Length [mm] 750
References

5717002710

www.meyle.com
1888



MEYLE i

Engine/Cooling/Clutch

V-ribbed belt @50 005 1393 | MRBO270
Notes -
Number of Ribs 5 e ORIGINAL
Length [mm] 1393

Puane

References
57170 38010

Application info
Magentis | [85/01--) Sorento | (88/02--)

V-ribbed belt 050 005 0905 | MRBB200

Notes

e
Number of Ribs 5 ma na ORIGINAL
Length [mm] 905

2,

st

References
57170 39000 90916 82367

Application info
Opirus (09/03-09/06)

V-ribbed belt 050 004 0675 | MRBOOS8

Notes o
Number of Ribs 4 \ ¥\ \ ORIGINAL
Length [mm] B75

2uaus

References
9771302000

Application info
Cee’d | (12/06-12/09) Rio Il (B9/11--)

Cee’d Il [B5/12--) Soul [(02/89-12/10)
Picanto | (04/04--)

www.meyle.com
1888

89



a0

Kia

Engine/Cooling/Clutch

@50 006 1195 | MRBB375

weveg'
ORIGINAL

WKL

Application info
Opirus (09/03-09/086)

050 004 0855 | MRBOO9O

WevLg'
ORIGINAL

2,

/st

Application info

Carens Il (87/82--)
Cerato (04/04--)

050 004 0875 | MRBBO94

Weveg'
ORIGINAL

Quautt

Application info
Sephia (09/93-10/97)

MEYLE

V-ribbed belt

Notes

Number of Ribs B
Length [mm] 1195
References

97713 26300

V-ribbed belt

Notes

Number of Ribs 4
Length [mm] 855
References

9771320510

Sportage |1 (89/04--)

V-ribbed belt

Notes

Number of Ribs 4
Length [mm] 875
References

B3C718381B

Shuma | [(83/96-12/01)

www.meyle.com
1888



MEYLE i

Engine/Cooling/Clutch

V-ribbed belt 050 004 0800 | MRBBO79

Notes

Number of Ribs 4
Length [mm] 800

WEVLE
ORIGINAL

Puane

References
MB376 15907

Application info
Pride (@1/90-05/97)

V-ribbed belt 050 004 @815 | MRBBB82
Notes o

Number of Ribs 4 ORIGINAL
Length [mm] 815 g

References

9771311200 977131C200

Application info
Cerato (04/04--) Rio Il (03/05--)

V-ribbed belt 050 004 0884 | MRBBD96

Notes

Number of Ribs 4
Length [mm] 884

WEVLE
ORIGINAL

2uaus

References

DK®3815807 0OK21A18381
DK21A18381

Application info

Carens | (11/00-07/02) Sephia (89/93-18/97)
Carens |l (B7/02--) Shuma | (83/96-12/01)
Clarus [(@7/96--) Shuma Il (85/01-08/04)

Rio | (28/00-02/05)

www.meyle.com g1
1888



92

Kia

Engine/Cooling/Clutch

050 004 0890 | MRBBO97

weveg'
ORIGINAL

WKL

Application info

Carens Il (07/@2--)
Cee’d | (12/06-12/@9)
Cerato (04/04--)
Sephia (089/93-18/97])

050 004 0900 | MRBOE@99

WEVLE
ORIGINAL

Guput

Application info
Sephia [09/93-10/97)

050 004 0925 | MRBO10@7

Weveg'
ORIGINAL

Quayt

Application info
Carens | (11/00-07/02)
Carens Il (B87/@2--)
Pride (@1/90-85/97])

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References

DK21A 18381
MB366 15907

Shuma | (83/96-12/@1)
Shuma Il (85/01-08/04)
Sportage 11 (89/04--)

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
DK20DA 15908

Shuma | [(83/96-12/01)

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References

DK®@1118381A
DK2AA 15807

Shuma | [83/96-12/01)
Shuma Il (05/01-08/04)
Sportage | (04/94-08/04)

MEYLE

890

MB3B66159@7A

900

KK37115809

925

DK2AA32907
KK140 15909

www.meyle.com
1888



MEYLE

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
DK2AA15908

Application info

Joice (02/00--)
Shuma | (@83/96-12/01)

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
DK2DB 15909

Application info
Carens Il (B87/02--)
Sephia (89/93-10/97)

V-ribbed belt

Notes

Number of Ribs
Length [mm]

References
DK244 15909A

Application info
Shuma | (83/96-12/0@1)

www.meyle.com
1888

Kia

Engine/Cooling/Clutch

050 004 0962 | MRBO114

4 AR R ORIGINAL
962

Puane

B3C715809C
Shuma Il (85/01-08/04)
050 004 1020 | MRBO125
4 \ P P, P DRT;::AL
1020 2unt
Shuma | (083/96-12/01)
050 004 1050 | MRBB131
WevLe
4 R R ORIGINAL
1050

2,

st

Shuma Il (85/01-08/04)

a3



94

Kia

Engine/Cooling/Clutch

050 004 1063 | MRBD133

weveg'
ORIGINAL

WKL

Application info

Carens | [11/00-07/02)
Carens Il (B7/02--)
K2500 (81/083--)

050 004 1080 | MRBB136

weveg'
ORIGINAL

W2

Application info

Carens | [11/80-07/02)
Shuma | (83/96-12/01)

050 005 8890 | MRBO198

Weveg'
ORIGINAL

Puat

Application info
Picanto Il (85/11--]

MEYLE

V-ribbed belt

Notes

Number of Ribs 4

Length [mm] 1063
References

BK2CP15909 571814A000

Pregio (#8/95-09/04)
K2500 [@1/83--)
Pregio (88/95--)

V-ribbed belt

Notes

Number of Ribs 4
Length [mm] 1080
References

BK2A3 15909

Shuma Il (85/01-88/04)
Sorento | (88/02--)

V-ribbed belt

Notes

Number of Ribs 5
Length [mm] 890
Rio Il (89/11--)

www.meyle.com
1888



MEYLE i

Engine/Cooling/Clutch

V-ribbed belt 050 006 1570 | MRBB429

Notes

Number of Ribs B
Length [mm] 1570

WEVLE
ORIGINAL

Puane

Application info
Carnival | (88/99-10/@1) Carnival Il (81/99-18/08)

Thermostat 28-28 228 0001 | MTHDB86

Notes

WEVLg

with seal ORIGINAL

Opening Temperature [°C] 88

References

DK2CB 15171 DK3BE 15171
DK2CB 15171A

Application info
Carens | (11/00-07/02) Rio Il (03/05--)

Carens Il (87/02--) Roadster (08/99--)
Rio | (08/00-02/05) Shuma Il (85/01-08/04)

Thermostat 28-28 228 0002 | MTHOB54

Notes -

with seal ORIGINAL

Opening Temperature [°C] 82

References
DK410 15171A

www.meyle.com g5
1888



96

Kia

Engine/Cooling/Clutch

28-28 228 0002 | MTHBB54

Application info

Carnival | (88/99-10/@1)
Carnival Il (@1/99-10/@6)
Carnival Ill (66/86--)
K2700 (83/97-09/99)

35-28 228 0000 | MTHO101

Weveg'
ORIGINAL

Puant

Application info

Clarus [@7/96--)
Retona (06/99--)

37-28 228 0005 | MTHB@92

Weveg'
ORIGINAL

Puapt

Application info

Carens Il (B7/@2--)
Carens Il (89/06--)
Cee’d | (12/@6-12/@9)
Cerato (04/04--)
Magentis Il (11/85-12/08)

Thermostat

Pregio (88/95-09/04)
Retona (06/99--)
K2700 (03/97--)
Pregio (88/95--)

Thermostat

Notes
Opening Temperature [°C]

References
DKIFC 15171

Sportage | (04/94-08/04)

Sportage Il (89/04--)

Thermostat

Notes
Opening Temperature [°C]

References
25500 27000

Rio Il (83/05--)

Soul (82/89-12/10)
Sportage Il (B87/10--)
Venga (02/10--)

MEYLE

with seal
88

KE5D3 15171

85

www.meyle.com
1888



MEYLE S

Thermostat 37-28 228 0004 | MTHOO90

Notes

WEVLE
ORIGINAL

Puane

with seal
Opening Temperature [°C] 82

References

25500 35530 25500 37200
25500 35531

Application info

Carnival | (88/99-18/01) Sorento | (08/02--)
Carnival Il (81/99-10/06) Sorento 11 (11/09--)
Carnival lll [6/06--) Sportage Il (89/04--)
Magentis Il (11/85-12/08)

Thermostat 37-28 228 0001 | MTHBO71

Notes o
with seal ORIGINAL
Diameter [mm] 56

Opening Temperature [°C] 82

2uaus

References
25510 42100

Application info

K2500 [@1/83--) K2500 (01/83--)
Pregio (#8/95-09/04) Pregio (88/95--)

Water pump 35-13 015 8001 | MWPB368

Notes

WEVLg

with seal ORIGINAL

Quality Sealed with SiC/SiC

References
DK24A 15010

Application info
Pride (@1/90-05/97) Sephia (89/93-18/97)

www.meyle.com g7
1888



a8

Kia

Engine/Cooling/Clutch

28-13 220 0005 | MWPB258

weveg'

ORIGINAL

Application info
Picanto | (04/04--)

37-13 220 0014 | MWPB526

WevLg'
ORIGINAL
ot

Application info
Picanto Il (B85/11--)

37-13 220 0003 | MWPB403

WEVLE
ORIGINAL

Guputd

Application info

Carens Il (B87/@2--)
Cee’d | (12/086-12/09)

MEYLE

Water pump

Notes

with seal
Quality Sealed with SiC/SiC

References
25100 02566

Water pump

Notes

with seal
Quality Sealed with SiC/SiC

References
25100 03010

Rio 11l (29/11--]

Water pump

Notes
with seal

References

25100 23003
25100 23010

25100 23022
25100 23530

Cerato (04/04--)
Sportage |1 (89/04--)

www.meyle.com
1888



MEYLE S

Water pump 37-13 220 0005 | MWPB405

Notes -
with seal ORIGINAL

References

25100 26015 25100 26900

25100 26016 25100 26901

25100 26660 25100 26902

Application info

Cerato (04/04--) Rio Il (03/05--)

Water pump 37-13 220 0004 | MWPB404

Notes -
for toothed belt drive ORIGINAL
with seal L

Number of Teeth 20

References

25100 27000 25100 27010

Application info

Carens Il (B7/@2--)
Cerato (04/04--)

Sportage Il (9/04--)

Water pump 37-13 220 0006 | MWPB406

Notes T
for toothed belt drive ORIGINAL
with seal et

Number of Teeth 20

References

25100 27400

Application info

Carens Il (87/02--) Cerato (04/04--)

Carens Il (09/06--)
Cee’d | (12/@6-12/@9)

www.meyle.com
1888

Magentis Il (11/@5-12/08)
Sportage Il (9/04--)

a9



100

Kia

Engine/Cooling/Clutch

37-13 220 0007 | MWPB407

weveg'
ORIGINAL

WKL

Application info

Cee’d | (12/@6-12/@9)
Cerato (04/04--)

37-13 220 0008 | MWPB534

WEVLE'
ORIGINAL

Puapst

Application info

Cee’d | (12/06-12/09)
Cerato (04/04--)

37-13 220 0012 | MWPB410

WevLg'
ORIGINAL

Guputd

MEYLE

Water pump

Notes
with seal

References

25100 2AD06G 25100 2A001

Picanto | (84/04--)
Rio Il (83/05--)

Water pump

Notes
with seal

References
25100 2B000

Soul (02/@9-12/10)

Water pump

Notes

with seal
Quality Sealed with SiC/SiC

References
25100 2B700

www.meyle.com
1888



d MEYLE

Water pump

Application info
Carens IV (83/13--)
Cee’d | (12/@6-12/@9)
Cee’d Il [(85/12--]
Cerato (04/04--)

Water pump

Notes

with seal

References

DK3BC 15010A 0OK3BC 15018A
25100 2X100

Application info
Rio | (08/00-02/05)

Water pump

Notes

with seal

References

DK3BE 15010 25100 2X400
25100 2X200 25100 2X401

Application info

Carens Il (B7/@2--)
Rio | (08/00-02/05)

www.meyle.com
1888

Kia

Engine/Cooling/Clutch

37-13 220 0012 | MWPB410

Soul (02/09-12/10)
Soul Il (B2/14--)
Sportage Il (B87/10--)
Venga (02/10--)

28-13 220 0004 | MWPB257

WEVLE
ORIGINAL

Puane

28-13 220 0006 | MWPB259

E - e
ﬁ./; ORIGINAL
p A Puau
- ad

Shuma Il (05/01-08/04)

101



R —— MEYLE

37-13 220 0001 | MWPB401 Water pump
o Notes
ORIGINAL for toothed belt drive
s with seal
References
25100 37102 25100 37201
25100 37200 25100 37202
Application info
Magentis | (85/01--) Sportage Il (09/04--)
37-13 220 0002 | MWPB402 Water pump
Notes
s 3
ORIGINAL G » b with seal
Sap o3
1"? o References
1 25100-38002 25100-38200
Application info
Magentis | (85/01--)
32-13 220 0085 | MWPB353 Water pump
o Notes
DRIGINAL with seal
References
25100 42501 25100 42541
Application info
K2500 (01/03--) K2500 [(01/03--)
Pregio (#8/95-09/04) Pregio (88/95--)

102 www.meyle.com
1888



MEYLE i

Engine/Cooling/Clutch

Water pump 28-13 220 0001 | MWPB254

Notes

WEVLE
ORIGINAL

Puane

with seal

References

25100 4A000 25100 4A300 s "
25100 4A100 M25100 4A000 | '- .

Application info
Sorento | (88/02--)

Water pump 28-13 220 80087 | MWPB260

Notes
ORIGINAL

Quans

with seal

References
25100 4X700

Application info
Carnival Il (21/99-10/06)

Water pump 35-13 220 8001 | MWPB375

Notes
e
ORIGINAL

2uaus

for toothed belt drive
with seal
Number of Teeth 22

References
RF9515010

Application info
Besta (02/96--) Besta (@7/93-12/03)

www.meyle.com 123
1888



R —— MEYLE

104

28-12 0111340 | MAFB306 Air filter
_ Notes
ORIGINAL Height [mm] 37
us Width [mm] 179
Length 1 [mm] 237
Width 1 [mm] 152
Length [mm] 263
Filter Insert
References
@K1 13240 K@111 3240
Application info
Retona (06/99--] Sportage | (84/94-08/04)
28-12 321 0006 | MAFB313 Air filter
- Notes
ORIGINAL Height [mm] [5]%]
WCDN Width [mm] 196
Length [mm] 304
Filter Insert
References
BK552 23603A 0OK552 236@3A
Application info
Carnival | (88/99-10/01) Carnival Il (21/99-10/06)
28-12 321 0000 | MAFB307 Air filter
o Notes
ORIGINAL Height [mm] 38
L Width [mm] 115.8
Length [mm] 251
Filter Insert
References

Application info
Picanto | (04/04--)

28113 07100

www.meyle.com
1888



MEYLE S

Air filter 28-12 321 0008 | MAFB315
Notes
Height [mm] 50 ORIGINAL
Width [mm] 130 gt
Length [mm] 260
Filter Insert
References
28113 16100
Application info
Rio Il (83/05--)
Air filter 28-12 321 8013 | MAFB320
Notes o
Height [mm] 50 ORIGINAL
Width [mm] 145 i
Length [mm] 255
Filter Insert
References
28113 1R100
Application info
Rio Il (89/11--)
Air filter 28-12 321 0014 | MAFB321
Notes o
Height [mm] 34 ORIGINAL
Width [mm] 133 Loy
Length 1 [mm] 215
Length [mm] 241
Filter Insert
References
28113 64000 28113 1Y100

Application info
Picanto Il (B5/11--)

www.meyle.com 185
1888



p—
R —— MEYLE

37-12 321 @011 | MAFB515 Air filter
- Notes
ORIGINAL Height [mm] 50
a8 Width [mm] 178
Length [mm] 259
Filter Insert
References

28113 26000

Application info
Magentis Il (11/85-12/08)

37-12 321 0019 | MAF@522 Air filter
- Notes
ORIGINAL Height [mm] 40.5
Ly Width [mm] 174
Length [mm] 255
Filter Insert
References
28113 20000 28113 2F000
Application info
Cerato (04/04--)
37-12 321 0000 | MAFB504 Air filter
o Notes
ORIGINAL Height [mm] 45.5
L Width [mm] 172
Length [mm] 253
Filter Insert
References

28113 2F250

Application info
Cerato (04/04--) Sportage Il (89/04--)

106 www.meyle.com
1888



MEYLE

Air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
28113 2G300

Application info
Carens Il (89/06--]

Air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
28113 2HO00

Application info
Cee'd | (12/06-12/@9)

Air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References

28113 1J000
28113 1PBOG

Application info
Soul (02/09-12/10)

www.meyle.com
1888

28113 2K000

Kia

Engine/Cooling/Clutch

28-12 321 0009 | MAFB316

WEVLE
ORIGINAL

Puane

54

200

264

Filter Insert

Magentis Il (11/85-12/@8)

28-12 321 0010 | MAF@317

e
49.5 ORIGINAL
189

200.5

Filter Insert

Ceed Il (B5/12--)

37-12 321 8024 | MAF@527

WevLe
55 ORIGINAL
130
247

Filter Insert

2uaus

Venga (02/18--)

107



p—
R —— MEYLE

37-12 321 8031 | MAFB534 Air filter
- Notes
ORIGINAL Height [mm] 39
Ly Width [mm] 225
Length 1 [mm] 274
Width 1 [mm] 224
Length [mm] 277
Filter Insert
References
28113 2P100
Application info
Sorento I (11/@9--)
37-12 321 8030 | MAFB533 Air filter
- Notes
ORIGINAL Height [mm] 40
Ly Width [mm] 196
Length 1 [mm] 274
Width 1[mm] 193
Length [mm] 277
Filter Insert
References
28113 2P300
Application info
Sorento I (11/@89--)
37-12 321 8025 | MAFB528 Air filter
o Notes
ORIGINAL Height [mm] 54
L Width [mm] 165
Length 1 [mm] 256
Width 1 [mm] 162
Length [mm] 259
Filter Insert
References

28113 25000

Application info
Carens IV (B83/13--) Sportage Il (B7/10--)

108 www.meyle.com
1888



MEYLE

Air filter

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
28113 32510

Application info
Joice (02/00--)

Air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
28113 3E00D

Application info
Sorento | (B8/02--)

Air filter

Notes

Height [mm]
Width [mm]
Length [mm]

References
28113 4D000

Application info
Carnival lll (86/06--)

www.meyle.com
1888

Kia

Engine/Cooling/Clutch

37-12 321 8018 | MAF@521

WEVLE
ORIGINAL

Puane

m

206

175

Filter Insert

28-12 321 6005 | MAF@312

WEVLg
ORIGINAL
o

335

236

297.5

Filter Insert

Quans

28-12 321 0011 | MAFB318

WEVLE

ORIGINAL

55

158.5

303

Filter Insert

2uaus

109



Kia

Engine/Cooling/Clutch

11-14 323 0001 | MFFBBE69

weveg'
ORIGINAL

WKL

—

Application info
Carens Il (B7/@2--)

714 323 8002 | MFFB217

WevLg'
ORIGINAL

Guautd

Application info

Carnival | (28/99-10/@1)
Carnival Il [(@1/98-10/@8)

28-14 323 0005 | MFFO118

Weveg'
ORIGINAL

Quautt

Application info
Sorento | (08/02--)

10

Fuel filter

Notes

Diameter [mm]
Height [mm]
Connecting thread

References
DK2KB 13480

Carens Il (09/06--)

Fuel filter

Notes

Diameter [mm]
Height [mm]

References
DK52A-23570

Carnival lll (86/06--)

Fuel filter

Notes

Diameter [mm]
Height [mm]
Thread Size
Connecting thread

References
DK552 12603A

MEYLE

Zinc-coated
Steel

84

158

M16x1,5
Screw-on Filter

DK2KK 13483

Zinc-coated

Steel

80

148

with water drain screw

Metal

84

165

M16x1,5
M12x1,5
Screw-on Filter

31300 3E200

www.meyle.com
1888



MEYLE

Fuel filter

Notes

Diameter [mm]
Height [mm]
Thread Size
Connecting thread

References

DK55123570
DK55123570A

Application info

Besta (02/96--)
K2500 [@1/83--)
K2700 (83/97-89/99)
Pregio (#8/95-09/04)

Fuel filter

Notes

Diameter [mm]
Height [mm]
Thread Size
Connecting thread

References
31390 H1000

Application info

Carnival Il (81/99-10/06)
K2500 [@1/83--)

K2700 (03/97-89/99)
Pregio (88/95-09/04)

Fuel filter

Notes

Diameter [mm]
Height [mm]

References
31910 2HOOO

www.meyle.com
1888

Metal
80

120
M20x1,5
M22x1,5

Screw-on Filter

DK71E 23570A

DKJ1E 23570

Metal
94

139
M20x1,5
M36x1,5

Screw-on Filter

K4672 3570

Plastic

88

130

in fuel tank

Kia

Engine/Cooling/Clutch

42-14 323 0001 | MFF@198

WEVLE
ORIGINAL

Puane

Besta (07/93-12/@3)
K2500 (81/03--)
K2700 (03/97--)
Pregio (88/95--)

35-14 323 0001 | MFFO170

WEVLE
ORIGINAL

Puane

K2500 (81/03--)
K2700 (83/97--]
Pregio (88/95--)

37-14 323 0002 | MFFO183

i § WEVLE
; r . ORIGINAL
‘ i " Puau

m



ne

Kia

Engine/Cooling/Clutch

37-14 323 0002 | MFFO183

Application info

Carens Il (89/06--)
Cee’d | (12/06-12/@9)

30-14 323 0006 | MFFO127

Weveg'
ORIGINAL

KON

Application info
Magentis Il (11/05-12/08)

37-14 323 0007 | MFFD188

weveg'
ORIGINAL

WKL

Application info
Rio Il (83/@5--)

37-14 323 0001 | MFFO182

WEYL'
ORIGINAL

Guput

Fuel filter

Cerato (04/04--)
Venga (02/18--)

Fuel filter

Notes

Diameter [mm]
Height [mm]
Connecting thread

References
31911 34000

Fuel filter

Notes

Diameter 1 [mm]
Diameter [mm]
Height 1 [mm]
Height [mm]
Thread Size
Connecting thread

References
31922 26910

Fuel filter

Notes

Diameter [mm]
Height [mm]
Thread Size
Connecting thread

References
31922 2B900

MEYLE

Metal

70

1n4.5

M14x1,5
Screw-on Filter

Metal

84

87.5

143

163

M16x1,5
M8x1,25
Screw-on Filter

Aluminium

85

156.8

M16x1,5
M1@x1,5
Screw-on Filter

www.meyle.com
1888



MEYLE i

Engine/Cooling/Clutch

Fuel filter 37-14 323 0001 | MFFD182
Application info
Carens |l [(B7/02--) Rio Il (23/@5--)
Carens Il (09/06--) Sorento | (88/02--)
Carnival lll (86/06--) Sorento Il (11/@9--)
Magentis Il (11/@5-12/@8) Venga (02/10--)
Fuel filter 28-14 323 0001 | MFFO114
Notes
Metal ORIGINAL
Diameter [mm] 85 Loy
Height [mm] 142
Thread Size M16x1,5
Connecting thread M12x1,25
Screw-on Filter
References
31922-2E900 31922 3AB50

Application info

Carens |l (B7/02--) Rio 11l (89/11--)

Cee’d | (12/@6-12/@9) Soul (02/09-12/10)
Cerato (04/04--) Sportage Il (89/04--)
Magentis Il (11/05-12/08) Sportage Ill (B87/10--)

Picanto | (04/04--)

ail filter 614 322 0000 | MOFD178
Notes -
Bypass Valve Opening Pressure ORIGINAL
[bar] 1 L
Outer diameter [mm] B5.5
Height [mm] 85.6
Thread Size M20x1,5

Screw-on Filter

with one anti-return valve
References
DJE15 14302

Application info
Sorento | (88/02--)

www.meyle.com 113
1888



N4

Kia

Engine/Cooling/Clutch

weveg'
ORIGINAL

WKL

Application info
Besta (02/96--)
K2700 (03/97-09/99)
Pregio (#8/95-09/04)

28-14 322 0002 | MOF@Q91

weveg'
ORIGINAL

W2

Application info

Carnival Il [(@1/98-10/@8)
Carnival Ill (06/@6--)
K2500 (01/@3--)

K2900 (01/@8--)

Pregio (#8/95-09/04)

32-14 322 0001 | MOF@135

WevLe'
ORIGINAL

K2

Qil filter

Notes

Bypass Valve Opening Pressure
[bar]

Diameter [mm]

Height [mm]

Thread Size

References
DK410 23802A

Besta (07/93-12/@3)
K2700 (03/97--)
Pregio (88/95--)

Qil filter

Notes

Bypass Valve Opening Pressure
[bar]

Diameter [mm]

Height [mm]

Thread Size

References

DK55114302
26300-42040
26330-4A000

Sorento | (08/02--)
K2500 [@1/03--)
K2900 (81/08--)
Pregio (#8/95--)

Oil filter

Notes

Bypass Valve Opening Pressure
[bar]

Diameter 1 [mm)]

Height [mm]

Thread Size

References
VS0l 14302

MEYLE

1
102

150

M20x1,5
Screw-on Filter

1
93

121

M26x1,5

Screw-on Filter

with one anti-return valve

26330 4X000
K55114302

1
102

125

M26x1,5

Screw-on Filter

with one anti-return valve

www.meyle.com
1888



MEYLE S

ail filter 32-14 322 0001 | MOF@135

Application info
Carnival | (88/99-10/01)

ail filter 37-14 322 0009 | MOFO169
Notes -
Bypass Valve Opening Pressure ORIGINAL
[bar] 1 L
Diameter [mm] 68
Height [mm] 75
Thread Size M20x1,5

Screw-on Filter

with one anti-return valve
References
26300 02501 26300 B2502

Application info

Carens |l (87/02--) Rio | (08/00-02/05)
Picanto | (84/04--) Rio 11l (89/11--)
Picanto Il (B5/11--) Roadster (88/99--)

0il filter 28-14 322 0005 | MOFB094

Notes

Bypass Valve Opening Pressure
[bar] 1
Diameter [mm] 68
Height [mm] 74
Thread Size M20x1,5
Screw-on Filter
with one anti-return valve

WEVLg
ORIGINAL

2uans

References
26300 2Y500

Application info

Carens | (11/00-07/02) Rio | (28/00-02/05)
Carens |l (B7/02--) Rio Il (23/@5--)

www.meyle.com 115
1888



16

Kia

Engine/Cooling/Clutch

37-14 322 0001 | MOF@162

weveg'
ORIGINAL

WKL

Application info
Sorento | (B88/02--)

37-14 322 0003 | MOFO164

WevLg'
ORIGINAL

2,

/st

Application info

Carens Il (87/82--)
Cerato (04/04--)

37-14 322 0002 | MOFO163

Weveg'
ORIGINAL

Quautt

Application info
Carens I (87/02--)
Carens Il (89/06--)
Cee’d | (12/@6-12/@9)

Qil filter

Notes

Bypass Valve Opening Pressure

[bar]

Outer diameter [mm]
Height [mm]

Thread Size

References
26310 4A000

Oil filter

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
26320 27001

Magentis Il (11/85-12/08)
Sportage |1 (09/04--)

Oil filter

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
26320 27400

Magentis Il (11/85-12/08)
Sportage Il (89/04--)

MEYLE

1.5

96.4

133.5

M26x1,5
Screw-on Filter

with seal
30.5

62.5

18

Filter Insert

with seal
32

72

10

Filter Insert

www.meyle.com
1888



MEYLE

ail filter
Notes
with seal
Inner diameter [mm] 25
Outer diameter [mm] B1
Height [mm] 121
Filter Insert
References
26320 2A0D02 26320 3C300
26320 2A300
Application info
Cee’d | (12/@6-12/@9)
Cerato (04/04--)
ail filter
Notes
with seal
Inner diameter [mm] 25
Outer diameter [mm] B6
Height [mm] 104
Filter Insert
References
26310 2A510 26320 3F100
26320 2A500 26330 3C300
Application info
Carens Il (89/06--]
Carens IV (83/13--)
Cee’d | (12/@6-12/09)
Ceed Il (B5/12--)
Optima (09/18--)
Optima IV [@9/15--)
Rio Il (83/05--)
ail filter
Notes
with seal
Inner diameter [mm] 25
Outer diameter [mm] 66
Height [mm] 131
Filter Insert
References
26320 2F200 26320 2F010

www.meyle.com
1888

Kia

Engine/Cooling/Clutch

28-14 322 0000 | MOFOB89

Picanto | (04/04--)
Rio Il (B3/05--)

WEVLE
ORIGINAL

Puane

28-14 322 0004 | MOFBO93

Rio lll (89/11--)
Sorento | (08/02--)
Soul (82/09-12/10)
Soul Il (B2/14--)
Sportage Ill (B87/10--)
Sportage IV (89/15--)
Venga (02/10--)

WEVLg
ORIGINAL

2uaus

28-14 322 0003 | MOFB@92

WEVLE
ORIGINAL

Pt

n7



18

Kia

Engine/Cooling/Clutch

28-14 322 0003 | MOF@Q92

Application info
Carnival Ill (66/86--)
Sorento Il (11/@9--)
Sorento IIl (B1/15--)

32-14 322 0006 | MOF@139

WevLg'
ORIGINAL

Guautd

Application info

Carnival | (88/99-10/@1)
Carnival Il [(01/98-10/@86)

35-14 322 0000 | MOFB149

Weveg'
ORIGINAL

Guautd

Application info

Clarus [@7/96--)
Picanto Il (B85/11--)
Pride (01/90-85/97)

Qil filter

Sportage Il (87/18--)
Sportage IV [(09/15--)

Qil filter

Notes

Bypass Valve Opening Pressure
[bar]

Diameter 1 [mm]

Diameter [mm]

Height 1 [mm]

Height [mm]

Thread Size

References
BJE15-14-302

Clarus [(87/96--)
Picanto | (84/04--)

Qil filter

Notes

Bypass Valve Opening Pressure
[bar]

Outer diameter [mm]

Height [mm]

Thread Size

References
BBY11 4302A9A

Sephia (@9/93-10/97]
Shuma | [(83/96-12/01)
Shuma Il (85/01-08/04)

MEYLE

1
B8

70.7

85

86.3

M2@x1,5

Screw-on Filter

with one anti-return valve

89315 67500

1
B65.6

B5.5

M2@x1,5

Screw-on Filter

with one anti-return valve

www.meyle.com
1888



MEYLE S

ail filter 35-14 322 0002 | MOFB@151
Notes -
Bypass Valve Opening Pressure ORIGINAL
[bar] 1 Loy
Diameter 1 [mm] 80
Diameter [mm] 83
Height 1 [mm] 74
Height [mm] 76.1
Thread Size M20x1,5

Screw-on Filter

Main Stream Filtration

with one anti-return valve
References
DK®D16 23802 26300 35503
DRF@3 23802B RFB32 3802A
26300 35502 RFB32 38028

Application info

Besta (02/96--) Rio Il (B3/@5--)

Carens Il (B7/02--) Rio 11l (89/11--)

Carens Il (89/06--) Sorento | (88/02--)
Carnival lll (06/06--) Sorento Il (11/09--)

Cee’d | (12/06-12/09) Soul (02/@9-12/10)
Cerato (04/04--) Sportage | (04/94-08/04)
Joice (02/00--) Sportage Il (89/04--)
Magentis | (85/0@1--) Sportage Il (87/10--)
Magentis Il (11/@5-12/@8) Venga (02/10--)

Opirus (09/03-09/06) Besta (@7/93-12/03)

Retona (06/99--)

www.meyle.com
1888

19



120

Kia

Steering

37-14 620 0002 | MSKD119

weveg'
ORIGINAL

WKL

Application info
Carens IV (B83/13--]

37-14 620 8001 | MSK@118

WevLg'
ORIGINAL

Guautd

Application info
Soul (82/89-12/10)

614 620 0007 | MSKBO51

WEVLE
ORIGINAL

Guputd

Application info
Magentis | (85/01--)

Steering boot kit

Notes

Inner diameter 2 [mm]
Inner diameter 1 [mm]
Height [mm]

References
57728-25000

Sportage Il (87/18--)

Steering boot kit

Notes

Inner diameter 2 [mm]
Inner diameter 1 [mm]
Height [mm]

References
57740-2K010

Venga (02/10--)

Steering boot kit

Notes

Inner diameter 2 [mm]
Inner diameter 1 [mm]
Height [mm]

References
57740-38000

MEYLE

with accessories
54.5

16

183

Front Axle Left
Front Axle Right

with accessories
47

16

172

Front Axle Left
Front Axle Right

with accessories
48

14

158

Front Axle Left
Front Axle Right

www.meyle.com
1888



MEYLE

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References

DK201 32240
DK201 32240A
DK2@3 32240

Application info

Carens | (11/80-07/02)
Carens Il (B87/02--)
Clarus [@7/96--)

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
DK2A132240

Application info

Carens | (11/80-07/02)
Cerato (04/04--)

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
565400U500

Application info
Rio Il (29/1--)

www.meyle.com
1888

M14x1,5
M16x1,5

283

Front Axle Right
Front Axle Left

DK203 32240A
DK9A2 32240

M14x1,5

M16x1,5

294

for vehicles with power steer-
ing

Front Axle Right

Front Axle Left

16X1,5

16x1,5

218

Front Axle Right
Front Axle Left

Kia

Steering

28-16 030 0001 | MARD151

WEVLE
ORIGINAL

Puane

Sephia (#9/93-18/97)
Shuma | (03/96-12/01)
Shuma Il (B5/01-08/04)

28-16 031 8010 | MARB155

WEVLE
ORIGINAL

Puane

| ————

Shuma | (83/96-12/01)
Shuma Il (05/01-88/04)

28-16 031 8022 | MARB377

WEVLE
ORIGINAL

Puanst

121



122

Kia

Steering

28-16 831 8011 | MARD156

weveg'
ORIGINAL

WKL

Application info

Cee’d | (12/06-12/@9)

28-16 831 0824/HD | MARBS511HD

Application info
Cee'd | (12/06-12/09)

28-16 @31 8026/HD | MARB513HD

WEVLE

HD

Guputd

Sa

Application info
Picanto | (04/04--)

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56540 2HOO0

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56540 2HDOD

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

Reinforced Version

References
57724 07000

MEYLE

M14x1,5
M16x1,5

162

Front Axle Right
Front Axle Left

M14x1,5
M16x1,5

162

Front Axle Left
Front Axle Right

M12x1,25
M16x1,5

290

Front Axle Left
Front Axle Right

57724 07100

www.meyle.com
1888



MEYLE

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
57224 20020

Application info
Cerato (04/04--)

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
57724 2E00D

Application info
Sportage Il (09/04--)

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
57724 38010

Application info
Magentis | (85/@1--)

www.meyle.com
1888

M14x1,5
M16x1,5

327

Front Axle Right
Front Axle Left

57724 20000

M16x1,5
M16x1,5

242

Front Axle Right
Front Axle Left

M14x1,5
M16x1,5

189

Front Axle Right
Front Axle Left

57724 3C010

Kia

Steering

37-16 831 00@5 | MARB267

WEVLE
ORIGINAL

Puane

MEI

37-16 831 0001 | MARB264

WEVLg
ORIGINAL

KON

_@

Sportage Il (87/10--)

37-16 831 0000 | MARB263

WEVLE
ORIGINAL

2uaus

123



124

Kia

Steering

28-16 @31 8@25/HD | MARB512HD

. m-_._.. LR

Application info
Sorento | (B88/02--)

28-16 831 0023/HD | MARB518HD

-

Application info
Rio | (08/0@-02/05)

37-16 831 0002 | MARB265

weveg'
ORIGINAL

Puautt

e 1)

Application info
Rio Il [83/@5--)

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

Reinforced Version

References
57731 3E010

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

Reinforced Version

References

KDX50 32240
KDX50 32240A
KDX50 322408

Axial rod

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
57724-1E000

MEYLE

M14x1,5
M18x1,5

170

Front Axle Left
Front Axle Right

57732 3EQ10

M12x1,25
M16x1,5

279

Front Axle Right
Front Axle Left

KDX53 32240
KDX53 322408

M14x1,5
M16x1,5

195

Front Axle Right
Front Axle Left

www.meyle.com
1888



MEYLE

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
DK201 32280

Application info

Carens | (11/80-07/02)
Carens Il (B87/02--)
Clarus [@7/96--)

Tie rod end

M14x1,5
M12x1,25

g5

Front Axle Right
Front Axle Left

DK20@132280A

Notes
Thread Measurement 2 M14x1,5
Thread Measurement 1 M12x1,25
Length [mm] 130

Front Axle Left
References
DK552 32240
Counterpart

28-16 020 DBO7 | MTED261

Application info
Carnival | (88/99-10/01)

Tie rod end

Notes
Thread Measurement 2 M14x1,5
Thread Measurement 1 M12x1,25
Length [mm] 130
Front Axle Right
References
DK552 32280
Counterpart

28-16 020 DDO8 | MTEB262

Application info
Carnival | (88/99-10/01)

www.meyle.com
1888

Kia

Steering

35-16 020 0001 | MTE@383

WEVLE

ORIGINAL

& Q Quapct

Sephia (#9/93-18/97)
Shuma | (03/96-12/01)
Shuma Il (B5/01-08/04)

28-16 020 0008 | MTEB262

‘\“a =

WEVLE
ORIGINAL

Puane

Carnival Il (81/99-10/06)

28-16 020 000@7 | MTEB261

(o)

= v
ORIGINAL

KON

Carnival Il (81/99-10/06)

125



Kia

Steering

28-16 020 0003 | MTEB260

weveg'
ORIGINAL

WKL

Application info
Besta (02/96--)

28-16 020 0009 | MTEB263

WevLg'

ORIGINAL

Guansy =y
‘\‘

Application info

Picanto | (84/04--)
Picanto Il (B85/11--)

37-16 020 0022 | MTERB428

-

oy
Weveg'
ORIGINAL

Quautt

Application info
Rio Il [83/@5--)

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1

References
DK710 32240

Besta (07/93-12/@3]

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References

56820 07000
F4BZ3 A130A

Rio | (08/00-02/05)

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 1E0DD

Counterpart

37-16 020 BB23 | MTED429

MEYLE

M14x1,5
M12x1,25

Outer

Front Axle Right
Front Axle Left

M12x1,25
M10x1,25

73

Outer

Front Axle Right
Front Axle Left

K99211201
MDX50@ 32280

M14x1,5
M1@x1,25

189

Front Axle Left

56820 1G300

www.meyle.com
1888



MEYLE

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 1E900

Counterpart

37-16 020 DO22 | MTED428

Application info
Rio Il (83/@5--)

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 28500

Application info
Cerato (04/04--)

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 2B000

Counterpart

37-16 B20 D@19 | MTEDB425

Application info
Sorento 11 (11/@9--)

www.meyle.com
1888

M14x1,5
M1@x1,25

189

Front Axle Right

56820 1G000

M14x1,5
M1@x1,25

80

Front Axle Right
Front Axle Left

M16x1,5
M12x1,25

229

Front Axle Left

56820 2P300

Kia

Steering

37-16 020 0023 | MTEB429

f2 WEVLE

ORIGINAL

Puane

37-16 020 0001 | MTEB414

WEVLg
ORIGINAL

KON

37-16 020 0018 | MTEB424
i

WEVLE
ORIGINAL

2uaus

127



128

Kia

Steering

37-16 820 8019 | MTE@425

weveg'
ORIGINAL

WKL

Application info
Sorento 11 (11/@9--)

37-16 020 BOO6 | MTEB417

-

WevLg'
ORIGINAL

Guautd

Application info
Sportage 11 (09/04--)

37-16 820 00@5 | MTED416

WEVLE
ORIGINAL

Guputd

Application info
Sportage |1 (09/04--)

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 2B900

Counterpart
37-16 020 BO18 | MTEB424

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 2E000

Counterpart
37-16 020 BOOS | MTED416

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 2E900

Counterpart
37-16 020 DOOG6 | MTED417

MEYLE

M16x1,5
M12x1,25

229

Front Axle Right

56820 2P0

M16x1,5
M1@x1,25

168

Front Axle Left

M16x1,5
M1@x1,25

168

Front Axle Right

www.meyle.com
1888



MEYLE s

Tie rod end 28-16 020 0018 | MTED266
Notes ]
Thread Measurement 2 M16x1,5 = ORIGINAL
Thread Measurement 1 M1@x1,25 Loy
Length [mm] 204

Front Axle Left
References

56820 2G006G

Counterpart

28-16 020 B@19 | MTED267

Application info
Carens Il (89/06--]

Tie rod end

Magentis Il (11/85-12/@8)

28-16 020 0019 | MTEB267

Notes - e
Thread Measurement 2 M16x1,5 ORIGINAL
Thread Measurement 1 M10x1,25 st
Length [mm] 204

Front Axle Right
References

56820 2G900

Counterpart
28-16 020 D@18 | MTED266

Application info

Carens Il (89/06--) Magentis I [11/@05-12/@8)

Tie rod end 28-16 020 0010 | MTED264
Notes - -
Thread Measurement 2 M14x1,5 ORIGINAL
Thread Measurement 1 M1@x1,25 Loy
Length [mm] 230

Front Axle Left

References
56820 2HO00

Counterpart
28-16 020 B@11 | MTE@265

Application info
Cee'd | (12/06-12/@9)

www.meyle.com 129
1888



Kia

Steering

28-16 020 0011 | MTEB265

-

weveg'
ORIGINAL

WKL

Application info
Cee'd | (12/06-12/@9)

37-16 020 0014 | MTEB422

E3
WEVLg .
ORIGINAL

Guautd

Application info
Soul (82/89-12/10)

37-16 820 8015 | MTE@423

.(..,4
e
ORIGINAL

Guputd

Application info
Soul (82/89-12/10)

130

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 2HO90

Counterpart

28-16 020 0010 | MTEB264

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 2K000

Counterpart

37-16 820 0015 | MTEB423

Venga (02/10--)

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 2K050

Counterpart

37-16 020 D@14 | MTER422

Venga (02/10--)

MEYLE

M14x1,5
M1@x1,25

230

Front Axle Right

M16x1,5
M1@x1,25

189

Front Axle Left

M16x1,5
M1@x1,25

189

Front Axle Right

www.meyle.com
1888



MEYLE

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 38000

Counterpart

37-16 020 0010 | MTER420

Application info
Magentis | (85/01--)

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 3E000

Counterpart

28-16 020 B0@1 | MTEB259

Application info
Sorento | (08/02--)

Tie rod end

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
56820 3E900

Counterpart

28-16 020 DDDO | MTED258

Application info
Sorento | (B8/02--)

www.meyle.com
1888

M14x1,5
M1@x1,25

169

Front Axle Left

M14x1,5
M12x1,25

156

Outer

Front Axle Left

M14x1,5
M12x1,25

156

Outer

Front Axle Right

Kia

Steering

37-16 020 0009 | MTEB419

Opirus (09/03-09/06)

WEVLE
ORIGINAL

Puane

28-16 020 0000 | MTED258

WEVLg
ORIGINAL

KON

28-16 020 0001 | MTEB259

-

WEVLg
ORIGINAL

Puaiet

131



p—
L MEYLE

37-16 020 B0A3 | MTEB415 Tie rod end
- @ Notes
ORIGINAL Thread Measurement 2 M14x1,5
FCON { Thread Measurement 1 M10x1,25
Length [mm] 72
Front Axle Right
Front Axle Left
References

56820 M2000

Application info
Joice (02/00--)

37-16 020 0010 | MTEB420 Tie rod end
- Notes
ORIGINAL Thread Measurement 2 M14x1,5
Ly Thread Measurement 1 M10x1,25
Length [mm] 169
Front Axle Right
References
57780 38010
Counterpart

37-16 020 0OGS | MTEDR419

Application info
Magentis | (85/01--) Opirus (09/03-09/06)

132 www.meyle.com
1888



MEYLE -

Ball joint 35-16 010 0001 | MBJB2@5
Notes o
Outer diameter [mm] 43 ORIGINAL

Lower (2

Front Axle Right
Front Axle Left

References
0GB30-34550A 0G030-345508

Application info
Clarus (B7/96--)

Ball joint 28-16 010 8002 | MBJB142
Notes @

with accessories === ORIGINAL
Cone Size [mm] 18 Ly

Lower
Front Axle Right
Front Axle Left

References

BK@T 345108 ll“
o oo

Application info

Retona (06/99--) Sportage | (04/94-08/04)

Ball joint 28-16 010 00@7 | MBJB145

Notes -

Cone Size [mm] 16 ORIGINAL
Lower (20

Front Axle Right
Front Axle Left

References

DK2@134550C DK20@1 34550E
DK201 345500

Application info
Sephia (89/93-10/97)

www.meyle.com
1888

133



p—
i MEYLE

28-16 010 0003 | MBJB143 Ball joint
- Notes
ORIGINAL with accessories
ey Cone Size [mm] 18
Lower
Front Axle Right
Front Axle Left
References

DK2A1-34-550A

Application info

Carens | (11/00-07/82) Shuma | [(83/96-12/01)
Sephia (89/93-18/97) Shuma Il (05/01-08/04)
35-16 010 0018 | MBJB2B7 Ball joint
- Notes
ORIGINAL Thread Size M16x1,5
uauitt UDDEI'
Front Axle Right
Front Axle Left
References
0K710 34540
Application info
Besta (02/96--] Besta (@7/93-12/03)
37-16 010 0020 | MBJB240 Ball joint
o Notes
ORIGINAL with accessories
2upct Thread Measurement 1 M12x1,25
Lower
Front Axle Right
Front Axle Left
References
51760 1GBRO 51760 1GBG1

Application info
Rio Il [83/@5--)

134 www.meyle.com
1888



MEYLE

Ball joint
Notes
Outer diameter [mm] 80
Flange Hole Diameter [mm)] 12.2
Thread Measurement 1 M12x1,25
Lower
Front Axle Right
Front Axle Left
References
51760 2EBBG 51770-2E010

Application info
Sportage Il (29/04--)

Ball joint
Notes
Thread Measurement 1 M12x1,25
Front Axle Right
Front Axle Left
References
51760-00000 51760 2HBBG
51760 2G000
Application info
Cee’d | (12/@6-12/09)
Magentis | (05/01--)
Ball joint
Notes
Thread Size M14x1,5
Lower
Front Axle Right
Front Axle Left
References
51760 38000 51761 38A00

Application info
Magentis | (85/01--)

www.meyle.com
1888

Kia

Suspension

37-16 010 0004 | MBJB232

— WEVLE

tbs-d‘ ORIGINAL

Puane

37-16 010 2019 | MBJB239

@ e

l 5 ORIGINAL
— Puaue

Magentis Il (11/85-12/08)

37-16 010 80Q9 | MBJB235

WEVLE
ORIGINAL

Puaiet

135



Kia

Suspension

37-16 010 0002 | MBJB231

weveg'
ORIGINAL

WKL

Application info
Cerato (04/04--)

28-16 010 0000 | MBJO140

WEVLE'
ORIGINAL

Puapst

Application info
Picanto | (04/04--)

37-16 010 0006 | MBJB234

weveg'
ORIGINAL

Puautt

Application info
Sorento 11 (11/89--)

136

Ball joint

Notes

Outer diameter [mm]
Thread Size

References

54503 22A00
54503 25A00
54503 31600

Venga (02/10--)

Ball joint

Notes
Outer diameter [mm)]

References
54530 07000

Ball joint

Notes

Outer diameter [mm]
Cone Size [mm]

References

54503 2BAOO
54530 2B0D0OG

MEYLE

with accessories
40

M12x1,25

Lower

Front Axle Right
Front Axle Left

54530 2F000
54530 31600

40

Lower

Front Axle Right
Front Axle Left

43

20

Lower

Front Axle Right
Front Axle Left

54530 3B000

www.meyle.com
1888



MEYLE -

Ball joint 37-16 010 8@27 | MBJB311

Notes -

Front Axle Right ORIGINAL
Front Axle Left o

References
54530 35000

Application info
Sportage Il (87/18--)

Ball joint 37-16 010 8026 | MBJB337

Notes -

Front Axle Right ORIGINAL
Front Axle Left L

References
54530 27010 54530 35100

Application info

Cee’d Il [(85/12--]

Ball joint 28-16 010 2001 | MBJB141

Notes -
Lower ORIGINAL
Front Axle Right Ly
Front Axle Left

References

54530 3J000 54530 40000

Application info
Carnival lll (86/06--)

www.meyle.com 137
1888



138

Kia

Suspension

28-16 010 0005 | MBJD144

weveg'
ORIGINAL

WKL

Application info
Sorento | (B88/02--)

28-16 050 0B24 | MCAB354

WevLg'
ORIGINAL

Guautd

Application info
Retona (@6/99--]

28-16 050 0010 | MCAB346

WEVLE
ORIGINAL

Guputd

Application info
Rio | (08/0@-02/05)

MEYLE

Ball joint
Notes
Thread Size M20x1,5
Lower
Front Axle Right
Front Axle Left
References
54570 3EQDO 54570 3E100
54570 3EQ@1
Control arm
Notes
Cast Steel
with ball joint
with rubber mounting
Control Arm
Upper
Front Axle Right
Front Axle Left
References

DK®@11 34200 DKB@11 34200A

Sportage | (04/94-08/04)

Control arm

Notes

Cast Steel

with ball joint

with rubber mounting
Control Arm

Lower

Front Axle Right

References
DK30DB 343008

Counterpart
28-16 050 0011 | MCAB347

www.meyle.com
1888



MEYLE

Control arm

Notes
Cast Steel
with ball joint
with rubber mounting
Control Arm
Lower
Front Axle Left
References
DK30B 343508
Counterpart

28-16 050 0010 | MCAB346

Application info
Rio | (08/00-02/05)

Control arm

Notes
Steel
with ball joint
with rubber mounting
Control Arm
Lower
Front Axle Right
References
DK552 34300A DK552 34300C
DK552 343008
Counterpart

28-16 050 B@17 | MCAB351

Application info
Carnival | (88/99-10/01)

Control arm

Notes
Steel
with ball joint
with rubber mounting
Control Arm
Lower
Front Axle Left
References
DK552 34350A DK552 34350C
DK552 343508
Counterpart

28-16 050 0016 | MCAB350

www.meyle.com
1888

Kia

Suspension

28-16 050 0011 | MCAB347

WEVLE
ORIGINAL

Puane

28-16 050 0016 | MCAB350

WEVLE
ORIGINAL

Puane

Carnival Il [81/99-10/06)

28-16 050 0017 | MCAB351

WEVLE
ORIGINAL

Puaus

139



140

Kia

Suspension

28-16 050 0017 | MCAB351

Application info
Carnival | (08/99-10/01)

28-16 050 00BG6 | MCAB342

ORIGINAL

K2

Application info
Sorento | (08/02--)

28-16 050 0007 | MCAB343

WEVLE 9
ORIGINAL

Puat

Application info
Sorento | (B88/02--)

MEYLE

Control arm

Carnival Il (81/99-10/06)

Control arm

Notes
Cast Steel
with ball joint
with rubber mounting
Control Arm
Upper
Front Axle Left
References
54410 3E00O 54410 3EQ@2
54410 3E001
Counterpart
28-16 050 0OO7 | MCAB343
Control arm
Notes
Cast Steel
with ball joint
with rubber mounting
Control Arm
Upper
Front Axle Right
References
54420 3EQDD 54420 3E@D2
54420 3EGD1
Counterpart

28-16 050 DOO6 | MCAB342

www.meyle.com
1888



MEYLE -

Control arm 28-16 050 0020 | MCAB352

Notes
Sheet Steel ORIGINAL
Control Arm (20
Lower

Front Axle Left

References

54500 07100 54500 07250
54500 07200

Parts list

28-16 010 000 | MBJD140 Ball joint

28-14 610 BBO4 | MCBB357 Control arm bushing
Counterpart

28-16 050 0021 | MCAB353

Application info
Picanto | (04/04--)

Control arm 37-16 850 B@47 | MCABB36

Notes -
Sheet Steel ORIGINAL
without ball joint Ly
with rubber mounting
Control Arm
Lower
Front Axle Left

References

54500 0J000 54500 1EQDD

Parts list -

37-14 610 8017 | MCBB259 Control arm bushing

37-14 610 0018 | MCBO260 Control arm bushing

Counterpart

37-16 050 0048 | MCARB37

Application info
Rio Il (83/@5--)

www.meyle.com
1888

141



p—
i MEYLE

37-16 050 0045 | MCADE34 Control arm
o Notes
ORIGINAL Sheet Steel
WLN without ball joint
with rubber mounting
Control Arm
Lower
Front Axle Left
References
54500 2HBOO 54500 2H100
Parts list
37-14 610 BBO6 | MCBB255 Control arm bushing
37-14 610 0016 | MCBO258 Control arm bushing
Counterpart

37-16 B50 0046 | MCABB35

Application info
Cee’d | (12/@6-12/09)

28-16 @50 0013 | MCAB349 Control arm
o Notes
ORIGINAL Steel
KON with rubber mounting
with ball joint
Control Arm
Lower

Front Axle Left

References
54500 FODOO

Counterpart
28-16 B50 D@12 | MCAB348

Application info
Rio | (08/00-02/05)

142 www.meyle.com
1888



MEYLE -

Control arm 28-16 @850 00821 | MCAB353

Notes
Sheet Steel ORIGINAL
Control Arm (20
Lower

Front Axle Right

References

5450107100 5450107250
5450107200

Parts list

28-16 010 000 | MBJD140 Ball joint

28-14 610 BBO4 | MCBB357 Control arm bushing
Counterpart

28-16 050 BB20 | MCAB352

Application info
Picanto | (04/04--)

Control arm 37-16 850 0048 | MCABB37

Notes -
Sheet Steel ORIGINAL
without ball joint Ly
with rubber mounting
Control Arm
Lower
Front Axle Right

References

54501 0J000 54501 1E000

Parts list

37-14 610 8017 | MCBB259 Control arm bushing

37-14 610 0018 | MCBO260 Control arm bushing

Counterpart

37-16 B50 0047 | MCABB36

Application info
Rio Il (83/@5--)

www.meyle.com 143
1888



144

p—
i MEYLE

37-16 050 8046 | MCABB35 Control arm
o Notes
ORIGINAL Sheet Steel
WLN without ball joint
with rubber mounting
Control Arm
Lower
Front Axle Right
References
54501 2H000 54501 2H100
Parts list
37-14 610 BBO6 | MCBB255 Control arm bushing
37-14 610 0016 | MCBO258 Control arm bushing
Counterpart

37-16 B50 0045 | MCADB34

Application info
Cee’d | (12/@6-12/09)

28-16 050 0012 | MCADB348 Control arm
o Notes
ORIGINAL Steel
KON with rubber mounting
with ball joint
Control Arm
Lower

Front Axle Right

References
54501 FDDOO

Counterpart
28-16 B50 0?13 | MCAB349

Application info
Rio | (08/00-02/05)

www.meyle.com
1888



MEYLE -

Control arm 28-16 050 0008 | MCAB344
Notes -
Sheet Steel ORIGINAL
Thread Size M20x1,5 Loy
with rubber mounting
with ball joint
Control Arm
Lower
Front Axle Left
References
54510 3EQDD 54510 3EBB2

54510 3E001

Parts list

28-16 010 OGS | MBJD144 Ball joint

28-14 610 0@O1 | MCMBB56 Mount, control arm
28-14 610 B0GG | MCBO188 Control arm bushing
28-14 610 0@B2 | MCBB189 Control arm bushing
Counterpart

28-16 050 BBOY | MCAB345

Application info
Sorento | (08/02--)

Control arm 28-16 050 0009 | MCAB345
Notes -
Sheet Steel ORIGINAL
Thread Size M20x1,5 Loy
with rubber mounting
with ball joint
Control Arm
Lower
Front Axle Right
References
54520 3EQOOD 54520 3EBB2

54520 3E0D1

Parts list

28-16 010 OGS | MBJD144 Ball joint

28-14 610 0@@1 | MCMBB56 Mount, control arm
28-14 610 BOGG | MCBO188 Control arm bushing
28-14 610 0@@2 | MCBB189 Control arm bushing
Counterpart

28-16 050 DDD8 | MCAB344

Application info
Sorento | (88/02--)

www.meyle.com
1888

145



146

Kia

Suspension

28-16 050 0@38 | MCAB355

weveg'
ORIGINAL

WKL

Application info
Cee'd | (12/06-12/@9)

37-14 610 0018 | MCBO260@

WevLg'
ORIGINAL

Guautd

Application info
Rio Il (83/@5--)

37-14 610 8016 | MCBO258

WEVLE
ORIGINAL

Guputd

Application info
Cee'd | (12/06-12/89)

MEYLE

Control arm

Notes

Length [mm]

References
55250 1HOO0

Control arm bushing

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
54551 1E00D

Rio 11l (29/11--]

Control arm bushing

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
54551 2HOOD

Sportage Il (09/04--)

Steel

195

with ball joint

with rubber mounting
Control Arm

Rear Axle Right

Rear Axle Left

55250 2HDBD

Lower
Front Axle Right
Front Axle Left

54551 2K000

13

38

55

inner

Lower

Front Axle Right
Front Axle Left

www.meyle.com
1888



MEYLE -

Control arm bushing 28-14 610 0000 | MCBO188
Notes -
Inner diameter [mm] 18 ORIGINAL
Outer diameter [mm] 51 Qo
Height [mm] 69

inner

Lower

Front Axle Right
Front Axle Left

References
54580 3E0D1

Application info
Sorento | (88/02--)

Control arm bushing 28-14 610 0002 | MCBO189
Notes o
Inner diameter [mm] 18 ORIGINAL
Outer diameter [mm] 54.5 g
Height 1[mm] 69

inner

Lower

Front Axle Right
Front Axle Left

References
54580 3E002

Application info
Sorento | (B8/02--)

Control arm bushing 28-14 610 0004 | MCBB357
Notes o
Inner diameter [mm] 12 ORIGINAL
Outer diameter [mm] 60 g
Height [mm] 55

Rear

Lower

Front Axle Right
Front Axle Left

References
54584 07000

Application info
Picanto | (04/04--)

www.meyle.com
1888

147



Kia

Suspension

37-14 610 8017 | MCBB@259

weveg'
ORIGINAL

WKL

Application info
Rio Il (83/05--)

37-14 610 B0G6 | MCBB255

WevLg'
ORIGINAL

Guautd

Application info
Cee’d | (12/06-12/09)
Magentis | (85/01--)
Magentis Il (11/85-12/08)

37-14 610 0026 | MCBB268

Weveg'
ORIGINAL

Quat

Application info
Cerato (04/04--)

148

MEYLE

Control arm bushing

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
54584 16000

Control arm bushing

14

B6

60

Rear

Lower

Front Axle Right
Front Axle Left

Notes
Inner diameter [mm] 14
Outer diameter [mm] 66
Height [mm] 60
Front
Lower
Front Axle Right
Front Axle Left
References
54584 28000 54584 2HOOO
54584 2EQOD 54584 38100

Opirus (09/03-09/06)
Sorento I [11/@9--)
Sportage |1 (09/04--)

Control arm bushing

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
54584 2F000

Lower
Front Axle Right
Front Axle Left

www.meyle.com
1888



MEYLE

Control arm bushing

Kia

Suspension

37-14 610 8027 | MCBB354

Notes -
Inner diameter [mm] 14 ORIGINAL
Outer diameter [mm] 70 [
Height [mm] 60

Front Axle Right

Front Axle Left
References
54584 25000

Application info
Sportage Il (87/18--)

Mount, axle rod 37-14 711 000 | MAMBB25

Notes -

ORIGINAL

KON

Outer diameter [mm] 70
for drag link
Rear Axle Right
Rear Axle Left

References
55543 2HO00

Application info
Cee'd | (12/06-12/@9)

Mount, control arm 28-14 610 0001 | MCMDO56

Notes -
Outer diameter [mm] 54 ORIGINAL
Height [mm] 27 2yt
Centre
Front Axle Right
Front Axle Left
References
54590 3E0DB

Application info
Sorento | (88/02--)

www.meyle.com 149
1888



Kia

Suspension

37-14 711 a@@2 | MCMO143

weveg'
ORIGINAL

WKL

Application info

Carens Il (07/@2--)
Carens Il (09/06--)
Carnival Ill (66/86--)
Cee’d | (12/@6-12/@9)

37-14 615 0001 | MSBO185

WEVLE
ORIGINAL

Guput

Application info
Cee'd | (12/06-12/89)

37-14 715 0000 |

Weveg'
ORIGINAL

Quayt

Application info
Sorento 11 (11/89--)

150

MEYLE

Mount, control arm

Notes
Inner diameter [mm] 14
Outer diameter [mm] 44
Height [mm] 59
Rear Axle Left
Rear Axle Right
References

55130-4D000

Optima (09/10--]
Sorento |1 (11/89--)
Sportage Il (87/18--)

Mount, stabilizer

Notes
Inner diameter [mm] 22
Front Axle Right
Front Axle Left
References
54813 2HO0DO

Mount, stahilizer

Notes

Rear Axle Right
Rear Axle Left

References
55513-2B200

www.meyle.com
1888



MEYLE i

Suspension

Mount, stabilizer 37-14 615 0005 | MSBB501

Notes

WEVLE
ORIGINAL

Puane

Rear Axle

References
55513-3N100

Application info

Optima [(09/10--) Sportage Il (87/10--)

Mount, stahilizer 37-14 615 0008 | MSBB499
Notes o
Inner diameter [mm] 15 ORIGINAL

Rear Axle st
References

55513-3N200

Application info

Cee’d Il [(85/12--) Sportage Il (87/18--)

Mount, stabhilizer 37-14 615 0009 |

Notes

WEVLE
ORIGINAL

2uaus

Rear Axle

References
55513-3N300

Application info
Sportage Il [(87/10--)

www.meyle.com
1888

151



Kia

Suspension

28-16 060 0006 | MSLB203

WEVLE
ORIGINAL
WKL

Application info
Sportage | (04/94-08/04)

35-16 060 BB0@3 | MSLB385

WevLg'
ORIGINAL

Guautd

Application info
Clarus (@7/96--)

28-16 060 0024 | MSLB219

WEVLE
ORIGINAL

Guputd

=y

9%

Application info
Carens | (11/00-07/02)

152

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
DKO11 34160A

Stabilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
DKBA3 28170A

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
DK2FA 34150

Counterpart

28-16 060 D@27 | MSLB222

Carens Il (87/02--)

MEYLE

Coupling Rod
M16x1,25
M1@x1,25

190

Front Axle Right
Front Axle Left

Coupling Rod
M1@x1,25
M1@x1,25

88

Rear Axle Right
Rear Axle Left

Coupling Rod
M1@x1,25
M1@x1,25

280

Front Axle Right

www.meyle.com
1888



MEYLE

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
DK2FA 34170

Counterpart

28-16 D60 BB24 | MSLB219

Application info
Carens | (11/@00-07/02)

Stabhilizer link

Notes

Thread Measurement 1
Length [mm]

References

DK2A1 34150A
DK2A1 341508

Application info

Carens | (11/00-07/02)
Carens Il (B7/@2--)
Sephia (089/93-18/97)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
DK2N134150A

Counterpart

28-16 060 BB14 | MSLD210

Application info
Shuma | (83/96-12/0@1)

www.meyle.com
1888

Coupling Rod
M1@x1,25
M1@x1,25

280

Front Axle Left

Coupling Rod
M10x1,25

=]}

Rear Axle Right
Rear Axle Left

DK2M2 28150

Coupling Rod
M1@x1,25
M1@x1,25

274

Front Axle Right

Kia

Suspension

28-16 060 0027 | MSL@B222

WEVLE
ORIGINAL

Puane

a

Carens Il (87/02--)

28-16 060 00@9 | MSLO206

WEVLg
ORIGINAL

2uaus

Shuma | (083/96-12/01)
Shuma Il (B5/01-08/04)

28-16 060 0020 | MSLB215

WEVLE
ORIGINAL

2N

Shuma Il (85/01-88/@4)

153



154

Kia

Suspension

28-16 060 0014 | MSLB210

weveg'
ORIGINAL

WKL

Application info
Shuma | (83/96-12/@1)

28-16 060 BB26/HD | MSLB221HD

Application info
Rio | (08/00-02/05)

28-16 860 8@21/HD | MSLB216HD

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
DK2N134170A

Counterpart
28-16 D60 BB20 | MSLD215

Shuma Il (85/01-08/04)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]
Reinforced Version

References
DK33C 34150A

Counterpart
28-16 060 BO21/HD | MSLB216HD

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

Reinforced Version

References
DK33C 34160A

Counterpart
28-16 060 BB26/HD | MSLB221HD

MEYLE

Coupling Rod
M1@x1,25
M1@x1,25

274

Front Axle Left

with spanner attachment
Coupling Rod

M1@x1,5

M10x1,5

240

Front Axle Right

with spanner attachment
Coupling Rod

M18x1,5

M1@x1,5

240

Front Axle Left

www.meyle.com
1888



MEYLE -

28-16 860 BB21/HD | MSLB216HD

Stabhilizer link

Application info
Rio | (08/00-02/05)

Stabhilizer link 28-16 060 B@19/HD | MSLB214HD

Notes
with spanner attachment
Coupling Rod

P
Thread Measurement 2 M12X1,5
Thread Measurement 1 M12X1,5
Length [mm] B4 |

Front Axle Right

Front Axle Left = = =
Reinforced Version LB | —

= .

References
DK552 34160B

Application info

Carnival | (68/99-10/01) Carnival Il (#1/99-10/086)

Stahilizer link 37-16 060 D@48 | MSLB587
Notes
Coupling Rod ORIGINAL
Thread Size M1@X1,25 Qo
Length [mm] 190
Front Axle Right . .
Front Axle Left
References ' .
1325110001 54719 43001
1325110003 * i "
O © C
- N .. Z
Application info
Sorento | (08/02--)
Stahilizer link 28-16 060 0013 | MSLD209
Notes o
Coupling Rod ORIGINAL
Thread Measurement 2 M1@x1,25 Loy
Thread Measurement 1 M12x1,25
Length [mm] 154
Front Axle Right
Front Axle Left
References
54810 3EQRO

www.meyle.com
1888

155



156

Kia

Suspension

28-16 060 0013 | MSLB209

Application info
Sorento | (B88/02--)

28-16 060 B@22/HD | MSLB217HD

&S

P

Application info
Sorento | (08/02--)

28-16 060 B@11/HD | MSLB2@87HD

—

Application info
Sorento | (B88/02--)

MEYLE

Stabilizer link

Stabhilizer link

Notes
with spanner attachment
Coupling Rod

Thread Measurement 2 M12X1,5

Thread Measurement 1 M12X1,5

Length [mm] 85
Front Axle Left
Reinforced Version

References

54811 3E010 54811 3E110

Counterpart
28-16 860 B@11/HD | MSLB207HD

Stabilizer link

Notes
with spanner attachment
Coupling Rod

Thread Measurement 2 M12X1,5

Thread Measurement 1 M12X1,5

Length [mm] 85
Front Axle Right
Reinforced Version

References

54811 3E060 54811 3E160

Counterpart
28-16 D60 B@22/HD | MSLB217HD

www.meyle.com
1888



MEYLE

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
54820 FDOOO

Counterpart

28-16 D60 DDG8 | MSLB2@5

Application info
Rio | (08/00-02/05)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]
Reinforced Version

References
54830 07000

Counterpart

28-16 D60 BO25/HD | MSLB220HD

Application info
Picanto | (04/04--)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
54830 07000

Counterpart

28-16 060 BB36 | MSLB779

www.meyle.com
1888

Coupling Rod
M1@x1,25
M1@x1,25

218

Front Axle Left

with spanner attachment
Coupling Rod

M10@x1,5

M10x1,5

229

Front Axle Left

with spanner attachment
Coupling Rod

M18x1,5

M1@x1,5

229

Front Axle Left

Kia

Suspension

28-16 060 00A@7 | MSLB204

WEVLE
ORIGINAL

Puane

28-16 060 BB23/HD | MSLB218HD

28-16 060 B@35 | MSLB778

WEVLg
ORIGINAL

WKZON

157



158

Kia

Suspension

28-16 060 00835 | MSLO778

Application info
Picanto | (04/04--)

37-16 060 BB28/HD | MSLB453HD

Application info
Sportage Il (89/04--)

37-16 060 D@57 | MSLDBBEG

weveg'
ORIGINAL

WKL

& H

Application info
Sportage |1 (09/04--)

Stabhilizer link

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

Reinforced Version

References
54830 1FO00

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
54830 1FO00

MEYLE

with spanner attachment
Coupling Rod

M12X1,5

M12X1,5

237

Front Axle Right

Front Axle Left

with spanner attachment
Coupling Rod

M12X1,5

M12X1,5

237

Front Axle Right

Front Axle Left

www.meyle.com
1888



MEYLE

Stabilizer link

Notes
with spanner attachment
Coupling Rod

Thread Measurement 2 M12x1,75

Thread Measurement 1 M12x1,75

Length [mm] 285
Front Axle Left
Reinforced Version

References
54830-1E000 54830 1G000D
54830-1E100 54830 16500

Counterpart
37-16 D60 B@34/HD | MSLB459HD

Application info

Rio Il (83/@5--)
Stabilizer link
Notes
Coupling Rod
Thread Measurement 2 M1@x1,25
Thread Measurement 1 M1@x1,25

Length [mm] 216
Front Axle Left

References
54830 1J000

Counterpart
37-16 D60 DD40 | MSLO463

Application info
Picanto Il [B5/11--)

Stabilizer link

Notes
with spanner attachment
Coupling Rod

Thread Measurement 2 M12X1,5

Thread Measurement 1 M12X1,5

Length [mm] 341
Front Axle Left
Reinforced Version

References
54830 2B000 54830 2B200

Counterpart
37-16 060 B@31/HD | MSLB456HD

www.meyle.com
1888

Kia

Suspension

37-16 060 B@36/HD | MSLB461HD

37-16 060 B@39 | MSLOB462

WEVLE
ORIGINAL

Puaiet

Venga (02/10--)

37-16 060 B@32/HD | MSLB457HD

' VIENIECS

159



p—
i MEYLE

37-16 060 B@32/HD | MSLB457HD Stabilizer link

Application info
Sorento 11 (11/@9--)

28-16 060 B@17/HD | MSLB212HD Stahilizer link
Notes
with spanner attachment
Coupling Rod
- Thread Measurement 2 M10x1,5

1 Thread Measurement 1 M1@x1,5
Length [mm] 250.5
{ = a Front Axle Left

- Reinforced Version
;A
References
54830 2F000
Counterpart

28-16 060 B@18/HD | MSLB213HD

Application info
Cerato (04/04--)

28-16 060 0001 | MSLO@198 Stabhilizer link
- Notes
ORIGINAL Coupling Rod
L Thread Measurement 2 M12x1,25
Thread Measurement 1 M12x1,25
Length [mm] 241

Front Axle Right
Front Axle Left

References
54830 26000

Application info

Carens Il (B7/@2--] Magentis Il (11/@5-12/@8)
Carens Il (89/06--)

160 www.meyle.com
1888



MEYLE

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References

54830 2HBLO
54830 2HB01

Application info
Cee’d | (12/06-12/@9)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

Reinforced Version

References
54830 25200

Application info
Sportage Ill (B87/10--)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
54830 38100

Application info
Magentis | (05/01--)

www.meyle.com
1888

Coupling Rod
M12x1,25
M12x1,25

243

Front Axle Right
Front Axle Left

54830 2H100
54830 2H200

with spanner attachment
Coupling Rod

M12X1,5

M12x1,5

267

Front Axle Right

Front Axle Left

54830-3W300

Coupling Rod
M1@x1,25
M1@x1,25

104

Front Axle Right
Front Axle Left

54830 38110

Kia

Suspension

28-16 060 0028 | MSLB223

4;;‘

WEVLE
ORIGINAL

Puane

37-16 060 0@41/HD | MSLB464HD

28-16 060 0012 | MSLB208

Opirus (09/03-09/06)

WEVLg
ORIGINAL

Puaiet

161



162

Kia

Suspension

28-16 060 0004 | MSLD201

weveg'
ORIGINAL

WKL

Application info
Carnival lll (86/06--]

28-16 060 0008 | MSLB205

WEVLE'
ORIGINAL

Puapst

Application info
Rio | (08/00-02/05)

28-16 060 BB25/HD | MSLB220HD

Application info
Picanto | (04/04--)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
54830 40000

Counterpart

28-16 D60 BG5S | MSLB202

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
54830 FDOOO

Counterpart

28-16 060 BDOO7 | MSLD204

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]
Reinforced Version

References
54840 07000

Counterpart

28-16 060 B@23/HD | MSLB218HD

MEYLE

Coupling Rod
M12x1,25
M12x1,25

322

Front Axle Left

Coupling Rod
M10x1,25
M10x1,25

218

Front Axle Right

with spanner attachment
Coupling Rod

M1@x1,5

M1@x1,5

229

Front Axle Right

www.meyle.com
1888



MEYLE

Stabilizer link
Notes
with spanner attachment
Coupling Rod
Thread Measurement 2 M1@x1,5
Thread Measurement 1 M10x1,5
Length [mm] 229
Front Axle Right
References

54840 07000

Counterpart
28-16 060 D@35 | MSLB778

Application info
Picanto | (04/04--)

Stabhilizer link

Notes
with spanner attachment
Coupling Rod

Thread Measurement 2 M12x1,75

Thread Measurement 1 M12x1,75

Length [mm] 285
Front Axle Right
Reinforced Version

References

54840 1EQDQ 54840 1G000D
54840 1E100 54840 1G500
Counterpart

37-16 D60 B@36/HD | MSLB4B1HD

Application info

Rio 1l (83/@5--)
Stabilizer link
Notes
Coupling Rod
Thread Measurement 2 M1@x1,25
Thread Measurement 1 M1@x1,25

Length [mm] 216
Front Axle Right

References

54840 1J000

Counterpart
37-16 060 BO39 | MSLD462

www.meyle.com
1888

Kia

Suspension

28-16 060 0036 | MSLB779

WEVLE
ORIGINAL

Puane

)

8
i

|

37-16 060 BB34/HD | MSLB459HD

37-16 060 0040 | MSLB463

WEVLg
ORIGINAL

Puane

163



Kia

Suspension

37-16 060 0040 | MSLB463

Application info
Picanto Il (B85/11--)

37-16 060 8@31/HD | MSLB456HD

=

Application info
Sorento 1l (11/09--)

28-16 060 B@18/HD | MSLB213HD

Application info
Cerato (04/04--)

164

MEYLE

Stabhilizer link

Venga (02/10--)

Stabhilizer link

Notes
with spanner attachment
Coupling Rod

Thread Measurement 2 M12X1,5

Thread Measurement 1 M12X1,5

Length [mm] 341

Front Axle Right
Reinforced Version

References

54840 2BOO0D 54840 2B200

Counterpart
37-16 B6@ B@32/HD | MSLB457HD

Stabilizer link

Notes
with spanner attachment
Coupling Rod

Thread Measurement 2 M1@x1,5

Thread Measurement 1 M10x1,5

Length [mm] 250.5

Front Axle Right
Reinforced Version

References
54840 2F000

Counterpart
28-16 060 B@B17/HD | MSLB212HD

www.meyle.com
1888



MEYLE -

Stabhilizer link 28-16 060 0005 | MSLB202
Notes
Coupling Rod ORIGINAL
Thread Measurement 2 M12x1,25 Qo
Thread Measurement 1 M12x1,25
Length [mm] 322 -
Front Axle Right
References
54840 4D000
Counterpart

28-16 D60 BBD4 | MSLD201

Application info
Carnival lll [86/06--)

Stahilizer link 28-16 @860 00@15/HD | MSLB211HD
Notes
Coupling Rod
Thread Measurement 2 M1@x1,5
Thread Measurement 1 M1@x1,5
Length [mm] 130

Rear Axle Right
Rear Axle Left
Reinforced Version

References
55530 17000 55530 17010

Application info
Cerato (04/04--)

Stabhilizer link 37-16 060 B@10/HD | MSLB436HD
Notes
with spanner attachment
Coupling Rod
Thread Measurement 2 M12X1,5 A =
Thread Measurement 1 M12X1,5 .
Length [mm] 220

Rear Axle Right
Rear Axle Left

Reinforced Version

References
55530-1FO00

Application info
Sportage Il (09/04--)

www.meyle.com 165
1888



166

Kia

Suspension

37-16 B60 @53 | MSLB862

weveg'
ORIGINAL

WKL

Application info
Sportage |1 (09/04--)

28-16 060 B@29 | MSLB224

WevLg'
ORIGINAL

Guautd

Application info
Cee'd | (12/06-12/09)

37-16 060 BB33/HD | MSLB458HD

Application info
Sorento 11 (11/@9--)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
55530-1F000

Stabilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References

55530 THOOO
55530 1H100

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

Reinforced Version

References
55530 28000

MEYLE

with spanner attachment
Coupling Rod

M12X1,5

M12X1,5

220

Rear Axle Right

Rear Axle Left

Coupling Rod
M1@x1,25
M1@x1,25

170

Rear Axle Right
Rear Axle Left

55530 2HOBOD

Coupling Rod
M12X1,5
M12X1,5

g9

Rear Axle Right
Rear Axle Left

55530 2B200

www.meyle.com
1888



MEYLE

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]

References
55530 25100

Application info
Sportage Il (87/18--)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]
Reinforced Version

References
55580 3E0DD

Counterpart

28-16 060 BOO3/HD | MSLB2@BHD

Application info
Sorento | (88/02--)

Stabhilizer link

Notes

Thread Measurement 2
Thread Measurement 1
Length [mm]
Reinforced Version

References
55580 3E050

Counterpart
28-16 060 BOV2/HD | MSLB198HD

www.meyle.com
1888

Coupling Rod
M12x1,25
M12x1,25

140

Rear Axle Right
Rear Axle Left

55530 25200

with spanner attachment
Coupling Rod

M12X1,5

M12X1,5

120

Rear Axle Left

with spanner attachment
Coupling Rod

M12X1,5

M12X1,5

120

Rear Axle Right

Kia

Suspension

37-16 060 D@42 | MSLB4E65

WEVLE
ORIGINAL

Puane

28-16 060 80@2/HD | MSL@199HD

28-16 060 BBO3/HD | MSLB2BBHD

167



p—
i MEYLE

28-16 060 BBO3/HD | MSLB2BBHD Stabilizer link

Application info
Sorento | (B88/02--)

35-16 060 0002 | MSLB384 Stahilizer link
T Notes
ORIGINAL " CEIU[J”FIQ Rod
@ S5 Thread Measurement 2 M10x1,25
Thread Measurement 1 M1@x1,25
Length [mm] 105
Front Axle Right
References
KGA2A 34150 KGA2A 34150B
KGA2A 34150A
Counterpart

35-16 060 BBO1 | MSLB38B3

Application info
Clarus (@7/96--)

35-16 060 0001 | MSLB383 Stabhilizer link
Notes
ORIGINAL & ) CUU[J”FIQ Rod
L Y = Thread Measurement 2 M1@x1,25
Thread Measurement 1 M10@x1,25
Length [mm] 105
Front Axle Left
References
KGA2A 34170 KGA2A 34170B
KGA2A 34170A
Counterpart

35-16 060 BB@2 | MSLDB3B4

Application info
Clarus (@7/96--)

168 www.meyle.com
1888



d MEYLE llE

Dust cover kit, shock absorber 28-14 640 0000 | MSCO138
Notes
Kit
Front Axle
Application info
Cee’d | (12/06-12/09)
Dust cover kit, shock ahsorber 37-14 640 0000 | MSCOD80O
Notes -
Kit ORIGINAL
Front Axle st
Application info
Sportage Il (09/04--)
Dust cover kit, shock ahsorher 37-14 740 0000 | MSCOB81
Notes -
Kit
Rear Axle Oyt
Application info
Sorento 11 (11/@9--) Sportage |l (89/04--)

www.meyle.com 169
1888



170

Kia

Suspension

weveg'
ORIGINAL

WKL

Application info
Picanto | (04/04--)

28-26 623 0005 | MSABGE20

WevLg'
ORIGINAL

Guautd

Application info
Picanto | (04/04--)

37-26 623 0014 | MSAB390

WEVLE
ORIGINAL

Guputd

Application info
Rio Il [(@3/05--)

MEYLE

Rubber stop, suspension

Notes
Height [mm] 106
Required guantity 2

Rear Axle
References

55326 07100

Picanto Il (85/11--)

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Front Axle Left
References
54650 07100 54650 07200
Counterpart

28-26 623 0004 | MSARB19

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Front Axle Left
References
54650 1G200 54650 1G400
Counterpart

37-26 623 B@15 | MSAB391

www.meyle.com
1888



MEYLE

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Front Axle Left
References
54651 1HOOO 54651 1H100
Counterpart

28-26 623 0008 | MSABB37

Application info
Cee’d | (12/06-12/@9)

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Front Axle Right
References
54651 2E201 54661 2E500

54651 2E500

Counterpart
37-26 623 BB12 | MSAB388

Application info
Sportage Il (89/04--)

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Front Axle Right
References
54660 07100 54660 07200
Counterpart

28-26 623 B0O05 | MSADBE20

Application info
Picanto | (04/04--]

www.meyle.com
1888

Kia

Suspension

28-26 623 0008 | MSADB36

WEVLE
ORIGINAL

Puane

37-26 623 0013 | MSAB389

28-26 623 0004 | MSADBB19

WEVLg
ORIGINAL

Puaiet

WEVLe
ORIGINAL
KON

171



172

Kia

Suspension

weveg'
ORIGINAL

WKL

Application info
Rio Il (83/05--)

28-26 623 0009 | MSABB37

WevLg'
ORIGINAL

Guautd

Application info
Cee'd | (12/06-12/09)

37-26 623 0012 | MSAD388

WEVLE
ORIGINAL

Guputd

Application info
Sportage Il (09/04--)

MEYLE

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Front Axle Right
References
54660 16200 54660 1G400
Counterpart

37-26 623 0014 | MSAB390

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Front Axle Right
References

54661 1HDBO 54661 1H100

Counterpart
28-26 623 008 | MSADB36

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Front Axle Left
References

54651 2E500
54661 2E201

54661 2E500

Counterpart
37-26 623 0013 | MSAB389

www.meyle.com
1888



MEYLE

Shock absorber

Notes
Bottom eye
Top pin
Gas Pressure
Twin-Tube
Rear Axle
References
55300 1Y100 55310 07100
55300 1Y200 55310 07200

Application info
Picanto | (04/04--)

Shock absorber

Notes

Bottom Fork

Top pin

Gas Pressure

Twin-Tube

Rear Axle
References
55310 THOGO 55311 1H100
55310 THE®3 55311 1H200
55310 1H100 55311 1H500
55310 1H182 55311 1HE00
55310 TH200 553112L000
55310 1H201 553112L100
55310 1H202 553112L200
5531110400 55311 2L600
55311 1HRO0 55311 2R200

Application info
Cee’d | (12/06-12/@8)

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Rear Axle Left
References
55351 2E501 55361 2E501

55361 2E201

Counterpart
37-26 723 00@2 | MSAB399

www.meyle.com
1888

Kia

Suspension

28-26 725 0002 | MSABG44

WEVLE
ORIGINAL

Puane

Picanto Il [85/11--)

37-26 725 0007 | MSABE38

WEVLg
ORIGINAL

KON

Cee'd Il (B5/12--)

37-26 723 0003 | MSAB400

WEVLg

ORIGINAL

Puane

173



174

Kia

Suspension

37-26 723 0003 | MSAB400

Application info
Sportage |1 (09/04--)

37-26 723 8002 | MSAB399

WevLg'
ORIGINAL

K2

Application info
Sportage Il (89/04--)

214 770 0001 | MMB0OO14

WEYLE' Ge\““any

ORIGINAL

WKL

274
>
[=]

Application info

Carens Il (89/06--)
Cee’d | (12/06-12/@9)

014 098 8024 | MWB0OOO1

WEVLE'
ORIGINAL

Guaue

MEYLE

Shock absorber

Shock absorber

Notes
Suspension Strut
Gas Pressure
Twin-Tube
Rear Axle Right
References

55351 2E202
55351 2E501

55361 2E501

Counterpart
37-26 723 0003 | MSAD400

Strut mount bearing

Notes

Suspension Strut
Inner diameter [mm] B6.5
Outer diameter [mm] g9
Height [mm] 20

Front Axle
References
54612-2C-000
Rio Il (83/05--)
Wheel bearing
Notes
Alternative Repair Kit 614 750 0009
Alternative Repair Kit 714 502 D6
Alternative Repair Kit 014 833 0048
Alternative Repair Kit 100 498 D@23

Alternative Repair Kit 100 598 0BO2

Inner diameter [mm] 19
Outer diameter [mm] 45
Height [mm] 17

www.meyle.com
1888



MEYLE

Wheel bearing

Application info
Rio | (08/00-02/05)

Wheel hearing kit

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
51720 02000

Application info
Rio Il (83/@5--)

Wheel bearing kit

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
51720 02000

Application info
Picanto | (04/04--)

Wheel bearing kit

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References

51720 b0
51720 2HBO

www.meyle.com
1888

Kia

Suspension

014 098 8024 | MWB0DOO1

37-14 650 8001 | MWKB169

e
with add-on material ORIGINAL

WO

Front Axle left and right

37-14 650 8002 | MWKO170

WEVLE
with add-on material ORIGINAL

2uaus

Front Axle left and right

37-14 650 8007 | MWK0D216

WEVLE

with accessories ORIGINAL

42 20N
78
40
Front Axle left and right
| &
51720 2K000
—_—

175



176

Kia

Suspension

37-14 650 80@7 | MWK0D216

Application info

Cee’d | (12/06-12/@9)
Soul (82/@9-12/10)

37-14 650 0004 | MWKB213

Weveg'
ORIGINAL

KON

Application info
Carens Il (09/06--)
Magentis | (85/01--)
Magentis Il (11/85-12/08)

35-14 650 0000 | MWKD166

Weveg'
ORIGINAL

Puat

Application info

Carens Il (B87/02--)
Clarus (@7/96--)

MEYLE

Wheel bearing kit

Venga (02/10--)

Wheel bearing kit

Notes

with add-on material
Inner diameter [mm] 45
Outer diameter [mm] 84
Height [mm] 41

Front Axle left and right
References

51720 38110

Sportage Il (89/04--)
Sportage Il (87/18--)

Wheel bearing kit

Notes
with add-on material
Inner diameter [mm] 42
Outer diameter [mm] 80
Height [mm] 45
References
BK2JT 33047 KGA2A 33047

DK9A2 33047

Shuma Il (85/01-08/04)

www.meyle.com
1888



MEYLE

Wheel bearing kit

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References

DOBY 33042
KK15@ 33047

Application info
Pride (@1/90-05/97)

Wheel hearing kit

Notes

Inner diameter [mm]
Outer diameter [mm]
Height [mm]

References
0K20133047

Application info
Sephia [09/93-10/97)

Wheel hub

Notes

Inner diameter [mm]
Outer diameter [mm]
Bolt Hole Circle @ [mm]

Number of Holes

References
51750-2B010

Application info
Sorento Il (11/89--)

www.meyle.com
1888

with add-on material

37.5
B3
17.25

Front Axle left and right

MBO®@1 33065A
MB@92 33067

with add-on material
40

74

39.9

with accessories

30

140

14.3

Four-point mounting
with wheel studs
with wheel hub

5

51750-3J000

Kia

Suspension

35-14 013 3047/S | MWK@164

WEVLE
ORIGINAL

Puane

35-14 553 3047 | MWKB165

WEVLg
ORIGINAL

KON

Shuma | (83/96-12/01)

37-14 652 0002 | MWHB236

WEVLE
ORIGINAL

2uaus

177



Kia

Suspension

weveg'
ORIGINAL

WKL

Application info
Magentis Il [11/85-12/08)

37-14 752 8008 | MWHB231

WEVLE'
ORIGINAL

Puapst

Application info
Cee'd | (12/06-12/09)

37-14 752 0010 | MWHBO250

WevLg'
ORIGINAL

Guputd

Application info

Carens Il (89/06--)
Optima (@9/18--)

Wheel hub

Notes

Number of Holes

References
52730-2G200

Wheel hub

Notes

Outer diameter [mm)]
Bolt Hole Circle @ [mm]

Number of Holes

References
52730 2HDOD

Ceed Il (B5/12--)

Wheel hub

Notes

Number of Holes

References
52730-35200

Sportage Il (87/18--)

MEYLE

with accessories

for vehicles with ABS
Four-point mounting

with ABS sensaor ring

with wheel studs

with integrated wheel bearing
5

Rear Axle left and right

without add-on material
for vehicles with ABS
148

14.3

Four-point mounting
with wheel studs

5

Rear Axle left and right

with add-on material
Four-point mounting

5

Rear Axle left and right

www.meyle.com
1888



MEYLE

Wheel hub

Notes

Outer diameter [mm]
Bolt Hole Circle @ [mm]
Rim Hole Number

References
52750 1GO00

Application info
Picanto | (04/04--)

Wheel hub

Notes

Outer diameter [mm]
Bolt Hole Circle @ [mm]
Rim Hole Number

References
52750 1G100

Application info
Picanto | (04/04--)

Wheel hub

Notes

Outer diameter [mm]
Outer diameter 2 [mm]
Outer diameter 1 [mm]
Bolt Hole Circle @ [mm]
Rim Hole Number

References
52750 2B100

www.meyle.com
1888

without add-on material

for vehicles without ABS

140

100

4

Four-point mounting

with wheel studs

with integrated wheel bearing
Rear Axle left and right

52750 16001

without add-on material

140

100

4

with integrated ABS sensor
with wheel studs

with integrated wheel bearing
Rear Axle left and right

5275016101

without add-on material
139.2

B9

67

14.3

5

Four-point mounting

with integrated wheel bearing
with wheel studs

with integrated ABS sensor
Rear Axle left and right

Kia

Suspension

37-14 752 8@02 | MWHB152

WEVLE
ORIGINAL

Puane

Rio Il (83/@5--)

37-14 752 8001 | MWH0151

WEVLE
ORIGINAL

2uaus

Rio Il (23/@5--)

37-14 752 80@7 | MWHB155

WEVLg
ORIGINAL

WKZON

179



p—
i MEYLE

37-14 752 8@0@7 | MWHB155 Wheel hub

Application info
Sorento 11 (11/@9--)

37-14 752 0012 | MWHB255 Wheel hub

Notes

WevLg'

ORIGINAL without accessories

Rim Hole Number 5
without wheel bearing
with wheel studs
Rear Axle left and right

Application info
Sportage | (04/94-08/04) Sportage Il (09/04--)

180 www.meyle.com
1888



d MEYLE

MEYLE no. — Ref. no.

Index

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
014 098 0024 = 174 025 234 1715/W 58302 1PA30 57
014 698 DBD6 DK20A 33257 B3 025 234 4215/W DKB45 33237 44
014 698 BBBB/S DK2BA 33252 B3 025 234 5513/W DK2FC 26282 48
025 200 B215/W DKBOA 33287 48 DK9AD 26287
DK7@Y 332872 025 235 4314/PD 58302 1FEGOD 58
DK71E 33282 58302 2GABO
DK71F 33282 58302 38A10
025 207 5318 DK20A 33237 45 58302 3CA18
DK239 332372 025 235 4314/W 58302 1FEGO 59
DK240 33232 58302 2GABD
DK240 3323ZA 58302 38A10
DK2X3 33232 58302 3CA10
DK2Y13323Z 025 236 4916/W DK5B6A 33237 48
025 213 5514/W KK15@ 33237 B2 DK726G 33282
KK150 33287 DK75A 33282
MDA18 33232 DK75B 33282
025 215 5314/W 58302 2FA10 58 025 238 7316/W DK2N13328Z 54
025 216 5415/PD K@BAZ2 33287 B1 DK2N13328ZA
@25 216 5415/W KBBA?2 33287 B1 DK9D0 3328Z
025 217 2517/W 58101 M2AB2 54 58115 FDAQQD
58101 M2AR4 58115 FDCBO
025 218 2217 DK553 33232 47 @25 238 9116/PD 58101 2KA10 52
BK553 3323ZA 58101 3CA20
DK553 332378 58101 3CA8B0
K5533 3237ZB @25 238 9116/W 58101 2KA10 53
025 23108315 DK20A 33237 45 58101 3CA20
DK239 33232 58101 3CA8B0
DK240 33232 025 239 6617/PD DK2JA 33282 48
DK240 3323ZA DK2JA 3328ZA
DK2X3 33232 025 239 6617/W DK2JA 33282 48
DK2Y13323Z DK2JA 3328ZA
025 233 8418/W DKBY2 33232 47 025 240 5815/W 58302 3EDOO 59
DK20A 33237 583@2 3EDG@1
DK239 33232 58302 3EEDD
DK240 33232 025 240 9217/W 58101 3EEGO 53
DK2408 3323ZA 58101 3EED1
DK2A2 33237 025 2421817/W 58101 2FA10 51
DK2A2 3323ZA 58101 2FA20
DK2A2 33237ZB 025 242 7516/W 58101 07A00 49
DK2A3 33237 58101 07A10
DK2A4 33237 58101 07A20
DK2X3 33232 025 242 7614/W 58302 B7A00 55
DK2Y13323Z 58302 B7A10
DK2Y3 33237 025 243 1717/W 58101 1GEBD 50
DK2Y3 3323ZA 025 243 2015/PD 58302 BZABOD 55
025 234 1715/PD0 58302 1PA30 56 58302 1GALD

www.meyle.com
1888

181



Index

MEYLE no. — Ref. no.

MEYLE

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
58302 THARD 050 B4 0815 9771311200 91
025 243 2015/W 58302 0ZADD 56 977131C200
58302 1GADGD D50 604 0855 9771320510 90
58302 THAGD 050 04 0870 BK55215909 79
025 243 5117/W 581012PA70 52 050 B4 875 B3C718381B 90
5810140U00 050 004 0884 DKD3815807 91
025 244 9116/W 58302 1DEDB 56 DK21A18381
025 245 B116/PD 58101 1DEBO 49 OK21A18381
58101 2SA70 050 B4 0890 DK21A 18381 92
025 245 @0116/W 58101 1DEBO 50 MB366 15807
58101 2SA70 MB36615807A
025 245 5915/W 58302 4DEQDO 60 D50 004 0900 DK20A 15808 92
025 245 9717/W 58101 4DEDG 54 KK371159@89
025 249 3415/W 58302 1RA30 60 D50 B4 0925 DKD1118381A 92
58302 TWA35 DK2AA 15807
58302 2KA10 DK2AA32807
58302 2TA70 KK140 15989
58302 3FA1 D50 004 0962 DK2AA15908 93
025 2518419/W 58101 1PARG 50 B3C7158@8C
025 253 3715/W 58302-ABA20 61 D50 004 1020 DK20B 15909 93
025 253 4818 581011-WABS5 62 D50 04 1045 DK244 15808A 79
581011-WA35 D50 6041050 DK24415909A 93
581014-LABGOD D50 004 1063 DK2CP15809 94
025 253 6516 581011YADB 51 571814A000
581011YA30 050 604 1080 DK2A3 15909 94
025 256 7716 58302-1YAS0 57 D50 605 D890 = 94
025 256 9218 58101-2VARB 52 D50 BOS5 D9G5S 57170 39000 89
58101-ABABOD 90916 B2367
029 300 1211 = 3 D50 B@5 D950 DKSAC 15807 80
029 300 1213 - 4 D50 605 1060 DKSA3 15909 80
029 350 1400 = 4 D50 @05 1393 57170 38010 89
029 350 1413 - 4 050 BB5 1650 25212 2A300 83
029 350 1417 = 5 D50 @05 1788 25212 2A000 83
029 380 1514 - 5 25212 2A001
029 400 1600 = 5 D50 BB6 955 25212 2B030 84
029 450 1800 - B 050 DO6 1195 97713 26300 90
029 475 1900 = B D50 BO6 1255 25212 2B020 84
029 500 2000 - 5] D50 D06 1400 2521227160 82
029 530 2100 = 7 D50 B06 1510 25212 27002 82
029 550 2200 - 7 25212 27010
029 600 2400 = 8 25212 27350
029 650 2600 - 8 D50 BO6 1515 25212 27002 82
D50 B4 D675 9771302000 89 25212 27350
D50 804 0750 5717082710 88 25212 27351
D50 004 0780 2521202550 81 25212 27360
050 004 0800 MB376 15907 a1 050 B06 1530 25212 2B018 84

182

www.meyle.com
1888




d MEYLE

MEYLE no. — Ref. no.

Index

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
050 006 1570 = 95 0OK552 23603A
050 0B6 1580 DK95K 15909 79 28-12 321 0008 2811316100 105
050 006 1705 25212 37160 86 28-12 321 8009 28113 26300 107
050 006 2000 25212 37182 86 28-12 321 0010 28113 2HDB0 @7
050 0v6 2013 DKSAB 15987 80 28-12 321 801 28113 4D000 109
OKSAB 15887 28-12 321 8013 28113 1R100 105
050 0B6 2055 25212 3EDBOD 87 28-12 321 0014 28113 04000 105
25212 3ED50 28113 1Y100
050 BB6 2125 25212 26710 86 28-13 220 0801 25100 4A000 103
050 006 2140 25212 2B000 83 25100 4A100
050 0B6 2415 25212 2F300 85 25100 4A300
050 006 2475 25212 3C100 87 M25100 4A000
25212 3C200 28-13 220 b0B4 DK30C 15010A 101
050 006 2498 25212 2F00 85 25100 2X100
25212 2F010 0K3@C 15010A
050 006 2510 25212 25020 81 28-13 220 005 25100 82566 98
050 006 2590 25212 25000 81 28-13 220 00@6 DK30E 15010 101
050 @07 1730 25212 4A010 87 25100 2X200
050 B0O7 2250 25212 4A01 88 25100 2X400
25212 4A400 25100 2X401
25212 4A401 28-13 220 007 25100 4X700 103
B50 807 2271 25212 4A100 88 28-14 322 0000 26320 2A002 n7z
11-14 323 0001 DK2KB 13480 e 26320 2A300
DK2KK 13483 26320 3C300
214770 0801 54612-2C-000 174 28-14 322 @01 0K410 23802A n4
28-12 0111340 DKD1113Z40 104 28-14 322 002 BK55114302 4
K@111 3240 26300-42040
28-12 319 @01 97133 2FB00 12 26330-4A000
97133 2F010 26330 4X000
P8790 2F000 K5511 4302
P8790 2FOBDA 28-14 322 003 26320 2Fo00 nz
28-12 319 b@b2 DK553 61C14 9 26320 2F010
DK553 B1C14A 28-14 322 0004 26310 2A510 nz
K5536 1C14 26320 2A500
28-12 319 b4 97133 2K000 13 26320 3F100
28-12 319 605 97133 1P0RO n 26330 3C300
28-12 319 BBB6/S DK2CB 6152X 8 28-14 322 D@5 26300 2Y500 15
DK2CB 6153X 28-14 323 B0O1 31922-2E900 n3
K2C56 152XA 31922 3A850
28-12 319 BOO8/S DK2FA B6152X 9 28-14 323 D@05 DK552 12603A e
DK2FA B152XA 31300 3E200
DK2FE 6152X 28-14 498 b00O KK388 22510 71
28-12 319 b9 97133 0Z000 10 KK388 22610
28-12 321 0000 28113 87100 104 28-14 488 B0GO1 DK30A 22510 70
28-12 321 6005 28113 3E0BO 109 DK30A 22610
28-12 321 0006 DK552 236@3A 104 DK30A 25400

www.meyle.com
1888

183



Index

MEYLE no. — Ref. no.

MEYLE

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
DK30B 22510 51712 1IM0B0D
DK30@B 22610 51712 2K100
DK30B 25400 28-15 521 6022/PD | 51712 1HOOO 22
DK30B 25600 51712 1H100
28-14 498 B00@2 DK55C 22510A 70 51712 1MB00
28-14 498 0003 49500 87010 70 51712 2K100
49500 07060 28-15 521 0023/PD | 51712 1W@50 22
4959107010 28-15 521 0024/PD | 51712 4D200 27
4959107091 28-15 523 002 DKSAA 26251 17
28-14 498 004 DK200 22610 71 DKSAA 26251A
DK2C0 22510 DKSAA 26251B
K9A42 2510 DKSAA 26251C
KA842 2510 28-15 523 0003 58411 2F100 34
28-14 525 0000 58732 FD100@ 69 28-15 523 DB0D5 58411 2K300 34
28-14 533 0000 58350 THAD® 66 28-15 523 D@07 DK30A 26251A 63
28-14 533 0003 DK20126382 64 28-15 523 0BR9/PD | 58411-8U300 29
DK2012638ZA 28-15 523 D@10 58411 1H100 32
DK23N 26387 58411 1H300
DK2N12638Z 28-15 523 001@/PD | 58411 1H100 32
28-14 533 004 DKB45 26387 64 58411 1H300
28-14 610 0000 54580 3E001 147 28-15 523 001N 5841110000 31
28-14 610 0001 54590 3E0DO 149 28-15 523 B011/PD 5841110000 31
28-14 610 B0@2 54580 3E002 147 28-15 523 D@12 58411 3E500 40
28-14 610 004 54584 07000 147 28-15 523 B013/PD | 5841140000 41
28-14 640 bo0O - 169 28-15 523 0018 58411 07000 64
28-14 742 0000 55326 07100 170 28-16 010 oD 54530 07000 136
28-14 860 OV 36710 4A000 76 28-16 010 BO®1 54530 3J000 137
36710 4A100 54530 40000
28-15 521 0000 KDX74 33251 43 28-16 010 B2 DKB11 345108 133
MDX74 33251 28-16 010 BOB3 DK2A1-34-550A 134
28-15 521 06002 BK552 33251 44 28-16 010 BPB5 54570 3E000 138
BK552 33251A 54570 3E001
DK5BA 33251 54570 3E100
KJd@2 33251C 28-16 010 BRO7 DK20134558C 133
KJB@2 332510 DK201 345500
28-15 521 0006 51712 2F100 23 DK201 34550E
28-15 521 0009 51712 07500 17 28-16 020 00O 56820 3E00D 131
28-15 521 0010 51712 07700 18 28-16 020 BO®1 56820 3E900 131
28-15 5210012 BK55A 33251 16 28-16 020 0003 DK710 32240 126
DK55B 33251 28-16 020 boB7 DK552 32280 125
28-15 5210013 DK2FA 33251 15 28-16 020 boB8 DK552 32240 125
28-15 5210014 51712 FD300 28 28-16 020 oY 56820 07000 126
28-15 5218015 DK58B 33251 16 F4BZ3 A130A
28-15 521 0021/PD BK52Y 33251A 15 K9921 1201
28-15 52108022 51712 1HORGO 21 MDX50 32280
51712 1H100 28-16 020 @10 56820 2HBDGO 129

184

www.meyle.com
1888




d MEYLE

MEYLE no. — Ref. no.

Index

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
28-16 020 @M 56820 2HB90 130 28-16 050 BO21 5450107100 143
28-16 020 0018 56820 2G000 129 5450107200
28-16 020 D@19 56820 2G900 129 5450107250
28-16 B30 BBO1 DK201 32240 121 28-16 050 BB24 DK®@11 34200 138
DK20132240A DKD11 34200A
DK203 32240 28-16 050 @38 55250 1THROGO 146
DK203 32240A 55250 2HBDO
DKSAZ2 32240 28-16 060 0BO1 54830 26000 160
28-16 8310010 DK2A1 32240 121 28-16 060 BBO2/HD | 55580 3ECDD 167
28-16 @31 00N 56540 2HBOB 122 28-16 D60 BPV3/HD | 55580 3EB50 167
28-16 @31 0022 565400U500 121 28-16 D60 BOB4 54830 4D000 162
28-16 B310023/HD | KDX50 32240 124 28-16 060 bBOS 54840 4D000O 165
KDX50 32240A 28-16 060 DOB6 DKD11 34160A 152
KDX50 322408 28-16 060 bBO7 54820 FDOBO 157
KDX53 32240 28-16 060 bOB8 54830 FDOBO 162
KDX53 322408 28-16 060 B9 DK2A1 34150A 153
28-16 B310024/HD | 56540 2HOOO 122 DK2A1 341508
28-16 831 @@25/HD | 57731 3E010 124 DK2M2 28150
57732 3E010 28-16 D60 BO11/HD | 54811 3ERGD 156
28-16 B310026/HD | 57724 07000 122 54811 3E160
57724 07100 28-16 060 BO12 54830 38100 161
28-16 B50 BVO6 54410 3EQDOD 140 54830 38110
54410 3E001 28-16 060 @13 54810 3E0OO 155
54410 3EQ@2 28-16 060 0v14 DK2N134170A 154
28-16 B850 bBO7 54420 3EDOO 140 28-16 D60 BO15/HD | 5553017000 165
54420 3EDO1 55530 17010
54420 3EB@2 28-16 060 BB17/HD | 54830 2FO0G 160
28-16 B850 008 54510 3EVOBO 145 28-16 D60 BO18/HD | 54840 2F00G 164
54510 3EB01 28-16 D60 BO19/HD | BK552 341608 155
54510 3EB@2 28-16 060 D020 DK2N134150A 153
28-16 850 D29 54520 3E000 145 28-16 D60 BP21/HD | BK33C 34160A 154
54520 3E0@1 28-16 060 B@22/HD | 54811 3EO1D 156
54520 3E002 54811 3EM10
28-16 050 D@10 DK30B 343008 138 28-16 D60 BP23/HD | 54830 07000 157
28-16 @50 @M DK30B 343508 139 28-16 060 @24 DK2FA 34150 152
28-16 B50 8012 54501 FDBLO 144 28-16 060 BB25/HD | 54840 07000 162
28-16 @50 D@13 54500 FDBDO 142 28-16 060 BB26/HD | BK33C 34150A 154
28-16 B50 B016 DK552 34300A 139 28-16 060 BB27 DK2FA 34170 153
DK552 343008 28-16 060 D028 54830 2HDOO 161
DK552 34300C 54830 2HB01
28-16 @50 D@17 DK552 34350A 139 54830 2H100
DK552 343508 54830 2H200
DK552 34350C 28-16 060 bB29 55530 1THBOB 166
28-16 850 0B20 54500 07100 141 55530 1H100
54500 07200 55530 2HBDO
54500 07250 28-16 060 D@35 54830 07000 157

www.meyle.com
1888

185




Index

MEYLE no. — Ref. no.

MEYLE

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
28-16 060 0B36 54840 07000 163 DK2FB 63620B
28-26 623 0004 54660 07100 17 28-40 910 D@15 81770 1G000O 2
54660 07200 81780 1G00B
28-26 623 8005 54650 07100 170 28-51902 1000 DK85K 12750 77
54650 07200 28-51902 1001 24840 3E00O 78
28-26 623 0008 54651 1H0BGO 17 24840 3E500
54651 1H100 30-14 323 006 31911 34000 ne
28-26 623 0809 54661 1H000 172 32-13 220 005 25100 42501 102
54661 1H100 25100 42541
28-26 725 8002 55300 1Y100 173 32-14 322 D@01 BVS0114302 n4
55300 1Y200 32-14 322 b6 BJE15-14-302 n8
55310 07100 89315 67500
55310 07200 32-14 860 BOBD 36710 42500 75
28-28 228 0001 BK2C0 15171 95 32-15 523 0010 58411 M2050 43
DK2C0 15171A 35-13 015 D@O1 DK24A 15010 97
BK30E 15171 35-13 220 0801 RF9515010 103
28-28 228 0002 DK410 15171A 95 35-14 013 3047/S D@BY 33042 177
28-40 910 Bo0O7 81770 1H510 3 KK150 33047
81780 1H510 MB@01 33065A
28-40 910 b8 87170 3EQDO 1 MB@92 33067
87170 3E010 35-14 322 00O BBY11 4302A8A n8
87180 3E0DOD 35-14 322 D@02 DKD16 23802 ns
87180 3E010 DRFO3 238028
28-40 910 b9 81181 3EDBOD 1 26300 35502
81181 3EQ@1 26300 35503
81181 3E010 RF@32 3802A
81181 3E@N RF@32 38028
28-40 910 0210 DK53Y 56620 1 35-14 323 D@01 31390 H1000 m
DK53Y 56630 K4672 3570
DK53Z 56620 35-14 553 3047 0K20133047 177
DK53Z 56620A 35-14 650 OO DK2JT 33047 176
DK53Z 566208 DK9A2 33047
DK53Z 56630 KGA2A 33047
DK53Z 56630A 35-16 010 BOG1 DGD3B-34550A 133
DK53Z 566308 DGD3B-34550B
28-40 910 80N 81771 3E0M 3 35-16 010 BO18 DK710 34540 134
81771 3E020 35-16 020 0001 DK201 32280 125
81781 3E@1 DK201 32280A
81781 3E020 35-16 060 DOB1 KGA2A 34170 168
28-40 910 0@12 81770 67000 2 KGA2A 34170A
81780 07000 KGA2A 3417@B
28-40 910 0?14 DK2FB 62620 2 35-16 060 DBO2 KGA2A 34150 168
DK2FB 62620A KGA2A 34150A
DK2FB 626208 KGA2A 341508
DK2FB 63620 35-16 060 DBO3 DKBA3 28170A 152
DK2FB 63620A 35-28 228 0000 BKSFC 15171 96

186

www.meyle.com
1888




d MEYLE

MEYLE no. — Ref. no.

Index

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
KE5D3 15171 37-13 220 b@O7 25100 2A000 100
36-14 533 B015 58315 FOADD 66 25100 2A001
58315 FDAB1 37-13 220 B8 25100 2B00OGO 100
37-12 319 00062 97619 3C100 13 37-13 220 @12 25100 2B700 100
99897 07010 37-13 220 0014 25100 83010 g8
37-12 319 00@8 97133 07000 9 37-14 322 0001 26310 4A000 16
97133-07010 37-14 322 b2 26320 27400 16
97133 BX900 37-14 322 06083 26320 27001 16
37-12 319 B0@3 97133 1THB DGO il 37-14 322 6009 26300 02501 15
37-12 318 0010 P8790 1F200 14 26300 2502
37-12 318 60N 97133-2B010 n 37-14 323 0001 31922 2B900 ne
97133 3K000 37-14 323 002 31910 2HOLO m
37-12 319 8@12/S 97133 2E910 12 37-14 323 6007 31922 26910 ne
37-12 320 b@O9 97133 1HBDG@ 10 37-14 533 @05 58305 2KALD B5
37-12 320 0010 97133 2E200 n 37-14 533 DOB6 58350 1GALBD B6
37-12 320 801 97133 3K000 13 37-14 533 0007 58305 1GABGD B5
37-12 321 0000 28113 2F250 106 37-14 533 0008 58350 2EAQD 67
37-12 321 8011 28113 26000 106 37-14 533 6008 58350 2EADD 67
37-12 3210018 28113 32510 109 37-14 533 0014 58350 2EAQD 67-68
37-12 321 8018 28113 20000 106 37-14 533 0014 58350 2EADD 67-68
28113 2F000 37-14 533 B@15 58350 3EDOOD 68
37-12 3210024 28113 1Jo00 @7 37-14 533 0018 58350 3CA10 68
28113 1P0B0O 37-14 610 BB 54584 2B000O 148
28113 2Koo0 54584 2EQ0OO
37-12 3210825 28113 25000 @8 54584 2HLOG
37-12 32100830 28113 2P300 @8 54584 38100
37-12 321 0831 28113 2P100 @8 37-14 610 D@16 54551 2H000 146
37-13 220 0001 25100 37102 @2 37-14 610 D@17 54584 1G000O 148
25100 37200 37-14 610 0018 54551 1E000 146
25100 37201 54551 2K000
25100 37202 37-14 610 0B26 54584 2Fo00 148
37-13 220 b@B2 25100-38002 @2 37-14 610 0@B27 54584 25000 149
25100-38200 37-14 615 0001 54813 2HODG@ 150
37-13 220 bEB3 25100 23003 98 37-14 615 BOB5 55513-3N100 151
25100 23010 37-14 615 008 55513-3N200 151
25100 23022 37-14 615 609 55513-3N300 151
25100 23530 37-14 620 0001 57740-2K010 120
37-13 220 00804 25100 27000 99 37-14 620 BBO2 57728-25000 120
25100 27010 37-14 640 00O - 169
37-13 220 BOBS 25100 26015 99 37-14 650 BOO1 51720 02000 175
25100 26016 37-14 650 B2 51720 02000 175
25100 26660 37-14 650 0G4 51720 38110 176
25100 26900 37-14 650 BOB7 51720 600D 175
25100 26901 51720 2HDBO
25100 26902 51720 2K 00
37-13 220 b6 25100 27400 99 37-14 652 D@02 51750-2B010 177

www.meyle.com
1888

187



Index

MEYLE no. — Ref. no.

MEYLE

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
51750-3J000 51712 1\W200
37-14 711 0000 55543 2HDGO 149 37-15 5210039 51712-A6000 27
37-14 711 802 55130-4D000 150 37-15 521 0039/PD | 51712-A6000 28
37-14 715 0000 55513-2B200 150 37-15 523 0014 58411 07300 29
37-14 740 00O = 169 58411 07500
37-14 752 0001 5275016100 179 37-15 523 0016 58411 3K100 40
5275016101 37-15 523 8027 584112Y300 38
37-14 752 B0@2 52750 1G000 179 58411 3A300
52750 16001 37-15 523 0@27/PD | 584112Y300 38
37-14 752 B0@7 52750 2B100 179 58411 3A300
37-14 752 00@8 52730 2HBOB 178 37-15 523 0028 58411 38300 36
37-14 752 0010 52730-35200 178 37-15 523 0028/PD | 58411 39300 36
37-14 752 60N 52730-2G200 178 37-15 523 8029 584111C800 30
37-14 752 8012 - 180 58411-1G300
37-14 860 BORBO 36710 27000 72 37-15523 B@29/PD | 584111C800 30
37-14 860 BOG1 36710 2A100 73 58411-1G300
37-14 860 BD@2 36710 42000 75 37-15 523 0030 58411 3E300 39
36710 42010 37-15 523 0@30/PD | 58411 3E300 39
36710 42020 37-15 523 8031 58411 1P300 33
36710 42021 37-15 523 @@31/PD | 58411-1P300 33
36710 42060 37-15 523 8032 58411 2P000 35
36710 42510 37-15 523 B@32/PD | 58411 2P000 35
36710 42550 37-15 523 8033 58411 38600 37
37-14 860 bOB4 36710 2F100 74 37-15 523 B@33/PD | 58411 39600 37
37-14 860 BOBS 36710 2F000 74 37-15523 B@36/PD | 5841135100 41
37-14 860 BOB6 36710 2A700 73 37-15 523 0038 58411-A6200 42
37-15 521 0014 51712 3Co00 26 37-15523 0@38/PD | 58411-AB200 42
51712 3C100 37-16 010 bBD2 54503 22A00 136
37-15 52108029 51712 10100 20 54503 25A00
51712 1F000 54503 31600
51712 2C000 54530 2F000
51712 3KB50 54530 31600
37-155210029/PD | 51712 10100 23 37-16 010 B4 51760 2EDGOD 135
51712 2C000 51770-2E010
51712 3KB50 37-16 010 BB 54503 2BABO 136
37-15 5210030 51712 0Z000O 19 54530 2B
37-15 521 0030/PD | 51712-0Z000 19 54530 3B000O
37-15 521 0031 51712 16000 20 37-16 010 b9 51760 38000 135
37-15 521 @@31/PD 51712-1G0B0 21 51761 38A00
37-15 52108032 51712-2L500 24 37-16 010 D@19 51760-00000 135
37-15 521 0032/PD 51712-2L500 24 51760 2G000
37-15 5210034 51712 3E0BOD 26 51760 2HDGO
37-15 521 0035/PD 51712 2P700 25 37-16 010 D@20 51760 1G0BO 134
51712 2W700 51760 1G0T
37-155210036/PD | 51712 2T100 25 37-16 010 D@26 54530 21010 137
37-1552100837/PD 51712 UGG 18 54530 35100

188

www.meyle.com
1888




d MEYLE

MEYLE no. — Ref. no.

Index

54830-1E100
54830 1G000

553112L600
55311 2R200

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Kia Kia
37-16 010 BB27 54530 35000 137 54830 1G500
37-16 020 BOO1 56820 28500 127 37-16 060 D@39 54830 1J000 159
37-16 020 B0@3 56820 M2000 132 37-16 060 D040 54840 1J000 163
37-16 020 BBBS 56820 2E900 128 37-16 060 BB41/HD | 54830 25200 161
37-16 020 BDB6 56820 2ERDGO 128 54830-3W300
37-16 020 0GOS 56820 38000 131 37-16 D60 BO42 55530 25100 167
37-16 020 6010 57780 38010 132 55530 25200
37-16 020 0014 56820 2K0B0O 130 37-16 D60 BO48 1325110001 155
37-16 020 BO15 56820 2KB50 130 1325110003
37-16 020 BO18 56820 2B0OBO 127 54719 43001
56820 2PS00 37-16 D60 BB53 55530-1Fo00 166
37-16 020 BO19 56820 2B900 128 37-16 D60 BB57 54830 1FB00 158
56820 2P0D0O0O 37-26 623 D@12 54651 2E500 172
37-16 020 BB22 56820 1EQDB 126 54661 2E201
56820 1G900 54661 2E500
37-16 020 BB23 56820 1E900@ 127 37-26 623 D@13 54651 2E201 171
56820 1GOBO 54651 2E500
37-16 031 6000 57724 38010 123 54661 2E500
57724 3C010 37-26 623 0014 54650 16200 1708
37-16 831 0001 57724 2EQDD 123 54650 1G400
37-16 031 8002 57724-1E000 124 37-26 623 B015 5466016200 172
37-16 031 0BS5S 57224 20020 123 54660 16400
57724 2D000 37-26 723 002 55351 2E202 174
37-16 D50 BB45 54500 2HDBO 142 55351 2E501
54500 2H100 55361 2E501
37-16 050 BO46 54501 2HBOB 144 37-26 723 0003 55351 2E501 173
54501 2H100 55361 2E201
37-16 050 BB47 54500 bJ0B0O 141 55361 2E501
54500 1E0BOD 37-26 725 0B@7 55310 1THOLO 173
37-16 050 BO48 54501 6J000O 143 55310 1THBB3
54501 1E000@ 55310 1H100
37-16 060 BB1B/HD | 55530-1FB0O 165 553108 1H102
37-16 060 BB28/HD | 54830 1FOOO 158 55310 1H200
37-16 060 BB31/HD | 54840 2BO0OO 164 55310 1H201
54840 2B200 55310 1H202
37-16 060 BB32/HD | 54830 2BO00O 159 5531110400
54830 2B200 55311 1HB00
37-16 @60 B@33/HD | 55530 2BO0O 166 55311 1H100
55530 2B200 55311 1H200
37-16 060 BB34/HDO | 54840 1EDDD 163 55311 1H500
54840 1E100 55311 1H60G
5484016000 553112L000
5484016500 553112L100
37-16 060 BB36/HD | 54830-1E00Q 159 553112L200

www.meyle.com
1888

189




Index

MEYLE no. — Ref. no.

MEYLE no. Ref. no. Page
Kia
37-28 228 0001 25510 42100 97
37-28 228 0004 25500 35530 97
25500 35531
25500 37200
37-28 228 0005 25500 27000 96
37-51902 1000 24410-27000 77
24410-27250
37-51902 1001 24410 23050 77
37-519802 2000 24810 27000 78
24810 27250
37-51902 3000 24410 3E100 78
24410 3E500
42-14 323 0001 DK55123570 m
BK55123570A
BK71E 23570A
DKJ1E 23570
44-14 533 0002 DK552 26382 B5
DK5BA 26387
DK5BA 2638ZA
DK58A 26387
614 322 0000 BJE15 14302 13
614 620 D@7 57740-38000 120
614 899 0@17 DK950 18211 76
714 323 0BO2 DK52A-23570 ne
714 860 DBO3 DKD54 18140 72
DK710 18140
DK710 1814BA
DBK71E 18140A
DK75A 18140
DK75B 18140
190

MEYLE

www.meyle.com
1888



d MEYLE

Index

Ref. no. — MEYLE no.

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia
0GB30-34550A 35-16 010 0BO1 133 025 2318315
DGD30-345508 35-16 010 BOGO1 133 025 233 8418/W
BJE15 14302 614 322 00O n3 DK24415909A 050 B04 1045 79,93
BJE15-14-302 32-14 322 D06 n8 050 041050
DKD1113240 28-12 0111340 104 DK24A 15010 35-13 015 0001 97
DK@1118381A 050 B4 @925 92 DK2A132240 28-16 0310010 121
DKB11 34160A 28-16 060 DBD6 152 DK2A1 34150A 28-16 060 B9 153
DKD11 34200 28-16 050 D@24 138 DK2A1 341508 28-16 060 0BO9 153
DKB11 34200A 28-16 050 D@24 138 DK2A1-34-550A 28-16 010 bOB3 134
DKB@11 345108 28-16 010 B2 133 DK2A2 33232 025 233 8418/W 47
DKD16 23802 35-14 322 002 ng DK2A2 3323ZA 025 233 8418/W 47
DKB3815807 050 b04 0884 91 DK2A2 3323ZB 025 233 8418/W 47
DKB45 26387 28-14 533 0004 64 DK2A3 15909 050 B04 1080 94
DBKB45 33232 025 234 4215/W 44 DK2A3 33232 025 233 8418/W 47
DKB54 18140 714 860 DBD3 72 DK2A4 33232 025 233 8418/W 47
DKBA3 28170A 35-16 060 DBD3 152 DK2AA 15807 050 B4 @925 92
DKBY2 33232 025 233 8418/W 47 DK2AA15908 050 B4 @962 93
DK200 22610 28-14 498 0004 71 DK2AA32907 050 B4 @925 92
DK2012638Z 28-14 533 Bb03 B4 BK2CB 15171 28-28 228 0001 95
DK2012B638ZA 28-14 533 0003 B4 DK2C0 15171A 28-28 228 0001 95
DK201 32240 28-16 B30 0001 121 DK2CO 22510 28-14 498 0004 Al
DK20132240A 28-16 030 bO?1 121 DK2C0 B152X 28-12 319 BOOB/S 8
DK201 32280 35-16 020 VOO 125 DK2C0 B153X 28-12 319 BOOB/S 8
DK20132280A 35-16 020 VOO 125 DK2CP15809 050 B04 1063 94
DK201 34550C 28-16 010 boB7 133 DK2FA 33251 28-15 521 0013 15
BK201 345500 28-16 010 boB7 133 DK2FA 34150 28-16 060 DB24 152
DK201 34550E 28-16 010 boB7 133 DK2FA 34170 28-16 060 0B27 153
DK203 32240 28-16 030 001 121 DK2FA B6152X 28-12 319 BBB8/S 9
DK203 32240A 28-16 030 D01 121 DK2FA B152XA 28-12 319 BBB8/S 9
DK20A 15908 050 B04 0900 92 DK2FB 62620 28-40 910 0214 2
DK20A 33237 025 207 5318 45, 47 DK2FB 62620A 28-40 910 0014 2
025 2310315 DK2FB 626208 28-40 910 0014 2
025 233 8418/W DK2FB 63620 28-40 910 0014 2
DK20A 33252 014 698 0LBOB B3 DK2FB B3620A 28-40 910 0014 2
014 698 DOOG/S DK2FB 636208 28-40 910 0014 2
DK20B 15909 050 04 1020 93 DK2FC 26287 025 234 5513/W 48
DK21A 18381 050 B04 0890 92 DK2FE B152X 28-12 319 0OO8/S 9
BK21A18381 050 004 0884 a1 DK2JA 33287 025 239 6617/PD 486
DK239 33237 025 207 5318 45, 47 025 239 6617/W
0252310315 DK2JA 3328ZA 025 239 6617/PD 486
025 233 8418/W 025 239 6617/W
DK23N 26387 28-14 533 0003 64 DK2JT 33047 35-14 650 VOO 176
DK240 33232 025 207 5318 45, 47 DK2KB 13480 11-14 323 8001 e
0252318315 DK2KK 13483 11-14 323 BOO1 e
025 233 8418/W DK2M2 28150 28-16 060 B9 153
DK240 3323ZA 025 207 5318 45, 47 DK2N12638Z 28-14 533 0003 64

www.meyle.com
1888

191




Index

Ref. no. — MEYLE no.

MEYLE

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia
DK2N1 33282 @25 238 7316/W 54 DK552 32240 28-16 020 0OB8 125
DK2N13328ZA 025 238 7316/W 54 DK552 32280 28-16 020 bB@7 125
DK2N134150A 28-16 060 BB20 153 DK552 33251 28-15 521 0002 44
DK2N1 34170A 28-16 060 0014 154 DK552 33251A 28-15 521 0002 44
DK2X3 33237 025 207 5318 45,47 DK552 341608 28-16 060 B@19/HD | 155
0252310315 DK552 34300A 28-16 050 0016 139
@25 233 8418/W DK552 343008 28-16 050 0016 139
DK2Y133232 025 2@7 5318 45,47 DK552 3430@C 28-16 050 0016 139
0252310315 DK552 34350A 28-16 050 @17 139
@025 233 8418/W DK552 34350B 28-16 050 0017 139
DK2Y3 3323z @025 233 8418/W 47 DK552 34350C 28-16 050 @17 139
DK2Y3 3323ZA @025 233 8418/W 47 DK553 33237 025 218 2217 47
DK30A 22510 28-14 498 0001 70 DK553 3323ZA 025 218 2217 47
DK30A 22610 28-14 498 0001 70 DK553 33237B 025 218 2217 47
DK30A 25400 28-14 498 0001 70 DK553 B1C14 28-12 319 bB@2 9
DK30A 26251A 28-15 523 6007 B3 DK553 B1C14A 28-12 319 0B@2 9
DK30B 22510 28-14 498 0001 70 DK55A 33251 28-15 5210012 16
DK30B 22610 28-14 498 0001 70 DK55B 33251 28-15 5210012 16
DK30B 25400 28-14 498 0001 70 DKS55C 22518A 28-14 498 boB2 70
DK30B 25600 28-14 498 0001 70 DK5BA 26387 44-14 533 00@2 65
DK30@B 34300B 28-16 050 0010 138 DK5BA 2638ZA 44-14 533 0002 B5
DK30B 343508 28-16 @50 601N 139 DKS5BA 33232 025 236 4916/W 48
DK30C 15010A 28-13 220 004 101 DKS5BA 33251 28-15 521 0002 44
DK3BE 15010 28-13 220 0006 101 DK58A 26387 44-14 533 00@2 65
DK3BE 15171 28-28 228 0001 95 DK58B 33251 28-15 521 0015 16
DK33C 34150A 28-16 060 BB26/HD | 154 DKBOA 33287 025 200 0215/W 48
DK33C 34160A 28-16 060 BB21/HD | 154 DK7@Y 33287 025 200 0215/W 48
DK418 15171A 28-28 228 bB@2 95 DK710 18140 714 860 0G@3 72
DK410 23802A 28-14 322 0001 n4 DK710 18140A 714 860 D@3 72
DK52A-23570 714 323 @02 ne DK710 32240 28-16 020 BBG@3 126
DK52Y 33251A 28-15 521 0021/PD 15 DK710 34540 35-16 010 0018 134
DK53Y 56620 28-40 910 0210 1 DK71E 18140A 714 860 00G@3 72
DK53Y 56630 28-40 910 @10 1 DK71E 23570A 42-14 323 0001 m
DK53Z 56620 28-40 910 0210 1 DK71E 3328Z 025 200 B215/W 48
DK53Z 56620A 28-40 910 @10 1 DK71F 332827 025 200 B215/W 48
DK53Z 566208 28-40 910 0210 1 DK72G 33287 025 236 4916/W 48
DK53Z 56630 28-40 910 0010 1 DK75A 18140 714 860 b0@3 72
DK53Z 56630A 28-40 910 0210 1 DK75A 332827 025 236 4916/W 48
DK53Z 566308 28-40 910 010 1 DK75B 18140 714 860 b0@3 72
DK55114302 28-14 322 002 n4 DK75B 33287 025 236 4916/W 48
DK55123570 42-14 323 0001 m DK950 1821 614 899 0017 76
DK55123570A 42-14 323 0001 m DK95K 12750 28-51902 1000 77
DK552 126@3A 28-14 323 b@0D5 ne DK95K 15809 050 D6 1580 79
DK552158089 050 b4 8870 79 DK9AD 26287 025 234 5513/W 48
DK552 236B3A 28-12 321 00B6 104 DK9A2 32240 28-16 030 DO 121
DK552 26387 44-14 533 0002 65 DK9A2 33047 35-14 650 00B0 176
192 www.meyle.com
1888




d MEYLE

Ref. no. — MEYLE no.

Index

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia

DK9A3 15809 050 D05 1060 80 25100 37102 37-13 220 0001 102
DK9AGB 15987 050 B06 2013 80 25100 37200 37-13 220 0001 102
DK9AA 26251 28-15 523 0002 17 25100 37201 37-13 220 0001 102
DK9YAA 26251A 28-15 523 0e02 17 25100 37202 37-13 220 0001 102
DK9AA 262518 28-15 523 002 17 25100-38002 37-13 220 o2 102
DK9YAA 26251C 28-15 523 0e02 17 25100-38200 37-13 220 bOB2 102
DK9AC 15907 050 B0S5 D950 80 25100 42501 32-13 220 bB0S 102
bK9DB 33287 025 238 7316/W 54 25100 42541 32-13 220 bB0S 102
BKSYFC 15171 35-28 228 0000 96 25100 4A000 28-13 220 0001 103
DKJIE 23570 42-14 323 8001 m 25100 4A100 28-13 220 0001 103
DRFB3 23802B 35-14 322 002 ng 25100 4A300 28-13 220 0001 103
BVS0114302 32-14 322 @01 n4 25100 4X700 28-13 220 0007 103
1325110001 37-16 D60 BB48 155 2521202550 050 04 0780 81
1325110003 37-16 D60 BO48 155 25212 25000 050 D6 2590 81
24410 23050 37-51802 1001 77 25212 25020 050 626 2510 81
24410-27000 37-51802 1000 77 25212 27002 050 626 1510 82
24410-27250 37-51802 1000 77 050 806 1515

24410 3E100 37-51802 3000 78 25212 27010 050 D6 1510 82
24410 3E500 37-51902 3000 78 2521227160 050 D06 1400 82
24810 27000 37-51802 2000 78 25212 27350 050 D6 1510 82
24810 27250 37-51902 2000 78 050 D@6 1515

24840 3E0OO 28-51902 1001 78 25212 27351 050 BO6 1515 82
24840 3E500 28-51902 1001 78 25212 27360 050 BO6 1515 82
25100 B2566 28-13 220 005 98 25212 2A000 050 051788 83
25100 B3010 37-13 220 0014 98 25212 2AB01 050 B0D5 1788 83
25100 23003 37-13 220 B0B3 98 25212 2A300 050 BOS5 1650 83
25100 23010 37-13 220 B0B3 98 25212 28000 050 Bo6 2140 83
25100 23022 37-13 220 0B3 98 25212 2B010 050 b6 1530 84
25100 23530 37-13 220 B0B3 98 25212 28020 050 BOB6 1255 84
25100 26015 37-13 220 BOB5 99 25212 2B030 050 BB @955 84
25100 26016 37-13 220 BOB5 99 25212 2F000 050 b6 2498 85
25100 26660 37-13 220 BOB5 99 25212 2F010 050 b6 2498 85
25100 26900 37-13 220 BOB5 99 25212 2F300 050 BD6 2415 85
25100 26901 37-13 220 BOB5 99 25212 2G710 050 Bo6 2125 86
25100 26902 37-13 220 BOB5 99 25212 37160 050 BD6 1785 86
25100 27000 37-13 220 bOB4 99 25212 37182 050 b6 2000 86
25100 27010 37-13 220 0BB4 99 25212 3C100 050 D6 2475 87
25100 27400 37-13 220 BOB6 99 25212 3C200 D50 BO6 2475 87
25100 2A000 37-13 220 0007 100 25212 3E000 050 D@6 2055 87
25100 2A001 37-13 220 boB7 100 25212 3EB50 050 B06 2055 87
25100 2B000O 37-13 220 bOB8 100 25212 4A010 050 8071730 87
25100 2B700 37-13 220 8012 100 25212 4A0MN 050 BO7 2250 88
25100 2X100 28-13 220 0004 101 25212 4A100 050 B@7 2271 88
25100 2X200 28-13 220 0006 101 25212 4A400 050 BO7 2250 88
25100 2X400 28-13 220 0006 101 25212 4A401 050 BO7 2250 88
25100 2X401 28-13 220 0006 101 25500 27000 37-28 228 B00B5 96

www.meyle.com
1888

193




Index

Ref. no. — MEYLE no.

MEYLE

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia

25500 35530 37-28 228 0004 97 31910 2HOOO 37-14 323 0002 m
25500 35531 37-28 228 004 97 31911 34000 30-14 323 B0OB6 ne
25500 37200 37-28 228 0004 97 31922 26910 37-14 323 0007 ne
25510 42100 37-28 228 0001 97 31922 2B900 37-14 323 0001 ne
26300 02501 37-14 322 0009 15 31922-2E900 28-14 323 D@01 n3
26300 B2502 37-14 322 009 N5 31922 3A850 28-14 323 0001 n3
26300 2Y500 28-14 322 005 15 36710 27000 37-14 860 B0OBO 72
26300 35502 35-14 322 Bv02 ng 36710 2A100 37-14 860 BOG1 73
26300 35503 35-14 322 002 k] 36710 2A700 37-14 860 BOB6 73
26300-42040 28-14 322 002 n4 36710 2F000 37-14 860 BOBS 74
26310 2A510 28-14 322 0004 n7 36710 2F100 37-14 860 bOB4 74
26310 4A000 37-14 322 0001 16 36710 42000 37-14 860 BOB2 75
26320 27001 37-14 322 6003 16 36710 42010 37-14 860 BOG@2 75
26320 27400 37-14 322 B0B2 16 36710 42020 37-14 860 BOG@2 75
26320 2AD02 28-14 322 0000 n7 36710 42021 37-14 860 BO@2 75
26320 2A300 28-14 322 0000 n7 36710 42060 37-14 860 BOG@2 75
26320 2A500 28-14 322 0004 n7 36710 42500 32-14 860 bEDO 75
26320 2F000 28-14 322 0003 n7 36710 42510 37-14 860 BOG@2 75
26320 2F010 28-14 322 8003 17 36710 42550 37-14 860 B2 75
26320 3C300 28-14 322 0000 n7 36710 4A000 28-14 860 BOVO 76
26320 3F100 28-14 322 0004 17 36710 4A100 28-14 860 0BVO 76
26330 3C300 28-14 322 0004 n7 49500 07010 28-14 498 0003 70
26330-4A000 28-14 322 002 n4 49500 07060 28-14 498 0003 70
26330 4X000 28-14 322 0v02 na 4959107010 28-14 498 00B3 70
28113 84000 28-12 321 0014 105 4959107091 28-14 498 B00@3 70
28113 87100 28-12 321 0000 104 51712 07500 28-15 5210009 17
28113 16100 28-12 321 0008 105 51712 07700 28-15 5210010 18
28113 1Joo0 37-12 321 0024 107 51712 BUBLG 37-155210037/PD0 18
28113 1P 37-12 321 0024 107 51712 0ZB0B 37-15 521 0030 19
28113 1R100 28-12 3210013 105 51712-0Z000 37-1552100308/P0 | 19
28113 1Y100 28-12 321 0014 105 51712 10100 37-15 521 0029 20,23
28113 26000 37-12 321 001 106 37-1552100829/PD

28113 20000 37-12 3210019 106 51712 1F000 37-15 5210029 20
28113 2F000 37-12 3210019 106 51712 1G000 37-15 5210031 20
28113 2F250 37-12 321 0000 106 51712-1G000 37-1552108031/PD 21
28113 26300 28-12 321 0009 107 51712 1HORO 28-15 52108022 21-22
28113 2HB 00 28-12 321 0010 187 28-15 521 6022/PD

28113 2Ko00 37-12 321 0024 107 51712 1H100 28-15 5210022 21-22
28113 2P100 37-12 321 8031 128 28-15 521 6022/PD

28113 2P300 37-12 321 0030 128 51712 1TMB00O 28-15 521 0022 21-22
28113 25000 37-12 321 0825 108 28-15 521 6022/PD

28113 32510 37-12 3210018 109 51712 1W050 28-15 521 0023/PD | 22
28113 3E0DD 28-12 321 6005 109 51712 1\W200 37-15 521 0037/PD 18
28113 40000 28-12 321 801 109 51712 2C000 37-15 5210029 20,23
31300 3E200 28-14 323 0005 ne 37-155210029/PD

31390 H1000 35-14 323 0001 m 51712 2F100 28-15 521 6006 23

194

www.meyle.com
1888




d MEYLE

Ref. no. — MEYLE no.

Index

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia
51712 2K100 28-15 5210022 21-22 54420 3E002 28-16 050 0007 140
28-15 521 0022/PD 54500 07100 28-16 050 DB20 141
51712-2L500 37-15 521 8032 24 54500 07200 28-16 050 0020 141
37-15 521 8@32/PD 54500 07250 28-16 050 D@20 141
51712 2P700 37-155210035/PD | 25 54500 bJDOO 37-16 B50 BB47 141
51712 27100 37-15 521 0036/PD | 25 54500 1EQBO 37-16 B50 BB47 141
51712 2W700 37-155210035/PD | 25 54500 2HDOO 37-16 D50 BB45 142
51712 3C000 37-15 5210014 26 54500 2H100 37-16 050 BB45 142
51712 3C100 37-15 5210014 26 54500 FDoLO 28-16 050 D@13 142
51712 3EQDO@ 37-15 5210034 26 5450107100 28-16 050 D@21 143
51712 3KB50 37-15 5210029 20, 23 5450107200 28-16 @50 D@21 143
37-15 521 0029/PD 5450107250 28-16 850 D@21 143
51712 40200 28-15 521 0024/P0 | 27 54501 0J000 37-16 B50 0048 143
51712-A6000 37-15 5210839 27-28 54501 1E000 37-16 B50 B048 143
37-155210039/PD 54501 2HBDG 37-16 B50 046 144
51712 FD300@ 28-15 521 0014 28 54501 2H100 37-16 B50 BB46 144
51720 02000 37-14 650 0001 175 54501 FDOGO 28-16 @50 D@12 144
37-14 650 B2 54503 22A00 37-16 010 BBBD2 136
51720 000G 37-14 650 BOB7 175 54503 25A00 37-16 010 BE@2 136
51720 2HB0O 37-14 650 BBO7 175 54503 2BABO 37-16 010 BB 136
51720 2K000 37-14 650 BOB7 175 54503 31600 37-16 010 BB@2 136
51720 38110 37-14 650 004 176 54510 3E0DO 28-16 050 D@08 145
51750-2B010 37-14 652 0002 177 54510 3E@D1 28-16 050 D@08 145
51750-3J000 37-14 652 BOB2 177 54510 3E@D2 28-16 B850 be08 145
51760-00000 37-16 010 D@19 135 54520 3E0DOD 28-16 850 b9 145
51760 1G0BO 37-16 010 D@20 134 54520 3EB01 28-16 850 D@29 145
51760 1G@01 37-16 010 0B20 134 54520 3EBD2 28-16 B850 b9 145
51760 2EQBO 37-16 010 0BD4 135 54530 07000 28-16 010 boBO 136
51760 2G000B 37-16 010 D@19 135 54530 2B0D0OO 37-16 010 BB 136
51760 2HDOO 37-16 010 D@19 135 54530 2FO00 37-16 010 bB@D2 136
51760 38000 37-16 010 B9 135 54530 27010 37-16 010 0B26 137
51761 38A00 37-16 010 0B 135 54530 31600 37-16 010 bBOD2 136
51770-2E@10 37-16 010 B4 135 54530 3B000O 37-16 010 BB 136
52730-2G200 37-14 752 001N 178 54530 3J000 28-16 010 BOO1 137
52730 2HDREO 37-14 752 0008 178 54530 35000 37-16 010 @27 137
52730-35200 37-14 752 0010 178 54530 35100 37-16 010 D@26 137
52750 16000 37-14 752 b0B2 179 54530 40000 28-16 010 0@01 137
52750 16001 37-14 752 BBO2 179 54551 1E000 37-14 610 D@18 146
52750 16100 37-14 752 0001 179 54551 2H000 37-14 610 BD16 146
5275016101 37-14 752 0001 179 54551 2K000 37-14 610 0@18 146
52750 2B100 37-14 752 bLB@7 179 54570 3E00OD 28-16 010 BOBS 138
54410 3E0OB 28-16 050 b6 140 54570 3E001 28-16 010 BOBS 138
54410 3E001 28-16 B850 b6 140 54570 3E100 28-16 010 BOBS 138
54410 3EBO2 28-16 050 b6 140 54580 3E001 28-14 610 bOBO 147
54420 3EDBO 28-16 050 be07 140 54580 3EBOD2 28-14 610 BoB2 147
54420 3E001 28-16 050 boO7 140 54584 07000 28-14 610 bOB4 147

www.meyle.com
1888

195




Index

Ref. no. — MEYLE no.

MEYLE

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia
54584 1G000 37-14 610 8017 148 54830 2F000 28-16 060 BO17/HD | 160
54584 2B0O0G0O 37-14 610 BB 148 54830 2G000O 28-16 060 OB 160
54584 2E00D 37-14 610 B0O6 148 54830 2HBOO 28-16 060 0028 161
54584 2Fo00 37-14 610 D@26 148 54830 2HDG1 28-16 060 bO28 161
54584 2HLDO 37-14 610 BB 148 54830 2H100 28-16 060 bO28 161
54584 25000 37-14 610 0@27 149 54830 2H200 28-16 060 bB28 161
54584 38100 37-14 610 BB 148 54830 25200 37-16 @60 B@41/HD | 161
54590 3E00BD 28-14 610 BOO1 149 54830 38100 28-16 060 D@12 161
54612-2C-000 214 770 bB01 174 54830 38110 28-16 060 B@12 161
54650 07100 28-26 623 0005 170 54830-3W300 37-16 060 BB41/HD | 161
54650 07200 28-26 623 0005 170 54830 40000 28-16 D60 BOB4 162
54650 1G200 37-26 623 D@14 170 54830 FDOBO 28-16 060 bB08 162
54650 1G400 37-26 623 D@14 170 54840 7000 28-16 B60 BO25/HD | 162-163
54651 1HO00O 28-26 623 0008 171 28-16 060 D@36
54651 1H100 28-26 623 0008 171 54840 1EDBO 37-16 060 BB34/HD | 163
54651 2E201 37-26 623 D@13 171 54840 1E100 37-16 060 BB34/HD | 163
54651 2E500 37-26 623 D@12 171-172 5484016000 37-16 060 BB34/HD | 163
37-26 623 8013 54840 16500 37-16 @60 B@34/HD | 163
54660 07100 28-26 623 0004 171 54840 1J000 37-16 060 D40 163
54660 07200 28-26 623 D004 171 54840 2B0B0O 37-16 @60 B@31/HD | 164
54660 16200 37-26 623 D@15 172 54840 2B200 37-16 6@ B@31/HD | 164
54660 1G400 37-26 623 8015 172 54840 2F000 28-16 060 B@18/HD | 164
54661 1HOLO 28-26 623 0009 172 54840 4D00O0 28-16 060 DBBS 165
54661 1H100 28-26 623 0009 172 55130-4D000 37-14 711 b@02 150
54661 2E201 37-26 623 D@12 172 55250 1THBDO 28-16 050 @38 146
54661 2E500 37-26 623 @12 171-172 55250 2HBLO 28-16 050 @38 146
37-26 623 0013 55300 1Y100 28-26 725 B0@2 173
54718 43001 37-16 D60 BD48 155 55300 1Y200 28-26 725 Bo0@2 173
54810 3EVOB 28-16 060 0013 155 55310 07100 28-26 725 B0@2 173
54811 3E010 28-16 060 BB22/HD | 156 55310 07200 28-26 725 0002 173
54811 3EDBD 28-16 060 B@11/HD | 156 55310 1HOBD 37-26 725 0B@7 173
54811 3E110 28-16 060 BB22/HD | 156 55310 1HoB3 37-26 725 0B@7 173
54811 3E160 28-16 060 BO11/HD | 156 55310 1H100 37-26 725 0B@7 173
54813 2HOVO 37-14 615 0001 150 55310 1H102 37-26 725 0B@7 173
54820 FDORO 28-16 060 bBO7 157 55310 1H200 37-26 725 0B@7 173
54830 07000 28-16 B60 BB23/HD | 157 55310 1H201 37-26 725 0B@7 173
28-16 060 BB35 55310 1H202 37-26 725 0B@7 173
54830-1E000 37-16 860 DB36/HD | 159 5531110400 37-26 725 00B7 173
54830-1E100 37-16 B60@ B@36/HO | 159 55311 1HLOGO 37-26 725 0B0O7 173
54830 1FO00 37-16 060 DB28/HD | 158 55311 1H100 37-26 725 00B7 173
37-16 B6B BO57 55311 1H200 37-26 725 0@7 173
54830 1G0LO 37-16 060 BB36/HD | 159 55311 1H500 37-26 725 0B@7 173
54830 1G500 37-16 B60@ B@36/HO | 159 55311 1H600 37-26 725 0B@7 173
54830 1J000 37-16 060 BO39 159 55311 2L000 37-26 725 0B@7 173
54830 2B0OGO 37-16 060 BB32/HD | 159 55311 2L100 37-26 725 0@7 173
54830 2B200 37-16 060 BB32/HD | 159 553112L200 37-26 725 0B@7 173

196

www.meyle.com
1888




d MEYLE

Ref. no. — MEYLE no.

Index

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia
55311 2L600 37-26 725 00@7 173 56820 2P0 37-16 020 BO19 128
55311 2R200 37-26 725 0007 173 56820 2P900 37-16 020 BO18 127
55326 07100 28-14 742 D000 170 56820 38000 37-16 020 BO9 131
55351 2E202 37-26 723 8002 174 56820 3E00D 28-16 020 0BLO 131
55351 2E501 37-26 723 0B0O2 173-174 56820 3E900 28-16 020 D01 131
37-26 723 003 56820 M2000 37-16 020 BG3 132
55361 2E201 37-26 723 0B0D3 173 5717082710 050 B4 0750 88
55361 2E501 37-26 723 bB0D2 173-174 57170 38010 050 BB5 1393 89
37-26 723 0B0O3 57170 39000 050 BOS5 D905 89
55513-2B200 37-14 715 00O 150 571814A000 050 B0D4 1063 94
55513-3N100 37-14 615 BOB5 151 57224 2D020 37-16 8310005 123
55513-3N200 37-14 615 b0G@8 151 57724 07000 28-16 831 0@26/HO | 122
55513-3N300 37-14 615 B0BS 151 57724 07100 28-16 @831 0026/HO | 122
55530 17000 28-16 060 B@15/HD | 165 57724-1E000D 37-16 8310002 124
5553017010 28-16 060 B@15/HD | 165 57724 2D000 37-16 8310005 123
55530-1F000 37-16 B60 B@10/HD | 165-166 57724 2EQ00O 37-16 031 0001 123
37-16 B60 BB53 57724 38010 37-16 0310000 123
55530 1HEOO 28-16 060 D@29 166 57724 3C010 37-16 031 0000 123
55530 1H100 28-16 060 BB29 166 57728-25000 37-14 620 BBB2 120
55530 2B000 37-16 BB B@33/HD | 166 57731 3E010 28-16 031 0025/HD | 124
55530 2B200 37-16 860 BB33/HD | 166 57732 3ED10 28-16 031 0025/HD | 124
55530 2HDOO 28-16 060 BB29 166 57740-2K010 37-14 620 0001 120
55530 25100 37-16 D60 BB42 167 57740-38000 614 620 0BO7 120
55530 25200 37-16 B60 BO42 167 57780 38010 37-16 020 0010 132
55543 2HB0O 37-14 711 0000 149 58101 07A00 025 242 7516/W 49
55580 3E000 28-16 060 BO@2/HD | 167 58101 07A10 025 242 7516/W 49
55580 3EB50 28-16 060 BO@3/HD | 167 58101 07A20 025 242 7516/W 49
565400U500 28-16 @31 0022 121 58101 1DEGD 025 245 0116/PD 49-50
56540 2HDBO 28-16 @31 001 122 025 245 0116/W
28-16 031 0024/HD 58101 1GEBO 025 2431717/W 50
56820 07000 28-16 020 b9 126 58101 1PABOD 025 2518419/W 50
56820 1EQOO 37-16 020 BB22 126 581011-WABS 025 253 4818 B2
56820 1E900 37-16 020 0023 127 581011-WA35 025 253 4818 B2
56820 1GO0VO 37-16 20 BB23 127 581011YAQD 025 253 6516 51
56820 1GS00 37-16 020 BB22 126 581011YA30 025 253 6516 51
56820 28500 37-16 020 BOB1 127 58101 2FA10 025 2421817/W 51
56820 2B0OO 37-16 020 0018 127 58101 2FA20 025 242 1817/W 51
56820 2BS00 37-16 020 BO19 128 58101 2KA10 025 238 9116/PD 52-53
56820 2E0DO 37-16 20 VOB 128 025 238 9116/W
56820 2E900 37-16 020 BBOS 128 581012PA70 025 243 5117/W 52
56820 2G0O0 28-16 020 0?18 129 58101 2SA70 025 245 0116/PD 49-50
56820 26900 28-16 020 @19 129 025 245 0116/W
56820 2HBLO 28-16 020 0010 129 58101-2VABD 025 256 9218 52
56820 2HB9O 28-16 020 BO1N 130 58101 3CA20 025 238 9116/PD 52-53
56820 2K 37-16 020 0014 130 025 238 9116/W
56820 2K050 37-16 020 BB15 130 58101 3CAB0 025 238 9116/PD 52-53

www.meyle.com
1888

197



Index

Ref. no. — MEYLE no.

MEYLE

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia
@25 238 9116/W 58350 1GARD 37-14 533 BBO6 66
58101 3EEDD 025 240 9217/W 53 58350 THADD 28-14 533 0000 66
58101 3EED1 025 240 9217/W 53 58350 2EABD 37-14 533 008 67-68
58101 4DEDB @25 245 9717/W 54 37-14 533 0014
5810140U00 025 243 5117/W 52 58350 3CA1@ 37-14 533 0018 68
581014-LABD 025 253 4818 62 58350 3EDOO 37-14 533 @15 68
58101-ABABD 025 256 9218 52 58411 07000 28-15 523 0018 64
58101 M2AB2 025 217 2517/W 54 58411 07300 37-15 523 8014 29
58101 M2AB4 025 217 2517/W 54 58411 07500 37-15 523 8014 29
58115 FDADD 025 238 7316/W 54 58411-0U300 28-15 523 00@9/PD | 29
58115 FOCBO 025 238 7316/W 54 584111C800 37-15 523 0029 30
58302 07A00 025 242 7614/W 55 37-15 523 B029/PD
58302 B7A10 025 242 7614/W 55 5841110000 28-15 523 0011 31
58302 0ZABOD 025 243 2015/PD 55-56 28-15 523 00@11/PD
025 243 2015/W 58411-1G300 37-15 523 0029 30
58302 1DEOB 025 244 9116/W 56 37-15 523 B@29/PD
58302 1FEQD 025 235 4314/PD 58-59 58411 1H100 28-15 523 0010 32
025 235 4314/W 28-15 523 0010/PD
58302 1GADB @25 243 2015/PD 55-56 58411 1H300 28-15 523 0010 32
025 243 2015/W 28-15 523 0010/PD
58302 THAD® @25 243 2015/PD 55-56 584111P300 37-15 523 0@31 33
025 243 2015/W 58411-1P300 37-15 523 @@31/PD | 33
58302 1PA30 025 234 1715/PD 56-57 58411 2F100 28-15 523 0003 34
025 234 1715/W 58411 2K300 28-15 523 0005 34
58302 1RA30 025 249 3415/W 60 58411 2P000 37-15 523 8032 35
58302 TWA35 025 249 3415/W 60 37-15 523 8032/PD
5830@2-1YAS0 025 256 7716 57 584112Y300 37-15 523 8027 38
58302 2FA10 025 215 5314/W 58 37-15 523 8027/PDO
58302 2GABO 025 235 4314/PD 58-59 58411 39300 37-15 523 0028 36
@025 235 4314/W 37-15 523 6028/PD
58302 2KA10 025 249 3415/W 60 58411 39600 37-15523 8033 37
58302 2TA70 025 249 3415/W 60 37-15 523 8@33/PD
58302 38A10 025 235 4314/PD 58-59 58411 3A300 37-15 523 8027 38
025 235 4314/W 37-15 523 8@27/PD
5830@2 3CA10 025 235 4314/PD 58-59 58411 3E300 37-15 523 0030 39
025 235 4314/W 37-15 523 6@30/PD
58302 3EDVO @25 240 5815/W 59 58411 3E500 28-15 523 0012 40
58302 3EDG1 025 240 5815/W 59 58411 3K100 37-15 523 0016 40
58302 3EEDD 025 240 5815/W 59 58411 35100 37-15 523 B@36/PD | 41
58302 3FAT 025 249 3415/W 60 5841140000 28-15 523 B013/PD | 41
58302 4DEQD @25 245 5915/W 60 58411-A6200 37-15 523 06038 42
5830@2-ABA20 @025 253 3715/W 61 37-15 523 B@38/PD
58305 1GABD 37-14 533 0007 65 58411 M2850 32-15 523 0010 43
58305 2KABOD 37-14 533 0005 65 58732 FD100 28-14 525 0000 69
58315 FOADB 36-14 533 @015 66 81181 3E00OBD 28-40 910 b9 1
58315 FDAD1 36-14 533 @015 66 81181 3EBO1 28-40 910 b9 1

198

www.meyle.com
1888




d MEYLE

Index

Ref. no. — MEYLE no.

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Kia Kia
81181 3E010 28-40 910 0009 1 K@BAZ2 33287 025 216 5415/PD B1
81181 3E0M 28-40 910 BLOY 1 025 216 5415/W
81770 07000 28-40 910 8012 2 K2C56 152XA 28-12 319 BOOB/S 8
81770 1G00G 28-40 910 B015 2 K4672 3570 35-14 323 0001 m
81770 1H510 28-40 910 007 3 K5511 4302 28-14 322 bv02 4
81771 3E0TM 28-40 910 66N 3 K5533 3237B 025 218 2217 47
81771 3E020 28-40 910 06N 3 K5536 1C14 28-12 319 bB02 9
81780 07000 28-40 910 @12 2 K9821 1201 28-16 020 b9 126
81780 1G0G 28-40 910 0@15 2 K9A42 2510 28-14 498 004 71
81780 1H510 28-40 910 bB@7 3 KA842 2510 28-14 498 004 71
81781 3E@N 28-40 910 06N 3 KDX50 32240 28-16 @31 0023/HD | 124
81781 3E020 28-40 910 06N 3 KDX50 32240A 28-16 @31 0023/HD | 124
87170 3EQDD 28-40 910 boB8 1 KDX50 322408 28-16 @31 0023/HD | 124
87170 3E010 28-40 910 B8 1 KDX53 32240 28-16 @31 0@023/HD | 124
87180 3EQ0D 28-40 910 B8 1 KDX53 322408 28-16 @31 0023/HD | 124
87180 3EQ10 28-40 910 b@B8 1 KDX74 33251 28-15 521 0000 43
89315 67500 32-14 322 bBD6 n8 KE5SD3 15171 35-28 228 0000 96
90916 2367 050 D@5 B9BS 89 KGA2A 33047 35-14 650 VOVO 176
97133 07000 37-12 319 0008 9 KGA2A 34150 35-16 060 BBO2 168
97133-07010 37-12 319 bo@8 9 KGA2A 34150A 35-16 060 D@2 168
97133 BX900 37-12 319 bo@8 9 KGA2A 341508 35-16 060 BBO2 168
97133 0Z000 28-12 318 B9 10 KGA2A 34170 35-16 060 DOO1 168
97133 1THOLO 37-12 319 0009 10 KGA2A 34170A 35-16 060 DOO1 168
37-12 320 oY KGA2A 3417@8B 35-16 060 D@O1 168
97133 1P0GO 28-12 319 bB05 n KJBd@2 33251C 28-15 521 0002 44
97133-2B010 37-12 319 BN n KJB@2 332510 28-15 521 0002 44
97133 2E200 37-12 320 0010 n KK140 15909 050 B4 @925 92
97133 2E910 37-12 319 B@12/S 12 KK150 33047 35-14 013 3047/S 177
97133 2F000 28-12 319 0001 12 KK150 33237 025 213 5514/W B2
97133 2F010 28-12 319 6001 12 KK150 33282 025 213 5514/W B2
97133 2Kooo 28-12 319 0004 13 KK37115809 050 04 0900 92
97133 3K000 37-12 319 00N 1,13 KK388 22510 28-14 498 0000 71
37-12 320 801N KK388 22610 28-14 498 0000 71
97619 3C100 37-12 318 B2 13 M25100 4AD00 28-13 220 0001 103
9771302000 D50 B4 BB75 89 MB0B@1 33@65A 35-14 013 3047/S 177
9771311200 050 b4 0815 a1 MB@92 33067 35-14 013 3047/S 177
977131C200 D50 B4 0815 91 MB366 15907 050 D04 08390 92
97713 26300 050 BO6 1195 90 MB3B6615907A 050 b04 0890 92
9771320510 050 D@4 8855 a0 MB376 15807 050 004 08B0D a1
99997 07010 37-12 319 bo@2 13 MDA189 33237 025 213 5514/W 62
B3C715809C 050 B4 0962 93 MDX50 32280 28-16 020 b9 126
B3C718381B 050 B4 0875 90 MDX74 33251 28-15 521 0000 43
BBY1143B2A8A 35-14 322 0000 ns 0K20133047 35-14 553 3047 177
D@BY 33042 35-14 013 3047/S 177 OK21A18381 050 b0o4 0884 91
F4BZ3 A130A 28-16 020 b9 126 OK30C 15010A 28-13 220 004 101
K@111 3240 28-12 0111340 104 OK552 236@3A 28-12 321 6006 104

www.meyle.com
1888

1899




Index

Ref. no. — MEYLE no.

MEYLE

Ref. no. MEYLE no. Page
Kia
OK9AB 15987 050 006 2013 80
P8790 1F200 37-12 319 0010 14
P8790 2F000 28-12 319 0001 12
P8790 2F0OBA 28-12 319 0001 12
RF032 3802A 35-14 322 6002 19
RF032 3802B 35-14 322 6002 19
RF9515010 35-13 220 0001 103
200

www.meyle.com
1888



d MEY LE SUNN 1, EX

Short no. MEYLE no. Page Short no. MEYLE no. Page
Kia Kia

37-14 615 00038 150-151 MBD1046 37-15 5210014 26

37-14 715 0000 150-151 MBD1@67 37-15 523 6014 29
MAF®@306 28-12 0111340 104 MBD1069 37-15 523 0016 40
MAFB30@7 28-12 321 0000 104 MBD1643PD 28-15 523 0009/PD | 29
MAF@312 28-12 321 8005 109 MBD1846PD 28-15 521 6021/PD 15
MAFB313 28-12 321 6006 104 MBD1847 28-15 521 0022 21
MAF@315 28-12 321 06008 105 MBD1847PD 28-15 521 0022/P0 | 22
MAFB316 28-12 321 06009 a7 MBD1848PD 28-155210023/P0 | 22
MAF@317 28-12 321 0010 a7 MBD1848PD 28-15 521 0024/P0 | 27
MAF@318 28-12 321 801 109 MBD1851 28-15 523 0010 32
MAF0320 28-12 3210013 105 MBD1851PD 28-15 523 0@10/PD | 32
MAF@321 28-12 321 0014 105 MBD1852 28-15 523 001 31
MAF@B504 37-12 321 0000 106 MBD1852PD 28-15 523 B@11/PD 31
MAFB515 37-12 321 001 106 MBD1853 28-15 523 0212 40
MAF@521 37-12 321 0018 109 MBD1854PD 28-15 523 0013/PD | 41
MAFB522 37-12 321 0019 106 MBD1984 37-15 5210029 20
MAF@527 37-12 321 0024 a7 MBD1984PD 37-15 521 0@29/PD | 23
MAFB528 37-12 3210025 108 MBD1985 37-15 5210030 19
MAF®@533 37-12 3210030 108 MBD1985PD 37-15 521 003@/PD | 19
MAFB534 37-12 321 0831 108 MBD1986 37-15 5210031 20
MAMBB25 37-14 711 0000 149 MBD1986PD 37-155210031/PD | 21
MAR®151 28-16 030 DO?1 121 MBD1987 37-15 5210832 24
MAR®155 28-16 0310010 121 MBD1987PD 37-15 521 0032/PD | 24
MARB156 28-16 @31 00N 122 MBD1988 37-15 5210034 26
MARB263 37-16 31 00O 123 MBD1980PD 37-15 521 0@35/PD | 25
MARB264 37-16 B31 0001 123 MBD1991PD 37-155210036/PD | 25
MARB265 37-16 B3100B2 124 MBD1992PD 37-155210037/P0 | 18
MARB267 37-16 310005 123 MBD1994 37-15 523 8027 38
MARB377 28-16 @31 0022 121 MBD1984PD 37-15523 8@27/P0 | 38
MARB510HD 28-16 031 0023/HD | 124 MBD1985 37-15 523 B028 36
MARBG511HD 28-16 031 @@24/HD | 122 MBD1985PD 37-15 523 0028/PD | 36
MARB@512HD 28-16 031 0025/HD | 124 MBD19896 37-15 523 8029 30
MARB513HD 28-16 031 @@26/HD | 122 MBD19896PD 37-15 523 @@29/PD | 30
MBDB428 28-15 521 0000 43 MBD1997 37-15523 0030 39
MBDB430 28-15 521 0002 44 MBD18997PD 37-15 523 @@30@/PD | 39
MBDB433 28-15 521 0006 23 MBD1998 37-15 523 8031 33
MBD0436 28-15 521 0009 17 MBD1998PD 37-15 523 0@31/PD | 33
MBDB437 28-15 5210010 18 MBD1999 37-15 523 8032 35
MBD0438 28-15 521 0012 16 MBD1999PD 37-15 523 B@32/PD | 35
MBDB439 28-15 5210013 15 MBD2000 37-15 523 8033 37
MBDB440 28-15 521 0014 28 MBD200BPD 37-15 523 @@33/PD | 37
MBDB441 28-15 52108015 16 MBD208@3PD 37-15523 8B36/PD | 41
MBDB445 28-15 523 0002 17 MBD2118 37-15 5210839 27
MBDB446 28-15 523 0803 34 MBD2118PD 37-155210039/PD | 28
MBDB447 28-15 523 005 34 MBD2119 37-15 523 8038 42
MBD@851 32-15 523 0010 43 MBD2119PD 37-15523 0038/PD | 42

www.meyle.com 201
1888



Index

Short no. = MEYLE no.

MEYLE

Short no. MEYLE no. Page Short no. MEYLE no. Page
Kia Kia
MBH®@295 28-14 525 0000 69 MBP@466 @25 238 9116/W 53
MBJ@140 28-16 010 bV 136 MBPB486 @25 239 6617/W 486
MBJB141 28-16 010 001 137 MBP®@513 @25 240 5815/W 59
MBJ@142 28-16 010 boB2 133 MBPB522 025 240 9217/W 53
MBJ@143 28-16 010 b3 134 MBPB541 025 242 1817/W 51
MBJ@144 28-16 010 BOBS 138 MBPB551 025 242 7516/W 49
MBJ®@145 28-16 010 boB7 133 MBP@552 025 242 7614/W 55
MBJ@205 35-16 010 BOO1 133 MBP@569 025 2431717/W 50
MBJB207 35-16 010 B@18 134 MBP@570 025 243 2015/W 56
MBJ@231 37-16 010 B2 136 MBP@582 025 243 5117/W 52
MBJB232 37-16 010 B4 135 MBPOB08 025 244 9116/W 56
MBJ@234 37-16 010 BB 136 MBPBB11 025 245 0116/W 50
MBJB235 37-16 010 @S 135 MBPOB26 025 245 5915/W 60
MBJ@239 37-16 010 B@19 135 MBPOB36 025 245 9717/W 54
MBJB240 37-16 010 020 134 MBPBEB81 025 249 3415/W 60
MBJB31 37-16 010 BB27 137 MBPBEB95 025 251 8419/W 50
MBJB337 37-16 010 BB26 137 MBP@702 @25 253 3715/W B1
MBLOOQO4 029 300 1211 3 MBP@770PD @25 216 5415/PD 61
MBLOOGB 029 3001213 4 MBP@791PD 025 234 1715/PD 56
MBLB®@13 029 3501400 4 MBP@BBSPD @025 239 6617/PD 48
MBLBO17 029 350 1413 4 MBP1575 025 253 4818 62
MBLOB21 029 400 1600 5 MBP1584PD 025 235 4314/PD 58
MBLBB27 029 450 1800 5] MBP159@PD @25 238 9116/PD 52
MBLOB28 029 4751900 B MBP1593PD 025 243 2015/PD 55
MBLB0O29 029 500 2000 5] MBP1594PD @25 245 0116/PD 49
MBLOB30 029 530 2100 7 MBP1616 025 256 9218 52
MBLBB32 029 550 2200 7 MBP1722 025 253 6516 51
MBLOB34 029 600 2400 8 MBP1728 025 256 7716 57
MBLBO36 029 650 2600 8 MBS0DBE6 28-14 533 0000 66
MBLOB52 029 350 1417 5 MBSDBE8 28-14 533 0003 64
MBLB0O81 029 380 1514 5 MBSDBE9I 28-14 533 0004 64
MBPDB@0O1 025 200 B215/W 48 MBSB132 36-14 533 8015 66
MBPBB35 025 207 5318 45 MBS@139 37-14 533 D@05 65
MBPO114 025 213 5514/W 62 MBS0140 37-14 533 D06 66
MBP@156 025 215 5314/W 58 MBSB141 37-14 533 0007 B5
MBP@175 025 216 5415/W B1 MBS@142 37-14 533 0008 67
MBP@190 @25 217 2517/W 54 MBS@142 37-14 533 0008 67
MBPQ198 025 218 2217 47 MBS@157 44-14 533 0002 65
MBPB263 @25 2310315 45 MBX0010 014 698 BDO6 63
MBPB331 @25 233 8418/W 47 MBX0011 014 698 BBOB/S 63
MBP@341 025 234 1715/W 57 MCAB342 28-16 050 VOB6 140
MBPB347 025 234 4215/W 44 MCAB343 28-16 050 boB7 140
MBP@354 @25 234 5513/W 48 MCAB344 28-16 050 VB8 145
MBPB377 @025 235 4314/W 59 MCAB345 28-16 050 OB 145
MBP@410 025 236 4916/W 48 MCAB346 28-16 050 VD10 138
MBPB463 025 238 7316/W 54 MCAB347 28-16 050 BON 139
202

www.meyle.com
1888




d MEY LE SUNN 1, EX

Short no. MEYLE no. Page Short no. MEYLE no. Page
Kia Kia

MCAB348 28-16 050 B@12 144 MEX0451 614 899 0017 76
MCAB349 28-16 050 D@13 142 MFF0O@B69 11-14 323 0001 e
MCAB350 28-16 050 BO16 139 MFF@114 28-14 323 0001 13
MCAB351 28-16 @50 D@17 139 MFF@118 28-14 323 005 e
MCA@352 28-16 050 be20 141 MFF@127 30-14 323 006 ne
MCAB@353 28-16 050 D@21 143 MFF0170 35-14 323 0001 m
MCAB354 28-16 B850 D@24 138 MFF@182 37-14 323 0001 e
MCAB@355 28-16 050 D@38 146 MFF@183 37-14 323 B0B2 m
MCABB34 37-16 B50 BB45 142 MFFQ188 37-14 323 B0B7 ne
MCABB35 37-16 B50 046 144 MFF@0198 42-14 323 8001 m
MCABB36 37-16 B50 BB47 141 MFF@217 714 323 B0@2 e
MCA@B37 37-16 B50 0048 143 MGPOB41 28-14 860 DD 76
MCB@188 28-14 610 bOBO 147 MGPBB54 32-14 860 VOV 75
MCB@189 28-14 610 BoB@2 147 MGPROBGB4 37-14 860 0000 72
MCB@255 37-14 610 BB 148 MGPBBBS 37-14 860 0001 73
MCB@258 37-14 610 D@16 146 MGP@B94 714 860 DBD3 72
MCB@259 37-14 610 B@17 148 MGP@100 37-14 860 B0@2 75
MCB@260 37-14 610 D@18 146 MGPO114 37-14 860 0G4 74
MCB0268 37-14 610 bD26 148 MGPB126 37-14 860 0DODS5 74
MCB@354 37-14 610 b@27 149 MGP@135 37-14 860 B0G6 73
MCBB357 28-14 610 0004 147 MGSB011 28-40 910 008 1
MCF@182 28-12 319 0001 12 MHSB053 28-40 910 b9 1
MCF@183 28-12 319 b@02 9 MHSBB54 28-40 910 0010 1
MCF®@185 28-12 319 0004 13 MMBB0O14 214770 0801 174
MCF@186 28-12 319 b@05 n MMX1640 28-51902 1000 77
MCF@187 28-12 319 BBB6/S 8 MMX1643 37-51802 1000 77
MCF@188 28-12 319 BBB8/S 9 MMX1644 37-51802 1001 77
MCF@189 28-12 319 0009 10 MMX1645 37-51802 2000 78
MCFB323 37-12 318 B2 13 MMX1685 28-51902 1001 78
MCFB329 37-12 319 0008 9 MMX1691 37-51802 3000 78
MCFB330 37-12 319 0009 10 MOFB@89 28-14 322 0000 nz
MCFB331 37-12 319 0010 14 MOF0@390 28-14 322 0801 n4
MCFB332 37-12 319 0@N1 n MOFB@91 28-14 322 002 n4
MCFB333 37-12 319 B@12/S 12 MOFB@92 28-14 322 0003 nz
MCFB@344 37-12 320 b9 10 MOFB@93 28-14 322 0004 n7z
MCFB345 37-12 320 0010 n MOFR@94 28-14 322 0805 15
MCF0346 37-12 320 8011 13 MOF@135 32-14 322 0001 14
MCMBB56 28-14 610 B0@1 149 MOF@139 32-14 322 b6 18
MCM@143 37-14 711 bBB2 150 MOF@149 35-14 322 0000 118
MCVD163 28-14 498 0000 71 MOF®2151 35-14 322 0B02 ng
MCV0D164 28-14 498 0001 70 MOF@162 37-14 322 8001 16
MCVB165 28-14 498 b2 70 MOF@163 37-14 322 B00B2 16
MCV0D166 28-14 498 0003 70 MOF0164 37-14 322 B00B3 16
MCV0167 28-14 498 004 71 MOF@169 37-14 322 B0B3 15
MDRB0O26 28-15 523 0007 B3 MOF@178 614 322 B0BO 13
MDRB@O27 28-15 523 0018 64 MPBOB40@ 37-14 533 0014 67-68

www.meyle.com 203
1888



Index

Short no. = MEYLE no.

MEYLE

Short no. MEYLE no. Page Short no. MEYLE no. Page
Kia Kia
MPBB040@ 37-14 533 0014 67-68 MRBB564 050 V06 2510 81
MPB0@41 37-14 533 @15 68 MRB@569 D50 606 2590 81
MPBB0B42 37-14 533 0018 68 MRB@6B11 050 8071730 87
MRBOB58 D50 B4 BB75 89 MRB@G30 D50 607 2250 88
MRBB0OES 050 004 0750 88 MRB@G632 D50 B@7 2271 88
MRBOB75 050 004 0780 81 MRS0128 28-14 742 0000 170
MRBB0O79 050 004 DBLO 91 MSAD388 37-26 623 0012 172
MRB@OB82 050 004 0815 91 MSAB389 37-26 623 0013 171
MRBB0OS0O 050 B4 855 =17} MSAB380 37-26 623 0014 170
MRB@B93 050 004 0870 79 MSAB391 37-26 623 0015 172
MRBB0O84 050 B4 D875 =17} MSAB389 37-26 723 0002 174
MRB@B96 050 004 0884 91 MSADR400 37-26 723 0003 173
MRBB@O87 050 004 D890 92 MSADBEB19 28-26 623 0004 171
MRB@B99 050 004 D9VOD 92 MSADB20 28-26 623 DBB5 170
MRB@107 050 004 D925 92 MSADB36 28-26 623 0008 171
MRBO114 050 004 D962 93 MSABB37 28-26 623 B9 172
MRB@125 050 004 1020 93 MSADB38 37-26 725 0B@7 173
MRB@130 050 04 1045 79 MSADB44 28-26 725 0002 173
MRB0Q131 050 004 1050 93 MSB@185 37-14 615 0001 150
MRB@133 050 004 1063 94 MSBD499 37-14 615 00B8 151
MRB0O136 050 004 1080 94 MSB@501 37-14 615 BB05 151
MRB@198 D50 005 890 94 MSC0@80 37-14 640 00O 169
MRBB200@ 050 605 B9B5 89 MSCo@81 37-14 740 00O 169
MRB@207 050 005 950 80 MSC0138 28-14 640 oGO 169
MRBB226 050 005 1860 80 MSKB@51 614 620 07 120
MRB@270@ 050 BB5 1393 89 MSK0118 37-14 620 001 120
MRBB283 050 005 1650 83 MSK0@119 37-14 620 B2 120
MRB@291 050 BB5 1788 83 MSLD198 28-16 060 BOB1 160
MRBB333 050 BB6 D955 84 MSL@198H0 28-16 B60 BOO2/HD | 167
MRB@375 050 @06 1185 9o MSLO2080HD 28-16 060 BO@3/HD | 167
MRBB387 050 BB6 1255 84 MSLD201 28-16 D60 BOB4 162
MRB@410 050 006 1400 82 MSLB202 28-16 060 DBBS5 165
MRBB420 050 @06 1510 82 MSLD203 28-16 060 DBB6 152
MRB@421 050 @06 1515 82 MSLD204 28-16 060 DBO7 157
MRBB423 050 006 1530 84 MSLB205 28-16 060 b@O8 162
MRB@429 050 0V6 1570 95 MSLD206 28-16 060 D@9 153
MRB0431 050 006 1580 79 MSL@2087HD 28-16 060 BO11/HD | 156
MRB@452 050 BB6 1705 86 MSLD208 28-16 060 D@12 161
MRBB502 050 Vo6 2000 86 MSLB209 28-16 060 0013 155
MRB@503 050 0v6 2013 80 MSLD210 28-16 060 D@14 154
MRBB@510 050 BB6 2055 87 MSLO211HD 28-16 060G BO15/HD | 165
MRB@519 050 0B6 2125 86 MSLB212HD 28-16 B60@ BO17/HD | 160
MRB®@521 050 0B6 2140 83 MSLB213HD 28-16 060 B@18/HD | 164
MRB@555 050 006 2415 85 MSLB214HD 28-16 B60@ BO19/HD | 155
MRBB560@ 050 006 2475 87 MSLB215 28-16 060 bB20 153
MRB@563 050 006 2498 85 MSLB216HD 28-16 B60@ BO21/HD | 154
204 www.meyle.com
1888




d MEYLE

Short no. = MEYLE no.

Index

Short no. MEYLE no. Page Short no. MEYLE no. Page
Kia Kia

MSLB217HD 28-16 060 B@22/HD | 156 MTED424 37-16 020 0018 127
MSL@218HD 28-16 060 BB23/HD | 157 MTEB425 37-16 20 BL19 128
MSLB219 28-16 060 DB24 152 MTED428 37-16 020 BB22 126
MSL@220HD 28-16 060 BB25/HD | 162 MTEB@429 37-16 020 BB23 127
MSL@221HD 28-16 060 BP26/HD | 154 MTHOB54 28-28 228 002 95
MSL@222 28-16 060 D@27 153 MTHBB@71 37-28 228 0001 97
MSL@223 28-16 060 D@28 161 MTHOB86 28-28 228 0001 95
MSL@224 28-16 060 D@29 166 MTHOB90 37-28 228 004 97
MSL@383 35-16 060 DBO1 168 MTH@OB92 37-28 228 B0B5 96
MSL@384 35-16 060 D@2 168 MTH@101 35-28 228 0000 96
MSL@385 35-16 060 B3 152 MTS@202 28-40 910 bvB@7 3
MSL@436HD 37-16 BB0 B@1G/HD | 165 MTS@203 28-40 910 60N 3
MSL@453HD 37-16 060 BB28/HD | 158 MTS@204 28-40 910 0812 2
MSL@456HD 37-16 060 B@31/HD | 164 MTS@206 28-40 910 0014 2
MSL@457HD 37-16 60 B@32/HD | 159 MTS@207 28-40 910 0815 2
MSL@458HD 37-16 060 BB33/HD | 166 MWBRB01 014 098 BD24 174
MSL@459HD 37-16 D60 B@34/HD | 163 MWH@151 37-14 752 0001 179
MSL@461HD 37-16 BB B@36/HD | 159 MWH@152 37-14 752 002 179
MSLB462 37-16 060 B39 159 MWHB155 37-14 752 b0@7 179
MSL@463 37-16 D60 D40 163 MWHB231 37-14 752 0008 178
MSLB464HD 37-16 860 BB41/HD | 161 MWHB236 37-14 652 0002 177
MSLB465 37-16 D60 BD42 167 MWHB250 37-14 752 0010 178
MSL@587 37-16 D60 BD48 155 MWHB254 37-14 752 001 178
MSL@778 28-16 060 D@35 157 MWHB255 37-14 752 0@12 180
MSL@779 28-16 060 D@36 163 MWK@164 35-14 813 3047/S 177
MSL@862 37-16 b60 BO53 166 MWK@165 35-14 553 3047 177
MSL@866 37-16 B6B BB57 158 MWK@166 35-14 650 VOV 176
MTED258 28-16 020 b0 131 MWK@169 37-14 650 0001 175
MTED@259 28-16 020 BO01 131 MWK@170 37-14 650 B2 175
MTED260 28-16 020 bEO3 126 MWK@213 37-14 650 0004 176
MTED261 28-16 020 b@O7 125 MWK@218 37-14 650 0B@7 175
MTEB262 28-16 020 b8 125 MWPB254 28-13 220 0001 103
MTEDQ263 28-16 020 b9 126 MWP@B257 28-13 220 0004 101
MTED264 28-16 020 @10 129 MWPB258 28-13 220 8005 98
MTEB265 28-16 020 801N 130 MWP@259 28-13 220 0006 101
MTED266 28-16 020 0@18 129 MWPQ260 28-13 220 B@7 103
MTEB267 28-16 020 0019 129 MWP@353 32-13 220 BBBS5 102
MTE@383 35-16 020 VOO 125 MWPQ368 35-13 015 0@01 97
MTED414 37-16 020 BOO1 127 MWPB375 35-13 220 0001 103
MTEB415 37-16 020 003 132 MWPB401 37-13 220 0001 102
MTEB416 37-16 020 OS5 128 MWPR402 37-13 220 o2 102
MTEB417 37-16 020 BB 128 MWPR403 37-13 220 bOB3 98
MTEB419 37-16 0620 BO9 131 MWPR404 37-13 220 b4 99
MTEQ420 37-16 020 0010 132 MWPR405 37-13 220 BOBS 99
MTEQ422 37-16 020 BB14 130 MWPQ406 37-13 220 bOB6 99
MTEQ423 37-16 020 0815 130 MWPR407 37-13 220 b7 100

www.meyle.com
1888

205




Index

Short no. — MEYLE no.

MEYLE

Short no. MEYLE no. Page

Kia

MWPR410 37-13 220 0012 100

MWPB526 37-13 220 0014 g8

MWPB534 37-13 220 B8 100
206

www.meyle.com
1888



MEYLE

You see the pretty
curves, underneath
is what counts.

The MEYLE brand supplies its customers with more than 21,000 extremely reliable and durable
spare parts manufactured at our own production facilities or by trusted production partners.

MEYLE boasts a highly diversified product range.

Whether steering and suspension components, rubber-to-metal parts, brakes, damping components,
cooling systems, filters, drive components, electric and sensors MEYLE is synonymous with top-grade

guality-tested spare parts.

Notes

This catalogue is protected by copyright. Reproduction of text, graphic elements, photographs and/or data, even in part,
is prohibited. MEYLE, MEYLE, or parts thereof, are registered trademarks of MEYLE AG.

All supplies and services are subject to our General Terms and Conditions. The original spare part numbers shown in this
catalogue are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.
While the information in this catalogue was compiled and

edited with utmost care we do not assume responsihility or accept claims arising from errors or inconsistencies. Subject
to technical and/or design changes.

This issue of the catalogue supersedes all previous issues.
All rights reserved. © 2017 MEYLE AG



MEYLE parts are available through:

MEYLE AG
Merkurring 111, 22143 Hamburg, Germany
Tel. +49 40 67506 510, Fax +49 40 67506 506

contact@meyle.com

www.meyle.com

MEYLE




	Kia
	Body/Cabin
	Brakes
	Drive train/Transmission
	Electrics
	Engine/Cooling/Clutch
	Steering
	Suspension

	Index MEYLE no. ➔ Ref. no.
	Index Ref. no. ➔ MEYLE no.
	Index Short no. ➔ MEYLE no.

